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M. B. A. (Semester-1I) Examination, 2012

Information Management in Business
(CP-201)
Time Allowed : Three Hours

Maximum Marks - 70 i

Note : Answer Five questions in all. Question No. 1 is

compulsory. Select or. juestion from each Unit.

1. Read the following case study carefully and answer

the questions that follow :

Dick’s Sporting Goods is a prominent retatler of

sporting apparel and equipment based p?imarily /
in the eastern half of the United States. The -~ ~ |
company was founded in 1948 by Dick Sta_ck,‘ '
who was only 18 years old at the time. Stack’s

business initially sold only fishing supplies, but ' ré

gradually expanded tc¢ sell general s*p:orting {
goods. In the 1990s, under the stewardship of \
Stack’s son Ed, the retailer began rapid growth - - ]




Fa

in an c¢fiort to beceme a national sporting goods
chain. Today, Dick’s operates over 300 stores in
34 states and earns annual revenue of just under
$4 billion. It also owns Golf Galaxy, a golf
speciality retailer. The company planned to add
44 new stores 1 2008 and has maintained a

strong position during difficult economic conditions.

Dick’s has flourished because it focuses on being
an authentic sporting goods retailer by offering a
broad selection of high-quality, competitively
priced brand-name sp%ﬁting goods equipment,
apparel, and footwear that enhances its
customers’ performance and enjoyment of their

sports activities. However, Dick’s has had

* problems managing its inventory and making

‘decisions about how to stock its stores. These

problems stemmed from outdated merchandise
management software and threatened to curtail

Dick’s lofty plans for the future.

The company initially used a merchandising
system from STS as a basic reporting tool. The

system wasn’t well suited to the needs of the

company. It was able to compile sales figures for
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athlet.ic gear and clothing , but it wasn’t able to -

‘analyze how a specific item, such as a Wilson

Tennis n4 racquet, was performing regionally or
in a particular store. Instead, it automatically
aggregated information from all stores and
combined it into a single report. Retrieving data
from the database was a long, inefficient process,
sometimes taking over an hour to'complete, and
wasn’t satisfactory for answering questions

requiring complex analysis.

Because there was no central repository for
company iﬁformation, it was arlso difficult to tell
whether or not a pa'rticﬁlar' repbft was accurate.
There were no standard company-wide sales and
inventory reports. The com_pa'ny lacked a unified

database that all of the c'oinpany’rs employees

could access. Employees kept their own analyses

of sales and invéntory in their-own departments

and on their own machines. Sometimes they lost
their reports because they did-net remember the
names of their~data files. Recognizing the

~ problems, Dick’s attempted to-roll out new tools

i_n‘tended to update the company’s data storage
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and information retrieval processes, But

employees resisted the change, preferring the
mcthods they were used to over new tools from

Cognos, a maker of business intelligence

software.

Dick’s decided to perform a complete overhaul
of their data storage system in 2003. The new
system featured softwarc from MicroStrategy and
a database from Oracle. The database Dick’s
selected was Oracle’s 8ij database with
customized capabilities to extract data and the
ability to transform a meet. different business
requirements. It as .since been upgraded to a
| more advanced 10g model. The new system was
abie to track the sale of apparel and equlpment in

¢ach store and by region.

The new system was launched with a training
program to promote user adoption, so that
employee didn’t persist in using the old system
that they were more accustomed to. Even with
the new training system, employee adoption was
slow, but the company offered incentives to using

the new system and gradually phased out the o]d
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oﬁe. Only when the old system was phased out
completely did adoption of the new system
increase tenfold. Some of the failings of previous
information systems were attributed to lack of
training programs to smooth the difficulties of
adopting new systems, and this time around
Dick’s ensured that the proper programs were in

place.

Tﬁe Microstrategy software was a key element of
Dick’s overhaul. What sets MicroStrategy apart
from eompeting products is its ability to work
with relational databases via relationai online
analytical processing (ROLAP).— Muttidimensional
OLAP uses a multidimensional database for
analysis, whereas ROLAP accesses data directly
from data warchouses. It dynamically
consolidates data. for ad  hoc and decision
support analyses and scales to a large number of

business analysis perspectives (dimensions) while

- MOLAP generally performs efficiently with 10 or

fewer dimensions. The software allows Dick’s
employees to perform detailed analyses to track

sales and inventory levels.
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MicroStrategy allows Dick’s employees to create

different types of reports. For example, ‘canned’

reports are reports with settings frequently used .

by other employees. If an employee needs a
report with commonly requested parameters,
canned reports save workers the time and energy
required to expressly set those parameters. On
the ot.her hand, ‘self-service’ reports have
customized inputs and outputs for instances when
a unique piece of information is sought.
Processes that once took hours now take mere
minutes because of the system’s interaction with
the master database, which consists of multiple

tetrabytes of data.

Recent results suggest that the implementation
has paid of for Dick’s, as their earnings have
doubled since the initiative began and their
' ‘operating margin has been close to double that of
't}i‘eir.COmpet'i:tors going forward. Sales in Q1
2008 were up 11 percent o §912 million, and
although the company hasn’t been immune fo the
difficult economic conditions, the company is

outperforming its cbmpetitors and has its sights

MS-3174
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set on gaining market share during the downturn.

Although the company’s stock pricg has not

reached levels that it was expected to in the past

several years, the company’s future outlook
remains positive, in large part due to their
successful IT implementation.

Questions :

(a) What pr-oblems did the company face with
its data tracking and reporting? How did
they affect decision making and business
performance? 10

(b) What did the company do to remedy those
problems? 10

(¢) Has improved reporting solved all the
company’s problems? 10

Unit-1
How do information systems help businesses use
synergies and network based strategies to
achieve competitive advantage? 10
In what ways do Information systems and the
Internet pose challenges to the protection of

individual privacy and intellectual property? 10
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Unit-11

" Explain how using a competitive forces model

and calculating the total cost of ownership of IT
assets helps business make good IT infrastructure

investments? 10

What are the challenges in implementation of

enterprise applications? Explain how these

challenges can be addressed. 10
Unit-HT

Describe any five Internet business models for

e-commerce. Distinguish between a pure play

Internet business model and a clicks-and- mortar

business model. 10

What are the major types of knowledge work
systems and how do they provide value to

businesses? 10
Unit-IvV

Compare object oriented and traditional
structured approaches for modelling and

designing systems. 10

How can business assess the business value of

information systems? 10
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M. B. A. (Second Semester)

Examination, 2012
MANAGEMENT SCIENCE
(CP-202)

Time Allowed : Three Hours

Maximum Marks - 70

Note : Attempt Five questions in all. Quéstion No. lis
compulsory. Select one question from each

Unit. Use of Financial/Scientific calculators is

" permitted. Area under the normal curve table to

be supplied.

1. Attempt all parts : 5%6

{(a) Enumerate and explain the assumptions

under linear programming




(3)
(2) |

(b) Show that the following LPP is unbounded : . Day Employees Required
Maximize : Z=2x1—X) Monday 17
Subjectto :  x-xp <1 Tuesday 13

2x+xy 26 Wednesday 15
X, X2 20 Thursday 19

(¢) A Post-Office requires different numbers of Friday - 14
full-time-employees on different days of the Saturday ' 16
week. The number of full-time employees _ Sunday i
required on each day is given in table (d) For a game with the following pay-off

below. Each full-time employee must work matrix, determine the optimal straleey ane

_ value of the game .
five consecutive days and then receive two

B
days off. For example, an employee who

| 6 -3
works Monday to Friday must be off on AL—B‘ 0}
Saturday and Sunday.. The Post-Office .
(e) Explain the difference between transportation
wants to meet its daily requirements using
and assignment problem.
only full-time employees. Formulate in LPP .
Y proY () Ina public telephone booth the arrivals are
that the Post-Office can use to minimize the '

an average 15. per hour. A call on average

number of full-time employe_es who must be (akes 3 minutes. If there is just one phone,

hired.

| MS-3175
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Find (i) expectéd number of callers in the
booth at any time. (ii) the proportion of the
time the book is éxpected to be idle.
Unit-1
2. Use Big'-M method or two-phase simplex
method to find the optimal solution to the
following LPP ; : 10
Minimize : Z=-3x; +x,
Subject to : X —=2xy22
—x+x3 23
X,xy20.

3. Find the maximum of ;: Z =6x+ 8y

Subject to : 5x+2y <20
x+2y>10
x, yz0 _
by solving its dual problem. 10
Unit-11

4. A company has three plants at locations A,. B and
C which supply to warehouses located at D, E,

F, G, and H. Monthly plant capacities are 800,
500 and 900 wunits respectively. Monthly
warchouse requirements are 4490, 400, 500, 400

and 800 units respectively. Unit transportation

MS-3175
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cost (Rs.) are given below :

To _
D E F G H
A 5 8 6 6 3
From| B 4 7 7 6 5
C 8 4 6 6 4

Determine an optimum distribution for the

company in order to minimize the total

transportation cost. 10

5. (a)

(b)

‘MS-3175

What do you mean by unbalanced

assignment problem? 2

There are four jobs to be assigned to the
machines. Only one job could be assigned
to one machine. The amount -of time in
hours required for the jobs in a machine are.

given in the following matrix :

Machines
Iobs =T T c| D] E
] a1 3 | 6 2| 7
2 10 | 12.] 11| 4] 16
3 4 | 3 | 2] 1] 5
4 g | 7 | 61 91 6




(6)
Find an optimum assignment of jobs to the
machines to minimize the total processing time.

What is the total processing time to complete all

the jobs? 8

Unit-IIT

6. (a) Giving a suitable example, explain the
maximin-minimax principle of gam.e theory.
Also explain the concept of Saddle point

and value of a game. - 4

(b) In a game of matching coins with two
players, a player wins one unit of value
when there are two heads, wins nothing
when there are two tails and loses % unit of
value when there are one head and one tail.
Deiermine the pay-off mairix, the best
strategies for each player and value of the

game. 6

7. (a) A car park contains 5 cars. The arrival of
| cars in Poisson at a mean rate of 10 per
hour. The length of time each car speeds in
the car park is exponential distribution with
mean of 5 hours. How many cars are in the

car park on an average? ; 5

MS-3175
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(b) Assuming for a period of 7 hours in a day
(8-10 AM), trains arrive at a Y and every
20 minutes. Then calculate for this period :
(i) The probability that the yard is empty-
(i) Average queue length agsuming that

the capacity of the yard is 4 trains

only. 3+2

Unit-IV
g.  Find an optimum integer solution 1o the following :

Maximize : Z=X +2xy
Subject to : 2xy <7
xp+Xxp <7
2)61 <11

x;, X2 20 and xj, xp are integers. 10

9. A project has the following time schedule :

MS-3175
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“Construct the network and compute :

()  Total float for each activity.

(ii) Critical path and its duration. 5+5

MS-3175-8-300"
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MS-3176
M. B. A. (Semester-IT) Examination, 2012

HUMAN RESOURCE MANAGEMENT
(CP-203) |

Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all including Question
No. 1, which is compulsory. Attempt ore question -

from each Unit.

1.  Read the attached case carefully and answer the

following questions :

(a) Discuss the pro-s and cons of each of the

following alternative courses of action :

(i) Take no action. Continue Baleram in

employment till he retires.

(ii) Apl;oint the son in his place.




(2)

(iii) Pay him 25 months salary as compensation

and get rid of him.

(iv) Take disciplinary action against Baleram
for his inefficiency and irregularity, and

discharge him.

(b) Recommend suitable HR policies in the arca
of compensation, motivation, performance
retention and discipline in the above

situations. 15+15
Unit-I

2. “The modern globalised markets have generated
the need for complex and strong H.R. system to
complement the fiercely competitive markets.”

Elaborate. 10

3.  Distinguish between the following :

(a) Job analysis and role description
(b) Career and succession planning. 5+5

Unit-IT

4.  What are the components required to evolve an

effective training and development programme? 10
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5. Why is ap effective induction policy the
backbone for the Smooth  running of
organisations? How can g faulty 1nduct10n policy

sabotage the organisational system? 10
Unit-ITT

6. How does the continuous performance and
potential evaluatjon overcome the departmental

and interdepartmenta] discontentment? Explain. 10

7. Write short notes on any two of the following :

(a) Components ofa comp051te wage policy

(b) Effectlve motlvatlon In relation to level of

performance.

(¢)  An effective selection policy.

(d) Difference between potentia] apprasal and
performance :;ppraisal. 5+5

Unit-Iv

8. What are trade unions? How do they contribute
towards resolvmg conflicts and 1mp1ement1ng

'negotlatlons 1n organisational Systems? 10

MS-3176.
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9. How does the effective human resource
management satisfy organisational objectives of
the employer and the personal objective of the
employee for evolving cohesive industrial

relationship? 10
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M. B. A. (Semester-I1) Examination, 2012

Note :

FINANCIAL MANAGEMENT
(CP-204)
Time Allowed : Three Hours

Maximum Marks : 70

Attempt Five questions in all. Question No. 1 is

compulsory. In addition select one question

from each Unit.

Attempt all parts : 3x10=30

(a)

(b)

(c)

Companies sometimes resort to making the
payment of stock dividends instead of cash
dividends to their shareholders. Give

reasons for this practice.

What is modified internal rate of return
(MIRR)?

What are the limitations of payback

method?




(d)

(e)

(H

(g)

(h)

(1)

MS-3177

(2)

Explain  briefly the - credit policy
considerations.

Differentiate between operating and financial
leverage.

What are the possible reasons for a weak
working capital management in a business
unit?

A company financials are available, as
shown below. Determine the break-even

sales from this data :

Rs.
Sales 45,00,000
Fixed Costs 7,00,000
Variable Costs 18,00,000

Assuming a 10 percent discount rate,
compute the present value of Rs. 1,000,
Rs. 800 and Rs. 1,500 received at the end
of two years, three years and four years
respectively.

From the following data calculate operating

leverage, financil leverage and combined

leverage.

0)

(3)

Rs.
10,00,000
4,00,000
6,00,000

Excel Co. Ltd. has preference shares

EBIT
PBT
Fixed Cost

having face value of Rs. 100 per share. The
rate of preference dividend is 14 percent
p-a. Shares are redeemable after 12 years
at par. The net realised per share is Rs. 95.
Determine the cost of preference share.

Unit-I

2. What are the core decision areas of finance

manager? In your view, how do the finance

decisions in service firms and manufacturing firms
differ? 10

3. A firm has owner’s equity of Rs. 2,00,000. The

ratios for the firm are as shown below :

Current debt to total debt 0.80
Total debt to owner’s equity 1.20
Fixed assets to owner’s equity 1.20
Total assets turnover 4 times
Inventory turnover 16 times

MS-3177
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Complete the following balance sheet with the 5. Company X is considering a project which will
help of the information given above : 10 cost Rs. 60,000. Tt has a life expectancy of 6
Liabilities Rs. Assets Rs. . _
years and tax rate is 40 percent. Estimated profit
Current Debt - Cash -
before tax are shown below :
Long-term Debt — Inventory - Est; dProf
stimated Profits before t
Total Debt —  Total Current efore tax for Co. X
Owner’s Equity — Assets —
Total Capital —  Fixed Assets - Year ~ PBDT
Total Assets - 1 10,000
Unit-11 2 12,000
4. The capital structure of company XYZ is 12% 3 15,000
debentures, 9% preference shares and equity 4 18,000
shares of Rs. 100 each in the ratio of 3:2:5. The 5 20,000
company is thinking to add additional funds by 6 22 000

raising term loan at 14% interest rate from

financial institution. Compute the following :

The new ratio of above sources of funds will go (a) Payback'period

down by 1/10, 1/15 and 1/10, respectively. What (b)  Average rate of return

will be the impact on WACC of the firm if the tax (c) Internal rate of return

rate is 40% and expected dividend of Rs. 9 is (d) NPV at 10% discount rate

given at the end of the year and growth rate g is (e) Profitability index at 10 percent discount

5 percent. 10 , rate. 2+2+2+2+42=10
MS-3177 - MS-3177




(6)
Unit-1I

From the following, prepare income statement of

company A, B and C. Briefly comment on each

company’s performance : 10
Company A B C
Financial Leverage 3:1 4:1 2:1
Interest Rs.2lakh | Rs.31akh | Rs.101akh
Operating Leverage 4:1 5:1 3:1
V(C as % to sales 00.67% |  75% 50%
Income - Tax Rate 45% 45% 45%

What are the various factors affecting the optimal

capital structure? Explain the EBIT-EPS

approach of optimising the capital structure of a

given business. . 10
Unit-1V

(a) Discuss the factors influencing the working

capital requirement of a firm. 5

(b) Write a brief note on factoring services in_

India. 5

The Board of Directors of X Ltd. request you to
prepare a statement showing the working capital

requirement forecast for a level of activity of

MS-3177
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1,56,000 units of production. Thé following
information is available for your calculation : 10

(Rs. per unit)

Raw Materials 90
Direct Labours 40
Overheads 75
Total Cost 205
Profit | 60
Selling price per unit 265

(1)  Raw materials are in stock on average one

month.

(i) Materials are in process on average two

weeks,

(1) Finished goods are in stock on average one

month.
(iv) Credit allowed by suppliers—one month.
(v)  Time lagin payment from debtors—two months.
(vi) Lag in payment of wages— 1% weeks.
(vii) Lag in payment of overdrafts-one month.
20% of out put is sold against cash. Cash in hand

and bank is expected to be Rs. 60,000. It is to

be assumed that production is carried on evenly

MS-3177
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through out the year. Wages and overheads
accrue similarly and a time period of 4 weeks is

equivalent to a month. 10

MS-3177-8-300
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M. B. A. (Semester-1I) Examination, 2012
MARKETING MANAGEMENT
(CP-205)

Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

compulsory. Attempt one question from each

Unit.
1. Read the attached case carefully and answer the
following questions : 10x3=30

(a) Explain the product line, width, depth and
consistency of GCMMF. Take the help of a

diagram to illustrate your explanation.

(b) Critically analyze GCMMEF’s growth in the

light of Porter’s generic strategies.
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{2)
(¢}  What are the strengths of 1he Organization
which wil enable GOMMF Lo meet the

competition :ffectiveiy In the fuinre? In

YOur opinion, are there any rigks assocrated

with the present strategies fallowed-by the
Cooperative 1o achieve growth? Give
reasons for vayr answer,

Unied
According to Koiler and Keljer,

people are involved ip markeuing ten lypes of
entities.” Elucidate, Highlight the

responsible for treating new o

new challenges for marketers,

“Marketir_:g

factors

Pportunities and

10

4.

MS-3178
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With respect 1o its ice creams, marketed with the pay-off line “Real Milk-Real fce Cream™,
GCMME focused on the ‘takeaway:-home-segment. In.osder (s ensure high growth rutes, GCMMF
introduced several new flavours of ice creams to meet consumer demand.

GCMMF also %o:& retail outlets, Amul Parlers, in the country throngh which it sold its
products. ‘The parlors Were a one stop shop for milk, buiter, cheese, milk heverages, pizzas, and
other products. It intended to follow the franchise route building upo its brand wnd yuality. According
to analysts, GCMME's ability to achicve success despite tough competition from multinational
compaies such as Nesté India Lad, (Nestlé), Britannia industries Lad.

Cadbury Inchia Lad., and Hindustian Umilever 15 (1IUL) could be ativibuted 1o #s Price

Feadership steategics. In products like long life mitk #nd condensed mitk, GCMMF competed with
Nestlé on price. Over the years, Amul’s products like Mithai Mate bad eroded the market dominance
of Nestle’s Milkmaid. In the ice cream category, it snatched away the market leadership from HUL
in the early 2000s and, as of early 2008 it enjoyed a 37% market share in the caiegory

~ GCMMF had zlse huilt alliances to fuel its growih. In the confectionary business, it had an
alliance with Campeo. In the ice creams business, the ice creams wese initaaily manufactured at non-
GCMMF factorics, outside the state of Gujarat. In 2008, GCMMY had seven manufacturing locations

in the country. In the past, it also had an alliance with Maharashtra Dairy and Pune Milk Cooperative
T Yot Hquit ik marker iniviumbai- Thie alliances heiped in keeping the capitai costs low on the
one hand and were critical for low shelf life products like milk and curd, analysts said

However, experts felt that GCMMF's strategies were exposed to certain risks. It could face

tough competition from other state cooperatives that sold similar products under their own brands.

The company had around 40 products in its portfolio, which might result in dilution of its cfforts in

- marketing and distribution. Further, in the case of high end products like UHT milk and infant food

- where customers associated 2 high price with better quality, its strategy of price leadership might net

—
work. There was also the risk of over extending the Amul brand to products such as pizzas
confectionary, and iustant coffee.
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9.

What is a product

stage of the

Explain the different price-setting m

{3)

life cycle? Explain how each

PLC calls for different marketing
10

strategies.

Unit-IH
ethods. Give

les to show how different organizations

examp
adopt different pricing methods. 10
What is marketing channel? A manufacturer

selling buses would require a marketing channel

to reach its cusiomers. Explain the different

marketing flows invoived in the marketing chanuel

ohlight the role played by cach
10

for buses and ht

channel intermediary.
Unit-1V

Exptain the fundamentals of marketing

h the help of a macro model
10

communication wit

and a micro model.

understand by marketing metrics?
k on marketing plan
10

What do you
How can it be used to chec

performance?
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MS-3179

M. B. A. (Semester-1I) (Full Time)

Examination, 2012
Production & Operations Management

(CP-200)

Time Allowed : Three Hours

Maximum Marks : 70

Note : Attempt Five questions in all. Question No. 1 is
compulsory. Select one question from each

Unit.

1. Answer the following :
(a) What are the different types of process
technologies? 4
(b) Explain the systems view of operations

management. 4




(c)

(d)
(e)

(f)

(g)

MS-3179

(2)

Write a note on important traditional

engineering techniques of job design. 4
Explain six sigma approach. 4

What do you understand by ideal OC

curve? 4

" A firm producing paints, plans to use simple

exponential smoothing method to forecast
weekly demand and has collected the past

data for § weeks as shown below :

Week No. 12345678

Actual Demand |30 [35]20|15] 10 1011520

Compute forecasted value for 9th month

(ouis given as 0.2)

An auto industry purchases spark plugs at
the rate of Rs. 25 per piece. The annual
consumption of spark plug is 18,000 nos. If

the ordering cost is Rs. 250 per order and

(3)

'carrying cost is 25% per annum, what

would be EQQ? 1If the supplier of spark
plugs offers a discount of 5% for order
quantity of 3,000 no’s per order, do you

accept the discount offer? 5

Unit-I

Explain the conversion process in any fast food

outlet. Also explain the layout for the same

outlet, 10

3. (a)

(b)

MS-3179

Explain the process of service development. 5
XYZ company is evaluating three locations
for a new plant and has weighted the
relevant scores as given below. Scores
have been assigned with higher values
indicative of preferred conditions. Which

loeation will the company prefer? 5




(4)
Assigned Scores_ for
Factor ) __Lg@ﬂc_)ﬁs_
Weight AlB] ¢
Production Cost 0.35 50 | 40 | 60

Raw Material Supply 0.25 70 1 80 1 80

Labour Availability 0.20 60 [ 70 | 60
Cost of Living 0.05 80 | 70| 40
Environment 0.05 36160 1 70
Markets 010 |70 | 90| 80

L Total 1.00

Unit-17

What do you understand by MRP I1? How is it
different from ERP? Explain in detail. 10

Discuss operations planning and scheduling

system in detail. Explain the terms MPS and
CRP. 10

Unit-ITY

Discuss the various steps involved in the method

study procedure. 10

MS-3179

(5)
(a) An 8 hour work measurement study in a
plant reveals the following :
Units produced=320 No’s
Performance Rating=120%
Allowances=12% of normal time.

Determine the standard time per unit

produced. , 5

(b) What are the primary concerns associated
with the planning, scheduling and control of

projects? 5
Unit-TV
Write a short note on the following : 5+5
(a) ISO-9000 series
(b) Total Quality Management.

Last week’s visual inspection carried out to find
defects in a manufactured items revealed the
following data for a sample size of 30 numbers.

This week, 30 pieces were again inspected on

MS-3179




(0)

each of two occasions and 6 pieces and 9 pieces
were found to be defective resp. Determine

whether the process is under statistical contro! or

not, this week : 10
Sub - group No.of Sub - group No.of
No. Defectives No. Defectives
1 5 1 5
2 4 12 7
3 4 13 4
4 4 14 5
5 7 15 4
6 4 16 5
7 5 17 5
8 6 18 7
9 4 19 6
10 5 20 4

MS-3179-6-100+100




MS-3180

M.B.A. (Second Semester) Examination, 2012

RESEARCH METHODOLOGY
(CP-207)
Time Allowed : Three Hours

Maximum Marks - 70

Note : Answer Five questions including Question No. 1

which is compulsory. Attempt one question

from each Unit.

1.  Answer briefly the following questions : 3x10=30

(2)

(b)
©

(d)
(e)

If you obtain p-value to be less than 0.05,
how would you interpret it for the purpose

of accepting or rejecting a null hypothesis.

Explain the concept of type one error with

the help of an example.

Which hypothesis can be tested by using
two-way ANOVA?

What is meant by systematic error?

Give two examples of research in business.



(f) Define research in business.

(g} Distinguish between correlation analysis and

regression analysis.

(h) Distinguish between parametric methods
and non-parametric methods. Under what

conditions are they used?

(i)  Distinguish between convergent validity and

divergent validity with the help of an example.

(3) Distinguish between kurtosis and skewness.

Unit-I 10

What are elements in the research process?
Explain each one of them.
Distinguish between primary and secondary data.
Explain any three methods of collecting primary
data by using examples,

Unit-1T 10

How data is edited for the purpose of analysis?
What are the different methods of dealing with
missing data? How would you identify outliers?
Would you prefer to delete them before making

analysis?

MS-3180

(3)

What principles should be followed for designing
a good questionnaire? Design a questionnaire for

measuring job satisfaction of employees.

Unit-ITT 10

You want to test for the independence of two
attributes. Explain the pro.cedure of testing
statistical independence in the case of 2x2 table.
Explain the procedure of using Chi-square test
for checking 1independence between two

attributes with the belp of an example.

Write a detailed note on the use of regression
analysis. Give one example each for simple linear

regression and multiple linear regression analysis.
Unit-IV 10
Distinguish between scatter plot, bar chart and

histogram. How would you create them by using

SPSS?

MS-3180




(4)
9. What are some of the commonly used elements of

a research report? Write in detail about any one

of them,

MS-3180-4-300




MS-3181
M. B. A. (Semester-11) Examination, 2012
International Environment and Management
(CP-208)
Time Allowed : Three Hours

Maximum Marks @ 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. Answer four more questions

sclecting one question from each Unit.

1. Study the case given below and answer the

questions given at the end :

The subway story began in 1965 when Dr. Peter
Buck loaned Fred Deluca USD $1,000 to open a
sandwich shop in Bridgeport, U.S.A. Since that
time, subway sandwich shops has grown to more
than 32,000 restaurants in 90 countries making
its founder a bilionaire. Subway remains a 100
percent franchised organisation and all subway

restaurants are individually owned and operated.




(2)

More than 7,500 subway stores have opened
outside the United Staies, mcluding developing
nations like India, Croatia and China. Initially
subway did not seek to expand internationally,
but when an entrepreneur from Bahrain
approached the company about opening a
sandwich shop on the Persian Gulf Island,
Subway decided to accept the challenge of global
expansion.

Expanding a food venture into a foreign country
involves many Issues, such as finding quality
supplies for use in making sandwiches. Subway
insists on a “gold standard of quality” when

adapting to international environments. To

properly train new Franchise owners in locations

around the globe, subway has to adopt to
different languages and cultures. When it enters a
new market, the primary issues it faces are
building brand awareness and learning about
potential customer’s eating preferences and
Customs. Subway has positioned its menu as a

more health-conscious choice,

MS-3181

(3)

Questions :

(a) Is Subway’s heaith-conscious positioning
the best promotional platform to expand

stores internationally? Why or why not?

(b) What are some advantages and disadvantages
of using franchised owner-operators to

¢xpand internationally?

(¢) Would you recommend product
standardisation or adaptation strategy to
the company for its Indian Operations?

Justify your choice.

(d) How important is it for subway to study the
cultural factors in Indja? Explain giving

suitable examples. 74
Unit-1

Political risk management in the international
markets can be undertaken pre-investment, or
post-investment. What are the options available
to an international business for pre-investment
planning and strategy options for post-investment

planning? Discuss. 10

MS-3181




]

(4)
Answer any twe of the following 5+5

(a) What are ihe factors which cause
disequilibrium in the balance ol paynments
(BOP)? Explain.

(b) Distinguish between high and low context
cultures and discuss their business
implications.

(c} Discuss the various types of international

business,

Unit-T1

“One  of the important features of the
international trading environment is the
proliferation (multiplication) of the (rade
barriers.”

Elaborate this statement and discuss the various
types of trade barriers and their impact on

international business. 46

Answer any two of the following : 5+5

(a) What are the various pros and cous of the
option of (i) make, (ii) buy and (iii) make

and buy both?

-MS-3181

(5)

(b) Discuss in brief the theories of independence,
interdependence and dependence in relation
to international trade.

(¢) What is meant by economic integration?
Describe briefly the various degrees of
.economic integration.

Unit-111

Identify and explain the various factors
influencing the demand and supply of different
currencies and consequently the rate of exchange

between them. 10

(a) Explain the differences between ethnocentric,
polycentric, regiocentric and geocentric
(EPRG) orientations. How do these
orientations affect international HR
practices? 5

(b) Discuss franchising as a method of market

entry in relation to foreign trade. 5

MS-3181




(6)

Unir-IV

“Analysing the commercial aspects and relative
bargaining strengths and understanding the
cultural nuances are prerequisites for successful
negotiation.” Comment. Also discuss the cultural

problems in international negotiations. 10

Write short notes on any two of the following : 5+5

{a) Country evaluation and selection on the f
basis of ‘country attractiveness/competitive

strengths’ matrix.
(b) Multilateral settlements

{c) International business diplomacy.

MS-3181-6-300




AT

M. E. B. (Semester-IV) Examination, 2012
Business Transformation & E-Strategy
Time Allowed : Three Hours

Maximum Marks : 70

j. Note : Answer Five questions in all. Question No. 1 is

! compulsory. In addition attempt one question

; - from each Unit.

i

" 1.  Read the attached case and answer the following
questions : 7Y%2%4=30

(a) Relate the actions taken by Mr. Mittal with

the eight step of transforming a business.

(b) ‘People have inertia to change.” Comment
on HR related issues which Mr. Mittal may

have confronted?

(c¢) How are security issues handled in the

case? What other issues may be required to
f be addressed if IFFCO moves forward

towards e-marketing?




(2)

(d) How is the role of Mr. Mittal as change
teader different that just being senior
executive? What attributes of change leader

are required for successful transformation?

Unit-1
(a) Bring out the characteristics of following
modets of change :
(i) Activity centered
(i) Strategic programming
(ii1) Organisational learning. 6
(b) | Outline the various factors you will consider
in designing a matrix (o assess an

organisation’s readiness 10 change. 4

Describe any one BPR methodology along with

the role IT can play towards its success. 10

Unit-If

;‘Vertically oriented organisations are set up for
the convenience of organisations rather than the
value that can be created for customers.” In this
context, describe the process of bringing the shift

in the organisation from being vertical to

-horizontal. 10
MS-3182

(5)
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IFFCO’s developers were trained (o use digital certificates and encryption and decryption technologies. A
certifying agency was also hired to develop the encryption and decryption component for the ¢-procurement
system. The first version was implemented using ASP technology. But the ASP rollout was just the first part of
the e-procurement stery for Mittal, who wanted 10 move the system to Microsoft's,Net technology - - and this
meant that he had to convince Microsoft. “Microsoft partnered with us under their ‘Enterprise-GO’ program and
arranged necessary training on Visual Studio .Net for developers,” he says. Rather than merely converting the
system from ASP to .Net, Mittal decided that this would be a good time to seek inputs from internal and external
users about various components of the system. Thanks to proper planniug, Mittal was able to keep costs low.

“The entire system cost us Rs 50 lakh, which included Rs 10 iakh for the blade servers, Rs 4 lakh for the
systems software and the encryption component, and Rs 36 lakh for the applications development,” says Miital.

Mittal says that it js difficult to define savings on tendering in terms of direct rionetary benefits becanse the
tenders are being Aoated by six units of IFFCO. However, [FFCO saves on cost of printing, dispatch, human
resource, and filing, while vendors save on cost of traveling, preparation of bid, and dispatch. More than this, he
stresses that one should look at ROI from a non-monetary atgle too. “The objective of e-procurement system
was to improve the overall efficiency of procurement, bring transparency, a secure safe and non-repudiated
systern and break cdrtels,” he says. Through e-procurement these vendors can see the tender document on the
Internet, submit their bids online, can check the status online and get the purchase order also online.

PERTINC, N K%

G o]
- o =
3 .
[} ..m o b T = n...w =
ry o © = . a = AN
o = 5 = = = o
a. £ w vy =h) 2 N & W
o o = o = = = )
o = o— n o] =] = =] = o =
2, T P =¥ & S O g
L — = 2 < g E i o.
=) = o 0 2 g 9
S a. = 2 & o B
bh A =) w 1% o2 - - =}
] (] . [7:) - 1)) > o [ 5]
e = [« Bl o e = o = 5]
o = B - 8 .3 By @
= S O A= > ‘2 > o B S @
= o = O 0 R . = e 2 & 2
. o E 5 .- 2 © = D = o £
. w0 5 * g B = b Q N g& o =
5 e ™ @ a = s = — = =
£ - o 5 O & o = - = pud - X 2 -~ B
Rl - — - At [e) o . (] <} q
W e e r.-_A o o o] = [ L
L h 3 b S . o 42 _ G i m U -3 <
) k=] — ) ) = o . L Q Q v : 8
fod e = o = Q [Pat — 5} [=]
— Im o = = R = < o= .|DM Cm > n 2 m = = 0 =
2 2 0§ B S = ° 2 5 = g g 2 E 8
g 9 g = = 2 =8 E o v g © g 5 o
2 g 3 g = O 2 8 8 = 5 B « o s =2 5
- m = 5D = - m o na =] 5 —_ e — > = Q
o= 5 =% 2 % g 5 g o ¥ o o @ g 8 = = 5
- © o R m w a L L © = L O o o O o= [+
A b o © S S > = = Do s s g = P
5] o o3 el bzt o= a7 2 Q P = I e = .= -
= B ®» 52 g &5 & =] (S —
= -~ © o et — o
Z = ) = =
= = @ < = 2 ~ “
)
. (g
NG
uw
(6)




(b)

(2)

(b)

(4)

Describe the different variables constituting
‘Customer Value’ and ‘Competitive Capability’

to express value offered by e-business. 5

Explain the various components of an
e-business model framework. 5
Describe how an organisation’s resourcing
and control systems affect strategy

implementation. 5
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MS-3183

M. B. A. (E-Business) (Fourth Semester)

Examination, 2012
Business and Cyber Legislations ‘
(EB-402)
Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. | is

compulsory. Attempt one question from each Unit.

. Discussthe following in brief: 3x10=30
(a) Void and voidable contracts
(b) Caveatemptor
(¢) Quasicontracts
(d) Consequences of dishonourofcheques
(¢) Red-Hearing prospectus
(f) Services covered under Consumer Protection

(g)

Act

Digital signatures




| @
(h) Holderin duecourse
(i) Differences between ordinary and preference

shares
() Powersofthe Board.

Unit-1
Discuss the salient features of the Indian Contract

Act, 1872, 10

Under what conditions can there be a breach of
contract 7 Discuss the legal remedies available in case

ofbreach of contracts. 10

Unit-IT
“Conditions and warranties are basic stipulations in

sales.” Discuss and distinguish between them. 10

Define negotiable instruments. Enumerate the

important negotiable instruments used in domestic

and international business. 10
Unit-11T

Define a company. Explain the procedure for

formation of acompany. ' 10

MS-3183
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Write short noteé onany two ofthe following : 10
(a) Memorandum of Association ofa company

(b) Winding upofacompany

(c) LLP/LLC.

Unit-1V
Discuss the consumer disputes redressal mechanism
as provided under the Consumer Protection

Act, 1986. 10

Discuss the implications of I. T. Act for E-commerce.
10
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M. B. A. (E-Business) (Semester-I1V)
Examination, 2012

ML.B.A. (E-Business)
EB-403
(Software Engineering)
Time Allowed : Three Hours
Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

compulsory and attempt one question from-
each Unit.
1. Explain the following : 3x10=30

(a) Risk analysis |

(b) Software engineering paradigms

(c) Front-end design

(d) SRS

(e) Principles of Software engineering

(f) Operating Systems




(2)

(g) Evolving role of software’ -
(h). Role of software engineer
(i) COTS

() Software reuse.
Unit-1

Discuss how software engineering helps to solve

the Software crisis issues. 10

The programming language or operating systems
decide the process model of software development.

How? 10
Unit-11

Explain the various means of requirement

elicitation. 10

Discuss the importance of DFD in modeling

software. : 10
Unit-11

Discuss the advantage of prototyping over other

models of S/W evolution. 10

MS-3184
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“Testing i1s an important phase in software
development.” Critically evaluate the need and

types of testing. 10
Unit-1V

Describe the need for CASE tools and its

relevance to software. 10

Discuss the various risks prevalent in the
software development., How can these risks be

managed? 10
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MS-3185
M. E. B. (Semester-IV) Examination, 2012
E-Marketing and CRM
Time Allowed : Three Hours

Maximum Marks : 70

Note : Question No. 1 is compulsory. In addition

attempt one question from each Unit.

1. Read the following case study carefully and

answer the questions that follow :

e-Grocery.com, based in Longmont, Colorado, is
using the Internet for food retailing services.
Founded in 2004, e-Grocery.com is a member of
an online grocery/drugstore shopping and
delivery service that already has thousands of
customers in the Phoenix, Seattle, and Denver
areas.

Established on the idea that people will buy

groceries over the Internet, e-Grocery.com has




(2)

an online database of over 25,000 grocery and
drugstore items, and allows comparison shopping
based on price, nutritional content, fat and
calories. e-Grocery.com membership offers users
additional benefits such as electronic coupons,
retalier preferred customer discounts, recipes,
and tips.

Eighty-five to 90 percent of e-Grocery.com’s
orders come in via computer; the rest are faxed
or phoned. e-Grocery.com orders are taken
centrally and then e-matled to its local partners.
The store receives the order, the delivery
address, and driving instructions. Each order is
filled by an e-Grocery.com employee who shops
the aisles of the store. The employee pays for the
groceries at special e-Grocery.com counters in
the back of the store. The order is then taken to
a holding area in the supermarket, where the
appropriate items are kept cold or frozen until
the deliverer picks up the orders for delivery.

e-Grocery.com members are charged actual shelf

MS-3185
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prices, |
percent of the order amount, whichever 1s

~(b) What value com e-Gro

)

plus a per-order charges $5.00 or 5

greater.

Questions :
(a) Whatis e-Grocery.com’s e-marketing and

e-business model and how does e-Grocery.com
compete with traditional-retailers‘? 10

cery.com offer as a
true competitive advantage in this e-marketing

1 ? 10
environment:

(c) Whatis the threat of new entrants in this
e-market segment? How does e-Grocery.com

profit from online customer interaction? 10

Unit-1

(a) Define o-marketing and explain the purpose

of an e-marketing objective-strategy

i 5
matnx.

(b) What are the advantages of using Java,

Dynamic HTML, Java Script, Plug-ins and

- X HTML? 5

MS-3185
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(a) Why and how do e-marketers evaluates the
quality of information on a Website?
Explain. 5

(b) Why do e-marketers need to mcasure
attitude toward technology? What are the

types of these measures? 5
Unit-1I

What are some of the consumer privacy issues
related to enabling products  for online
promotional activities such as targeted
advertising and personalized promotions? How

would you, as an e-marketer respond to these

privacy issues? '
Y _ 10

What is the concept of market similarity and how
does it apply to companies that target foreign
markets? Also, discuss about the cultural factors

which are_affecting internet shopping (e-marketing)

in some countries. : ' 10

(5)

Unit-IH
(a) What do you mean by relationship
marketing? Also, gIve the difference
between mass marketing and relationship
marketing. 5
(b) Describe the concept of propensity—to-buy
segments. Give relevant examples 11
support of your answets. 5
(a) What are the measurements of customer
satisfaction? What precautions should be
kept in mind during the design phase of
software development for customer
satisfaction? 5
(v) what is the role of CRM n e-business?
Discuss the advantages and disadvantages
of CRM 1in e-business i the current

e-marketing environment. 5
Unit-1V

Explain the CRM success factors 11 online
marketing context and how one can gauge the

factors of CRM success? Also discuss the

yarious requirements of CRM systen. 10

MS-3185
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What are the processes of choosing the CRM
tools? Discuss about the requirement-Driven
product selection (CKM). Also, discuss the
importance of CRM 1mplementation in an

organization. 10
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MS-3186
M. B. A. (E.B.) (Semester-IV)

Examination, 2012

Supply Chain - Management

Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. Select one question from each

Unit.

1. Read the following case carefully and answer the

questions that follow :




(2}

It all began way back in the year 1919, with a humble
stait, as a modest spice manufacturer and trader.
Through these glorious eight and g half decades,
MDH has witnessed a growth, which is both phe-
nomenal and remarkable. MDH has not oaly pio-
neered the marketing of powdered spices in handy
attractive consumer packs, but has also established
itself as the Jeader in its own right as a trustworthy
processor of pure and high-quality blended spices
and condiments.
Keeping pace with the modem times, MDH has
~ constantly been updating and modernizing its units
by evolving blended spices and condiment powders
for preparation of popular and exclusive dishes for
specific cuisines, which India is famous for. MIDH
stands a ciass apart, being India’s leading manufac-
turer of blended spices. through automated plants
localed at New Dedhioand also in Haryana and
Raujusthn.

' MDH turs afways heheved that quality comes
first before anything clse. MDH spices are uosgue.
MDI{ maintains its consistency in pracurcoment and
blending uf spices. The blends are processcd from the
‘best and {resh spices, which ar¢ ensured by a series of
sampling, quality tests, and controls at its weil-
equipped research and development centers. Its
Delhi plant with Iarge stainless steel hoppers, grinders,
and blenders continually feeding an automated
Wf:ighing and packing machine blend ancient Tecipes
}mth modern technology just as the ingredients pass-
ing through the same blend Lo produce incomparable
seasonings. The quality checks at each stage followed
by random sampling of packets for weighing shows

. the concern that the establishment has {or purity and
* accuracy. Each sample packet iavariably weighs a lit-
tle more than the marked weight.

Mahashay Dharampal, MDH's octogenarian
proprictor, known for his philanthropic activities and
Pal‘crmll attitude toward his 1,100 plus employees,
maintains that honesly, hard work, as well as care and
Concern of thc employces are fundamental to success
n businiess. These in turn have stood the company in
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good stead and brought it to its present stale as a
world famous company. No wonder he 1s worshipped
by his workers, who in the true Indian tradition touch
his feet every time Lhey se him. He in turn joins
them in all their functions with gay abundance and
incomparable verve. His personalized gifts and
“Shaguns” on the occasion of marriages of the chil-
dren of his workers and stockists are heartwarming
and endearing earning him their loyalty in great
imeasure. He is respected by the community for his
contribution to society, which includes a 210-bedded
modern hospita} with some of the latest diagnostics
and a range of super specializations besides a chain
of schools operating under a charitable trust named
after his father, Mahashay Chuni Lal. His office is
filled with a large number of trophies and tesiimoni-
ats. which he proudly shows to the visitors.

Operatlons

Procuremens MDH sources most ol s spiees
ducctly Hum the centas ot producton Hirophout
the coupiry, whure it deputes iphly expenenpeed
company representatives 10 select and buy material
during the scasonal auctions. The principal criterion
for selection of Jots 1o be bought. is product quality to
ensure uniform taste with price being of sccondary
cousideration. The company buys turmetic {Haldi), 2
cash crop raised over 50,000 acres in Tamil Nadu
State, from the famous Erode Market in that state
where both the local district produce and also pro-
duce [rom the peighboring districts, like Mysore,
Salem, Villupuram, Vellore, and Tiruvannamalai, i
Karnataka State arrive almost daily. Around 3,000
guintals of urmeric worth TNR 10 million is sold (n
the market every day. making it one of the largest
turmeric centers in India.

Similarly, cumin secds (zeera) are procured from
Naugar in Rajasthan where the produce from the
neighboring state of Gujarat is also available.

In the process, MDH eliminates the tayers of inter-
medianes that add cost and at times ditute quality. The
products being scasonal in nature, the procurement i,
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uncertak en 1o cover the requirement of the whole year and
moved after cleaning, drying, testing, and grading to public
coid storages and warehouses from where these are fed to
the processing plants i line with ¢he production plans

Production MDH bas set up three state-of-the-art
plants at Naugar, Gurgaon, and Delhi for meeting the
ever-growing demand for their products. The current
PI’Dd.UCtIOD level stands at 30 tons of finished packed
species per day, 75 percent of which are in the shape
of blf:nded spices, while the ground single s icre):s
constitute 25 percent of the produc porﬁfoliop'-]‘i'w
cz‘ampuuy has added a range of allied produci‘; like
Pdpp'«ld, henna pawder, ayurvedic tooth po.wder
Lfncanse, gnd havan samagri to fill the market demanc{
or quality products, which are so much a part of
every day life in India, and in which range the Indian
customers expect highest degree of puri?y.

) The company produces over 40 different vari-
eties of MDH spices in 110 different packages of dif-
ferent sizes to cater to households and restaurants

f}?d hof.e)s across th'e country. Incidentally, almost all
e major hotel chains in India are clients of MDH.

Quality Contrel MDH tests hoth its inpul material
and powdered spices at its fully cquipped qualily con-
troi laborjalories Mr Rajeev Gulati, who umohg his
qthcr duties as director, is responsible for interna-
vional marketing in which capacity he bas put MDH
on the world map, has been perticularly painstaking
over matters of quality to meet international standards
(see Figure 17-8). Quality expectations of freedom

from pesticide andfor fumigant residues, aflatoxin,and .

extrancous matters besides microbial contamination
have been his chicl concerns 1o ensure that these meet
the 1nost stringent standards relating 1o food safety.
These efforts have earned the company a Quality
Excellence Award from the National Giovernment and
at the international level, the prestigious “Arch of
Europe Gold Star” award for excellence and quality

Production Planning Operatingina market where the
demand continually exceeds supply, MDH aggregate.
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production planing i bascd on the avatabibty ol Taw
material amd the pliat cupiety. istonea! expericaee
forms the s of produchon planuing, of individual
items of which MDH praduces ahove 5 varictics.
Since the producs arc well cstablished in the markel
with regular ongoing demand, MDH is able 10 fill back
orders, if and when reqguired. This, according 10 the
company chairman, who keeps 8 watchful eye over pro-
duction, allows the company to regulate its batch sizes
that in turn enables efficient capacity utilization. The
company has its order books ful) at most of the times
except. the monsoons period, which is usnally the lean
season, during which stocks are built up for the follow-
ing festive and marriage seasons. Company docs not
experience any slow or non-moving items, as produc-
tion is readily adjusted to the emerging demand with
assured off take by committed distribution network.
Their production, which is thus fully matched with

Jurteand, sy repasded us ppproxunatng o8
Hemand-doven model most appropriate fur i product
with lintited shelf life.

Inventory Control Seasonal nature of the product
makes it necessary for the company o procure its
whole year’s requirement of a given product during
its harvesting season. While some varieties iike chilies
and coriander aré no doubt available throughout the
year, the quality products that MDH targets are avail-
able during limited period only and have again to be
procured in bulk. Considcring the spread of harvest-
ing scasons and the sources of procurcment, the aver-

ape inventory carried by M is around six-month

stock in terms of sales. B
Brand Image Prior 1o the Indian partition, Mahashay

Dharam Pal’s Siatkot- based family business had made
a name for their populat red chili “Degi Mirch” When .
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“the business was reestablished in Delhi, he chose the
name “Mahashian Di Hatti of Sialkot Degi Mirch
Fame.” This name and the message struck an immed;i-

* ate chord with the immigrants from west Punjab who
were now spread all over India, Soon the name spread
and their products picked up demand from all parts of
india. The Indian diasporas did likewise to spread the
name werldwide, and today MDH is a household
name the woild over. The picture of Mahshay
Dharampa!l in his now familiar Rapasthan Red Turbnn
has become a logo and a brand ambassador, emphy
sizing purity and ethical business practices,

Markering Mr Rajeev Gulati, who among his other
responsibilities handles both the domestic and inter-
national marketing function, is pariicularly alert
toward emerging trends in spice processing and has
. been the prime mover in technological upgradation
~ of processes in the company. He has becn painstaking
i over the adoption of standards of cleanliness
demanded by the foreign buyers in so far as the treat-
ment of spices and herbs as food ingredients is con-
cerned. He insisis on adoption of the same physical,
chemical, and microbiclogical standards for the
domestic markets by emphasizing reduced levels of
infection in spices and herbs and has been responsi-
ble for adoption of some of the best business prac-
tices relating 1o food safety. -

The company's export-oriented unit has been
actively developing network of dealers around the
globe. The network presently covers the United
Kingdom, Europe, Canada, the United States, Japan,

and Switzerland. Besides direct exports to these
countries, large quantities of thejr products are

exported by several export houses in Mumbai, The

company hopes to enfarge their presence in the world
market substantially in the next five years, exporting

50 percent of their total production.
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Distribusion ML folows _u.:p}g!;ﬂ_;cglacihc;a ;:r\'t‘:r:; :é
distrit.nniun through its 50 supes :‘m“::;km. o
throuphont the couniiy, whaseive nf_ T;',w, Nt
dintributesrs, from whete the pludmrl fgm. o ver
snlers i peraders, MPYEL Bas 1IN0 Rtix
W) retatlers. o ]
4”“-“1(;2;]6 true Indian tradition, MDH Zd:j,:,’:‘:é::;i
term relationships with its stock_lsts anto{:k'ist gt
11is 1o MDH's credii that not a single s e ations
its supply chain during the iast 20 Y:a::;‘ D the
are in the nature of an ex;end*.'af_i A xrjg T ents
wriarch accommodates the legitimate req .
2? ail in & fair-and equitable tnanner. Intt:;r;kists o
during his visits to oulstations whe::lr‘z St}:; :tead S e
locatetl, he stays with }heu fazr_n 15h' e imes
hotels, building family-like re,aupns :;;and Shagins”
His personalized message, greeting ,1 e of the el
that he uniailingly scads on the marras e O g
dren of his stockists and de‘alers arf;e .
and endearing us l‘gs iqiec;ﬁisgzrg; “.ms 2ad storagei
ile MDH has is : . Nl
in le(:]ral siations like the m#u;t;i:ia;?n o
Ludhiana in Punjab, the same are 1pt S ontine
ition with the estahlished stockists O tmes
| f: {rlclcivc their supphies uninterruptedly 8

MDH is particularly painstaking over s

deliveries, which ensure ve‘ry high 1evei :ll]‘
assurance of availability of its produc_ts a 2
locations at ail times. Thg super stocklats ;\:AD&
21 days® stocks, and their 0rdcr§ on the o
plants are invariably filled‘ within a \;e.q.
incidence of shelf life-expired stocks e:)x?
returned to MDH plant have been less th_an ;Bc
percent over the past several years siressing
ver. _

ga;itestzurMm[))H turnover, which has bcen grq\ﬁfgi
continually, presently stands at INR 1.6 bi ;m
annually. Alisaics are made against prepaymThe,
which ensures a comfortab]e’cash flow. The
company is ene among the htgheg pz;lyer o
income tax in the state of Delhi, when

corporate office is based.
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Questicas :

(a) MDH experience presenté a bleud of |

business best practices rooted in the Indian
culture, value system, and sociceconomic
conditions. Identify these practices and
relate the same to the universally accepied
business bést practices for supply chain
success in contemporary environment? 10
(b) What role does charismatic leadership play
in bonding the supply chain pariners
together and sustaining the relationship over

long periods? 10

(c¢) What ethical business practices can you
identify in the MDH experience, and how

do these contribute to supply chain success?

10

Unit-1

In what way do supply chain flows affect the
success or failure of a firm? List iwo supply chain
decisions that have a significant impact on supply

chain profitability. : 10

(9)

Explain why stratf;.gi\c fit ig‘c;ui‘tical to a.company’s
overall success. Describe how a company
achieves strategic fit between its supply chain
strategy and its competitive strategy? 10
Unit-11
Discuss how e-business has affected the design
of distribution networks in various industries. 10
Identify and elaborate factors influencing supply
chain network design decisions and develop a
framework for making network design decisions. 10
Unit-111
What types of industries or situations are best
suited to the chase strategy, flexibility strategy
and level Strategy? 10
Explain how a reduction in lead time can help a
supply chain reduce safety inventory without
hurting product availability. 10
Unit-IV |
Elaborate the role of sourcing in a supply chain.
Discuss factors that affect the decision to

outsources a supply chain function. 10

MS-3186
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What processes within each macro processes are
best suited to being enabled by Information
Technology. (ITY? What processes are least
suited? 10
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M. B. A. (E.B.) (Fourth Semester)
Examination, 2012

Enterprise Knowledge M;lnagement
(EB-406)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. In addition sclect one question

from each Unit.

. Read the following case study carefully and

answer the questions given at the end :

There is more to networking than just being
‘connected’. It is all about being connected to
the ‘right” kind of people, which is the entire
basis on which sites like LinkedIn.com stand.
Thanks to the advent of social and networking
communities in India’s multi-billion dotcom
industry, business and corporate networking has
become an integral part of working population
lives. To tap the growing interest of Indian
consumers (rather prosumers) in this niche area
of social networking, Apnacircle.com launched
itself into the space in 2007 and projects itself as
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India’s answer to LinkedIn in the 2.0 domain,

where user interest and technology change at the
wink of an eye. To their credit, the website has
got itself an impressive user base of 36 million
professionals worldwide. As a joint business
venture-ApnaCircle-Viadeo—Tianj i-Unyk—the firm
holds a global network of over 100 thousand
users per month.

ApnaCircle was established by Yogesh Bansal in

October 2007. Yogesh completed his MBA from

University of North Carolina in 1997 and was
working with McKesson Inc. Soon after that, he
shifted to India in 2006 and crafted the idea of
ApnaCircle. It was his vision, self-belief and
conviction in his brand, which helped him to sail
smoothly through troubled waters in the dotcom
domain. Serial entrepreneur Sabeer Bhatia joined
in as director a year later. On the inspiration
behind the venture, Yogesh exclaims, “The social
networking fury in the west, especially US, fueled
my idea of starting a business on similar lines in
India. Backed with extensive research in this
domain and how professionals globally will react
fo it, I anticipated robust growth in this industry.

The key was to research and cater to working’

youth wants.” Social media had become the
buzzword back then in 2006 itself. But ApnaCircle
was formed with the aim to specifically be the
answer to a boy-next-door’s socialising needs
and a professional’s networking needs.

Bansal derives his inspiration from the late Apple
founder Steve Jobs. Passion and innovation are
two things that drive him and he makes endless
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efforts to inculcate the same values in his brand.
An adrenaline-junkie, Yogesh is someone who
loves to live his life to the fullest. “Work hard and
party harder’ are the four words which describe
his approach to life. Yogesh believes that. success
can never be credited to a single attribute oOf
business model and consists of many ingredients
such as belief in yourself, forthright vision, the
right team and of course the right product. He
further goes on to say that success is all about

“solving a problem of 2 need at the right time and

being consistent with it.”

A lot of work went into the formative years of
ApnaCircle to ensute that it would be 2 ‘unique
proposition. And that started with deciding the
name itself. The core team conducted a lot of
polls through questionnaires and did an intense
brainstorming before gaining a consensus on the
ApnaCircle name. What also went in favlour of
the name was the earthy feel to it and the instant
connect it could make with Indian audiences.
Although there were mixed reactions to the desi
name, Yogesh was adamant on the same end a}so
derived inspiration from the fact that sites like
Naukri.com of Shaadi.com had also achieved
unprecedented success with local names.
ApnaCircle considers its global s:tra‘_tegy to.be 2
very important part of 1ts positioning. Wwith a
combination of global and local professionals on
its network, ApnaCircle recently rolled out 118
Application Pro gramming Interface (API)—ba_sed
platform, which proposes to uplift the scalability
of the website. In this strategic and planned
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move, they have career opportunities  for
application developers and for website users.
Their ‘go-to-market’ strategy is unique as they
always aim at going from botiom to top and not
from top to down. This gives ApnaCircle a fairly
unique brand positioning.
If some trending global business reporis are to be
believed, then within two years of time, India’s
going to . be the world’s largest working
population. And 5-year-old ApnaCircle couldn’t
have managed to arrive at a better time. Riding
high on a mammoth database of 36 million
professionals worldwide, ApnaCircle connects
3000-5000 users o the right kind of professionals
on daily basis.
For a business networking brand, the target
group is any individual who is career-oriented. It
can be a banker, painter, a sales executive or a
CEO of a company. Word of mouth works best
for a brand like ApnaCircle and they believe in
riding high on this marketing strategy. They have
been a part of many online and offline networking
operations as well, which helps in providing their
brand that extra mileage. Viral marketing has
worked extremely well for them, as Yogesh
explains, “It’s like I send you an invitation online
and you like Now, you send this invitation to t€n
others and this will spread like a viral.” Other
than this, PR and media coverage have been a
conscious part of the company’s branding
strategy. To tap the critical mass in India, they

are also doing various ATL and BTL activities

along with running TVC commercials. Gone are

MS-3187
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the days when only a bad product needed strong
advertising and marketing. In today’s day snd
age, even a good product needs the spending
bandwidth to be able to grab the garly adopiers
and build the initial momentum. Industry
estimates project that advertising spends by
online firms into TV in the past 2 years have
grown by a massive 445%, out of which nearly
half is coming from e-commerce players.
They have also gone ahead and dgne a nux:nber of
workshop on social networking, 1n reco gnition .of
the customer insight that people know somal
media, but do not know how to sse it for
pro fessional networks. The ApnaCircle team
visits schools and also conducts & number of HR
activities in companies. They have been a well-
renowned part of ApnaCircle-APREE' 2010,
where communication professionals from d.lffel‘el.lt
verticals came {ogether on one platform 1n 2 bid
to enhance networking with brands, industry and
competitors. Recently, they also 1z1lur1che'c(1i
applications for Android or Blackbe.rr.y, in a bl
to widen the professional opportunities for the
company’s user base. Its customers can make
use of features like applications updates, status,
profiles, discussions, connections, inbox and
jnvitations. - _
Technology companies typically operat'e in
environments that are exciting and challenging at
the same time, and it is important 10 have a v&'/ork
culture that adapts will to this mileu. Sn__lce
Yogésh has been solely in charge of taking
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ApnaCircle from inception to its present state,
the work culture in the organisation has a strong
correlation with his personal traits as a leader. “]
am a Gen Y entrepreneur”, says Yogesh, and |
believe in open v relaxed communication with
my term., He’d rather have his team come to him
with the solution to a problem and not ‘the
problem’” alone! He encourages innovative ideas
from his staff and believes in providing them with
the space, ground and values to be able to think.

Since the brand’s inception in 2007, ApnaCircle
has endeavoured to set itself apart. Interestingly,
it really achieved that goal in a big way after its
merger with professional social networking giants
Viadeo from Europe and Tianji from China in
2009. That enabled ApnaCircle to take its reach
to professionals worldwide. The merger was
done to achieve what the company calls critical
mass, which is deemed very important for a
social networking site. Basically, more and more
people have to see and realise that their close
friends and acquaintances are also using that
particular social networking website, which can
result in tremendous momentum in terms of new
user additions. Indeed, a lot of local social
networking start ups have failed to deliver on
their business mdoels despite low start up costs
because of their inability to have a critical mass.

The combine further acquired Canadian professional
networking company Unyk in 2010 to further
extend the reach for Indian users.

The 2.0 domain is currently witnessing a wave of
e-commerce websites. This means two things for
ApnaCircle—a good future for the web industry in
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India and stiff competition. “In a dynamic wet;
market  like India, cultural Qynammm anc
demographic environment are varie b 5
constant challenge for us to‘overcome ,t}faryr/l
Yogesh. Just like search engines be_fo‘re em,
social networking sites are reah_smg hat
localisation is becoming increasingly imperative

d and this is a

that

1 the global
beyond what is referred to as ‘
o lation. # natively, they are also looking at

opulation. Alter ! .
Ileicf)he areas to explore and excel 1. Indeed, while

it has achieved global scale, going local and
finding new business opportunities {which may
also be niche) in the space aheaq of competltlfytn
will keep players like ApnaCircle.com quite

occupied for the next few years.

Questions :

(a) ApnaCircle.com core team conduct‘ed
brainstorming before naming. How brain-
storming is helpful in positioning of

10
company? '

(b) How Application Programming Interface
(AP]) is Contributing Collaborative Knowledge
Management System (CKMS)? 10

(c) Justify the role of knowledge manageme.nt
system while formulating marketing strategles
of ApnaCircle.com. 10

Unit-1
How knowledge and information are correlated

and practically constitute in knowledge organization

10
cycle?
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How can different types of knowledge tracked,
stored and made available for use throughout an
‘organization? 10
Unit-I1
Compare the effectiveness of knowledge capture
technique  through concept maps and
organizational storytelling. 10
Describe each layer of KM system architecture.
Give a mapping to relate KM ‘layers with tacit
and explicit conversion given by Nonaka and
Takeuchi (1995). 10
Unit-IlT
What are the points to be considered by
knowledge developer while knowledge codification
process? Discuss some tools of knowledge
codification. 10
Explain the procedure involved in designing the
KM team. How knowledge management team is
helpful in transfer knowledge efficiently? 10
Unit-1V
Briefly explain the features of data warchousing,
data mining and business process restructuring
(BPR). 10
Discuss in detail the influence of web portals,
business intelligence and information architecture

in implementing of KM. 10
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M. B. A. (Fourth Semester) Examination, 2012
Corporate Evolution and Strategic Management
(CP-401)

Time Allowed : Three Hours

Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is
compulsory. In addition answer one question from

each Unit.

L. Answer the following questions based on the attached
casestudy:

(a) Why had the merger made good business sense

mitially ? 10

(b) Why could the planned synergies be not

 achieved? 10

(c) Whatstrategic optionscan now be considered 710




2

Unit-I
2. What factors would be relevant in deciding which
value chain activities to perform internally and which

to outsource ? 10

3. What factors affect resource allocation and how can

we aligh resource allocation to strategy ? 10

Unit-II

4. When should someone form outside the company be

hired to manage the company or one of its business *
units ? In what ways can such a person aim to achieve
synergy between the various functions and business

units ? 10

5. How does organizational inertia prevent ap
organization from responding effectively to adapt its

organization structure to the changing requirements

of it strategies ? 10

Unit- 111
6. Describe the roles that the directors on the board of an
organization play instrate gic management.' 10

-MS-3188
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-management salaries. But American CEOs were rewarded handsomely: Faton earned a total
compensation of $10.9 million in 1997, Complications would arise if an American manager posted at
Stuttgart ended up reporting to a German manager who was earning half his salary. Chrysier could
cut pay only at the risk of losing its talented managers. Schrempp mooted the idea of overcoming
the problem through a low basic salary and high performance-based bonus, unlike anything seen in
Europe. Base pay would be lower than what Germans were used to, but the pay structure would
have mare variables such as stock options (an Amerlcan feature),

Germans and Americans also had different working styles. The Germans were used to lengthy
reports and extended discussions. On the other hand, the Americans performed little paperwork and
liked to keep their meetings short. Americans favored fast-paced trial-and-error experimentation,
whereas Germans drew up painstakingly detaited plans and implemented them precisely. In general,
the Germans perceived the Americans as "chaotic" while the Americans felt that the Germans were
stubborn "militarists."

Chrysler managers believed in spotting opportunities and going for them. However, post merger,
they were trapped in the German style of planning, constantly heing told what to do. Steve Harris,
Chrysler's former communications chief {(who defected to General Motors) commented, "The
Germans played literally by the book—theirs. You'd go intc a meeting and have to turn to Volume 7,
Section 42, page 597." The Germans prided themselves on analytical research that produced a plan,
while the Americans reached for the impossible and kept coming up with new ideas to achieve these
"impassible” goals.

Before the merger, Dalmler-Benz was known for its top-down management approach, Chrysler, by
contrast, seemed to be a humble collection of colorful consensus managers. DCX claimed that the
merger process wottd be compiete in twveive moriths, However, analysts felt that the authoritarian
mmqamz management methods would prove .moqmmm..._ to the non-hierarchical style at Chrysler making
the integration of the two cultures difficult. From the start, the cultural differences made DCX's post-
marriage period of adjustment difficuit. No sooner was the merger announced, Schrempp started
issuing reams of organizational flow charts te the employees. Every phase was given titles like
"synergy tracking;" and every group had its weekly meeting schedule. DCX also set up a "post-
merger integration” (PMi) structure in which “issue-resolution teams" were assigned to push and
cajole their counterparts into combining everything from supplies to research. Every time there was
disagreement, the integration process for that group was halted until a sclution was found.

DCX took several initiatives to bring the two cultures closer, Press reports indicated that in Stuttgart,
the more formal Germans were experimenting with casual dress. The Germans were also taking
classes on cultural awareness. The Americans at DCX were encouraged to make more specific plans,
while the Germans were urged to experiment more freely.

Analysts felt that there were many indications that the Americans and the Germans might come
closer. The Americans were impressed by their German counterparts' skifl with the English language
{though they tried to cut down on slang to simplify speech when the Germans were in town). To
reciprocate, many Americans were taking lessons in German. When the DCX stock began trading on
November 17, 1998, German workers celebrated with American-styfe cheerleaders, a country-
western band called The Hillbillies, doughnuts and corn on the cob. At a Detroit piano bar, the
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9.

3)

List and review the various techniques for strategics
10

evaluation and control.
Unit- 1V

Is corporate culture an ally or obstacle to strategy

execution ? How can a strong fit between strategy and
10

culture be ensured ?

Despite liberalization, a majority of industries are

largely regulated, what implications does this have for
10

strategy implementation ?
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M. B. A, (Fourth Semester) Examination, 2012
Business Legislations
(MM-402)
Time Allowed : T?:ree. Hours

Maximum Marks : 70

Note: Question No. 1 is compulsory and carries 30 marks.,

- Answer one question from each Unit carrying 10

marks each.

1. Read the cases given hereunder and answer the
questions given at the end of each case : 10%x3=30
Case-1

An applicant approached an organization - notified by
a State Government in the Official Gazette as a
“Intelligence and Security Organization” - with an RTI
| application. The applicant approached the designated

PIO of that organization and asked for information




(2)

that he claimed pertained to violation of his human

right. At first, the PIO responded saying that the public

authority concerned is not bound to give the
information. When told that even an exempted
organization has to give information pertaining to

Human Rights Violation, the PIO argued that he was

not convinced that thé information involved human

right violation. The applicant mentioned to the PIO
that he is well-versed with the provisions of the RTI

Act, 2005 and that he will not hesitate to pursue his

case not just with the Information Commission

concerned, but if need be he’d go all the way to the

Supreme Court. Hearing this, the P10 felt that it would

be 0. k. to give information to the applicant right away

toavold any further hassles. In fact, the First Appellate

Authority too had asked the P10 to do so.

(a) Is the applicant right in thinking that he can go
all the way to the Supreme Court seeking a
remedy if he is not satisfied, because he thinks
that the information he is seeking pertains to a
violation of his human right ? Why do you think

S0 ?

MS-3189
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Case-2

Anita has enrolled for the P. G Diploma in
Management offered by XPDMI Institute affiliated to
a XYZ University, which receives funds from the
University Grants Commission. The final
exantination for.the students in their second year is
conducted by the University, even though the mid-
term exams are the responsibility of the Institute-
whichis a privately funded entity. The institute has to
submit all relevant records about the mid-term
examinations to the University. Anita wants to know
about the norms laid down for evaluating the answer
sheets of one of her mid-term examination papers and
submits an RTI application to the Principal. The
management telis her that the institute is a private
entity and it not bound by RTT Act, 2005.

A friend suggests that she should apply to the P1O of
the University and that there is a chance that she might
get the relevant information. The friend also suggests
that she should first find out if the information she is

looking for is disclosed proactively by the university.

MS-3189
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(b) Is Anita’s friend’s advice correct ? What
provisions of the RTI Act, 2005 appiy ? Answer
In your own words.
Case-3
Rajaram, a rickshaw-pulier, met with an accident and
was admitted to. hospital run by a State Government.
Rajaram is a BPL person eligible for free treatment.
The treatment commenced on time, but over a period
of a week, Rajaram’s condition worsened. Rajaram’s
wife sensed neglect on the part of the doctors, whose
visits/rounds had been erratic. Several doses of
medicine prescribed for Rajaram could not be
administered-on-time-because the hospital’s medical
store had run out of stock of the required medicine.
Finally, in exasperation, Rajaram’s wife, with
assistance from a local NGO, filed an RTI application
asking for: the stated policy of the hospital for
determining the schedule of the doctors visits/rounds;
copies of the register of their visits/rounds for the
week that Rajaram had undergone treatment; an

account of the medications prescribed for and / or

MS-3189
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administered on Rajaram by the hospital's doctors till
date; the hospital’s policy on procurement of
medicines; and the stock register of the medical store
for the past month (with regard to the medicines
prescribed for Rajaram). In her RTI application she
claimed that the information pertained to Rajaram’s
life. The P10 rejected the RTI applicatioﬁ saying that
giving information about the doctors’ visits, their
prescriptions etc. can lead to people questioning the
doctors’ judgement, which can adversely affect their
functioning. Therefore, such information is exempted
and cannot be given. With respect to the other
information sought he added that he belonged to the
‘personnel section’ of the hospital and cannot be
expected to give information about procurement of
medicines which is a duty handled by another section.
{¢) Do you think the PIO is right in rejecting the
request ? Has the P1O failed in discharging his
duty in one way or the other ? If yes, why ? Ifno,
why ? Explain, in your own words reference to

therelevantprovisions of the RTI Act, 2005.

MS-3189
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Unit-T

2. What do you mean by business legislation ? Explain
the objectives and moral duties under business

legislation. 10

3. What is a bill of exchange ? State its' essential

characteristics. How does a promissory note differ

fromabill of exchange ? 10
Unit-IT
4. What are the objects which the Consumer Protection

Act, 1986 seeks to achieve ? Examine the rights of a
consumer enshrined under the Consumer Protection
Act, 1986. 10

5. What are the power of “Cyber Appellate Tribunal”
under the Information Technology Act, 2000 ?

Discuss. 10
Unie-TTT

6. Define contract. What are the essential elements of a

valid contract ? Explain. _ 10

MS-3189
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What are the provisions of the Indian Partnership Act
with regard to the admission of a minor into the
partnership ? What will be his rights and liabilities
during his minority and after he has attained the

majority ? 10

Unit-IV
Define Company. What is the difference between

partnership and acompany ? 10

What do you mean by Articles of Association and
Memorandum of Association ? Discuss the

relationship of Articles and Memorandum. 10
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M. B. A. (Fourth Semester) Examination, 2012

Planning and Managing Retail Business

Time Allowed : Three Hours
Maximum Marks - 70

Note: Answer Five questions in all. Question No. 1 is
compulsory. Answer one question from each Unit.

1. Read the case given below and answer the questions
that follow : 10x3=30
Case
It was hyped as India’s first supermarket chain. Barely
seven years later, the Nanz chain of food and grocery
stores was put in cold storage. The Nanz story shows
that a combination of internationally successful
people or organizations needs not translate into
another success. The Nandas, Helmut Nanz-head of
the multibillion-dollar German retail chain - and Don
Marsh, CEO of the US convenience store major,
village pantry, have all been successful in their own
fields. These three were equal co-promoters of the
Nanz store in India. They also supervised its closure.
In 1997, the chain had projected a turmover of Rs. 100
crore. By 1999, however, its seven stores managed to
scrape together a turnover of Rs. 20 crore. Of profit,
- -there has never been a sign. Today, Nanz is a case




)

study of how mnot to operate a retail chain. In
retrospect, the Nanz management failed on all counts.
[t failed to do its homework, a fact that affected both
its cost structures and its target market. It also failedin
the most crucial element of the retailing business : of
building effective partnerships with its vendors to
ensure an efficient supply chain. “The reason Nanz
failed was because the stores were built on the lines of
the promoters egos and not with consumer needs in
mind,” says a former senior executive of Nanz Food
Products.

The problems began right from the groundwork -
literally. Nanz chose to start its chain in Delhi, where
the Indian promoters, the Nandas, are based. But this
proved to be a bad decision because of crippling real
estate prices. “‘Real estate was the mainkiller,” admits
B. R. Kapoor, executive director, Goetze (India) Ltd.
the Nanda Group Company backing Nanz Food
Products Ltd. Contrast this with the RPG group’s
Food World, which set up shop in Bangalore,
Hyderabad, Chennai and Pune, where real estate
prices are almost a quarter of those in Delli. Foroneof
its outlets in Delhi’s Greater Kailash locality, Nanz
was paying as much as Rs. 5 lakh for its 10,000 square
foot space in 1993. Thus, at Nanz, rent accounted for
as much as four to five percent of the gross margins.
Apart from real estate says Kapoor; “three percent of
gross margin was used up in paying of power bill”.
Manpower costs were also high. “If you take around
four percent of the margin for paying manpower, that
leaves very little,” he adds.
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This pinched, because Nanz’s margins were pretty
low-Kapoor argues that gross margins in food and
retailing can only go as high as 14 percent. But real
estate proved a bigger killer than Nanz had bargained
for. The first Nanz outlet was opened in May1993, in
South Extension in Delhi. Within a year, it was
attracting 2000 customers per day. The dream run
came to a sudden halt halt when the municipal
corporation of Delhi razed the building. Apparently,
Nanz had violated building by laws by taking a lease
on residential property. Kapoor claims that the Nanz
management was unaware of these irregularities; it
had merely leased the property from parties who
owned the real estate. Also, he says, MCD did not
follow a consistent policy. Though it demolished the
Nanz outlet in South Extension, it did not touch the
surrounding buildings whichwere alsoillegal, he alleges.
This may be true, but the experience should have
taught Nanz a basic lesson — that it needed to do its
homework before it signed a lease. It didn’t. In 1998 a
part of the Nanz outlet on Pusa Road was also
demolished because the builder had taken up more
area that was permitted. Meanwhile, Nanz had
another bigger problem on its hands - the lack of a
market. When Nanz Food Products was formed in
1993, the supermarket concept was in its infancy.
Though retail activity had started in the mid-eighties,
players like Nilgiri & Foodland were restricted to the
south and west. The first shopper’s stop outlet opened
in Mumbai in 1991. Nanz was the {irst major food and
grocery retail store chain in northern India. It was,

MS-3190
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therefore, in direct competitionwith the Kirana shops,
which have three distinctive advantages - proximity,
service (they offer such conveniences as home delivery)
and high marginsdue to low infrastructure costs.

Nanz’s glitzy ambience may have been in keeping
with the promoters’ aim of providing an international
shopping experience, but it failed to lure middle class
and lower middle class consumers, who would help
generate the volumes to partially neutralize the high
overheads. “While some consumiers might feel at
home in the puscale ambience, many others stayed
away. They felt that their Kirana store offered better
bargains. At least it wouldn’t charge them for the air
conditioning,” says a former senior executive of Nanz
Food Products. Not suprisingly, Nanz began to have
difficulty in expanding volumes. For instance, the
average footfall in the Nanz store at the Greater
Kaitash Complex, was 300 to 500 per day. The
“Basket size” - the average purchase per person - was
a substantial Rs. 600 to Rs. 700. But analysts believe
that if Nanz had targetted the mass segment, the daily
traffic could have risen to Rs. 800. While the basket
size would have come down, the total revenue would
have increased.

To be fair, Nanz did try to rectify this by setting up
“LoBill” stores - no frill stores to 1000 to 2000 square
feet, to increase its consumer base. These stores were
opened i such middle class “catchment area™ as
Noida, Shahadara and Karol Bagh, in 1994. This
format was extended in December 1996, when Nanz
established six sub-1000 square foot stores, called
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“Kiryana from Nanz”. However, by 1997, two of
these had shut down. The reason: Nanz kiryana stores
did not offer sufficient price differentials from the
neighbourhood shops, so, most consumers continued
to do their shopping elsewhere. If this was one
deterrent for customers, Nanz did little to strengthen
customer relationships in a durable manner. Where,
for instance, shoppers’s stop has an energetic loyalty
programme, Nanz launched special promos and went
in for some aggressive advertising. The problem was
that these efforts were rarely consistent. Nanz would
step up its media presence during the fag end of one
month and the beginning of another (from 25th of one
month to the 10th of the next month) However, such
measures only brought temporary relief.
Partnerships, in fact, were a major source of failure.
Nanz was trying to flight the general perception that a
supermarket or branded store need not necessarily
charge higher prices. Retail chains and supermarkets
are successful abroad because people associate them
with economy. Apart from stringent cost controls per
square foot of management space, a crucial elements
to success lies in cost efficiencies in supply
management and bulk sourcing. Nanz didn’t do this.
Typically, retailers source directly from manufacturers,
instead of from distributors. By cutting out one link in
the chain, they are able to negotiate bulk discounts.”
Kapoor blames manufacturers and large multinationals
for not supplying directly, and at discounts, due to
which the chain was forced to source from
distributors. But a former employee says that Nanz
did get direct supplies from some companies like
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© Nestle and Colgate, among others, but was unable to
‘capitalize on this because it never attained the
volumes needed to negotiate significant discounts.
A basic lack of vigilance added to the management’s
woes. One major problem was a high degree of
pilferage-as much as six per cent of the total turnover.
“We managed to bring it down to three per cent,” says
Kapoor. “We had to depend on manual supervision.”
“We did not have close circuit TVs in the stores. That
is why we could not bring the pilferage level lower,”
he adds. Frisking customers was ruled out as an option
since that would have put off people. The lax
standards at the store level were a direct reflection of
the management, which was constantly in flux. In a
short span of eight years, Nanz Food Products had six
CEQs. The first CEO was a German, Andreas
Blankenhomn. Afier a two-year tenure, Daljit Walia
succeeded him. Both Walia and his successor, General
S. Mehra both were seconded by Escorts- were
superannuated. VT Bajaj took over for a short period.
In mid-99, Sarabjit Ghose succeeded him. In mid
2000. S. K. Manchanda, then head of merchandising,
took over as the acting CEO, when Ghose resigned.
Despite numerous troubles, Nanz continued to open
new outlets and appoint franchisces at an alarming
rate. By November 1997, ithad 23 outlets in Delhi, its
surrounding areas and Punjab, which included ten
franchisces. However, within a year, Nanz decided to
jettison its franchising route and fall back on 1its
original formula of expanding through its company
outlets. This change in plans was necessary because
franchisees were loosing interest. They were not
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benefitting, say SOUICes, Franchisees felt' th.at they
could get supplies directly from the d1st1.'1butors.
Sourcing products from Nanz reduced thelr_proﬁt
margins. By 1998, the Nanz supermarket chain had
come down to 18 stores. Also, carlier targets of
opening 50 stores and achieving a turnover of Rs_. 100
crore by 1999, were proving o be increasingly
difficult to achieve. By 2001, the number of stores had

dropped to seven - three in Delhi and one n

Faridabad, Noida, Ghaziabad and Patiala, respectively.

Indeed, some ofthe stores were close to breaking even

on the back of large volumes.

To be fair, part of the reason Nanz was puton the biock

is that is no longer has a fit with the promoters’ overa'll

plans. Nanz of Germany was exiting the retail chain
business. The Nandas were going through tough
times. In April, 2000, they sold their 24 per cent stake
in the two-wheeler company Escorts Yamaha Motor

Ltd. to the Japanese partner, in as Rs. 230 crore dea.l.

In the end, however, Nanz failed on the most basic

issues. The problem was not that it was ahead of its

times. It simply did not have a propet plan and
business model.

Questions : .

(a) Which are the key factors to be taken into
consideration while setting up a supermarket/
departmental retail chain operation?

(b) What is the growth strategy that should .be
adopted by a supermarket chainina country like
India? o

(¢) Nanz was said to be an idea before its time - how
could Nanz have used the firstmover advantage

toits benefit?
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Unit-1 10
Discuss the global retail scenario. What future do you
predict for the retail business ?

What are the main characteristics of Indian retail
industry ?

Unit-11 10
Differentiate between service and merchandise
retailers. Which are the major nonstore channels ?
Discuss their role in Indian retail market.

Explain the environmental, cyclical and conflict
theories of retail development.

Unit-IiIT 10
What factors do retailers constder when evaluating an
area the locate new stores ? How do retailers
determine the trade area fora store ?

What are the various layout options available to a
retail organization ?

Unit-1V 10
Analyze the various types of retail pricing objectives.
Discuss any three pricing strategies in retailing.

What is a traffic flow and how is it analyzed ? What is
its relevance to a retail organization ?
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M. B. A. (Fourth Semester) Examination, 2012
International Marketing
Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is

compulsory. In addition attempt one question from

each Unit,
l. Study the following case and answer the questions
givenattheend: 10%3=30

Karlstein GmbH was formed some twenty years ago
by a metal processing manufacturer based in Hanover,
Germany. |

The company manufactures bathroom fixtures and
fittings, principally for plumbing application
(including taps, joints and shower fittings).

A wide range of end users exists, including domestic

householders and industrial/institutional buyers.




2)

In the last year the company achieved market shares of
36 percent in Germany, 10 percent in France and 3
percent in U. K. In addition 5 percent of tofal
production was shipped to a major wholesaler in
Singapore. Total turnover exceeds 150 millions
Euros.

The wide range of fittings varies in size, style, colour,
metal and plastic finishing to occupy boitom and top
end market positions.

A feasibility study has recently been completied to
assess the potential of the Indian market. Encouraging
results have now stimulated the company to persue
actively the Indian market with a target date for entry
in ten months time.

Questions :

(a) Prepare a SWOT profile of the company with -

regard to its plans of entering Indian Market ?

(b) Advise the company of the options open to
achieve Indian market entry.

(c) Select and justify a method of market entry and
give a detailed account of the physical

distributory implications.

~ MS-3191
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Unit-I
“In one sense, international marketing does not differ
from domestic marketing as it involves the same basic
marketing tools, concepts, techniques etc.
Differences arise in terms of the applications of these
fundameﬁtal domestic marketing practices to
international markets which are characterized by the
complex environmental differences and conditions.”

Critically evaluate. 10

Why should an international marketer be concerned
with the study of culture ? Discuss with suitable

examples. 10

Unit-IT
Discuss the various types of credits available to Indian
exporters. Do you think that these credits are adequate
to boost the Indian exports ? Explain your view

point. 10

Discuss the specific services and facilities being offered
by the government to Indian firms for improving their

international marketing programme. 10
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Unit- [i7
What is an export order ? Discuss in brief the various

stagesinvolved in the processing of an exportorder. 10

Write short notes on any twoofthe following :5x2=1 o
{a) Billof lading

(b) Billofexchan ge

(¢) Letter of credit

(d) GR form.

Unit-1V
Briefly explain the components of international
advertising strategy. What are the relative advantages
of standardization and adaptation of an international

advertising programme ? 10
Describe in brief the various channels of distribution

used in export markets, Which one would You suggest

for productofa small many facturer ? Give reasons. 10
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M. B. A. (Fourth Semester) Examination, 2012
Marketing for Non-Profit Organizations
(MM-413)

Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. ! is

compulsory. Attempt one question from each Unit.

1. Read the following case and answer the questions
givenintheend ofcase : 10%x3=30
Sujadpur Panchayat Hospital had a strange problem.
Its very dramatic improvement at the hands of its
young doctor in charge, Dr. Ansari, was causing it
difficulties. The hospital belonged to a Panchayat in
Haripradesh India. It was in a state of disuse two years
ago when Dr. Ansari was offered the position of
heading it. Within two years he had improved its

upkeep so much that patients were swarming to it
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now. Many well-to-do patients, out of gratitude to him
for his treatment, donated money and equipment.
Many manufacturing companies also donated
equipment as it was a good advertisement for them.
He preferred to get the donations in kind rather than in
cash as the latter went into the coffers of the
municipality and he found it difficult to get it back for
use for the hospital. “Donations for the hospital could
be shown as used up in clearing some gutter, even if
" the work is never done physically.”, he said.

Dr. Ansari fixed tentative charges in the hospital. He
charged higher amounts from the rich and charged
less from the poor. When the elected members of the
panchayat came to see all this, “They often seﬁt
patients to them, whom they were interested in and
asked him to waive the fees and charges. This source
of patronage appeared to enhance their position in the
eyes of their firends. They also started eyeing the
purchases of equipment, medicine and other supplies,

for a cut for themselves,” said Dr. Ansari.

MS-3192
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Dr. Ansari got some students from the Badami
Institute of Management to calculate the cost of the
various services he was offering. They did a rough
ABC costing and gave him the figures. They also
suggested improvements in inventory management
which drastically reduced stock outs and reduced
costs. All this resulted in a near :;aurplus situation for
the bospital. With some more effort he could make
itself sufﬁcient and therefore totally autonomous.
Armed with these figures he attended the panchayat
policy meeting where all his critics were trying to
shoot him down. Many of them were of the view that
those who pay house tax should be given free
treatment. This meant the poor would be charged and
the rich would get free service. This went against Dr.

Ansari’s philosophy. He thought that the rich should

pay the market rate with some discount being givento

the residents of the panchayat. The poor should be

given a befty discount and this amount should be paid

from tax payer’s money and donations, too, should be

utilized instead of contributing to the general funds of

the panchayat.
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The chairman of the panchayat said, “1 welcome
getting donations from well-wishers, but Dr. Ansari
never asked the panchayat for moneys. These could
have been provided by the panchayat from its own
funds. We have additional powers to spend moneys
under the empowerment due to the 74th amendment
of the India Constitution. ]jr. Ansari need not look
upon us with undue suspicion.”

One of the members mentioned that the so called
empowerment from the 74th amendment had no
practical meaning as recently the law that allowed
panchayats to collect octroi from transporters
bringing in goods into the panchayat had been
annulled. The state government would be
- compensating them for this annulment with a grant.
But this grant could become an excuse to interfere into

the inner working of the pancha)}ats. Similarly,

medical facilities could attract state grants which

would also entail governmental interference.
Thus with the autonomy of the panchayats themselves

in jeopardy, Dr. Ansari wondered how they could

protect the autonomy of his hospital. .Admittedly, )
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autonomy could make it a well run hOSpitél and this

would be an electoral advantage for the politicians.

But predatory tendencies end up in individual gains

for some opportunist.

“I wonder if T have been too suspicious of the intentions

of_ the elected members of the panchayat in my

dealings withthem”, he confessed to the case writer.
duestions:

(.a) If you were the Chairman of the “Panchayat”
what will be your attitude towards the hospital
and Dr. Ansart ?

(b) Assuming the role of Dr. Ansari what
prospective ventures you will further incorporate
for the betterment of the hospital 7

(c) Was the suspicion on part of Dr. Ansari towards

"~ the members of the Panchayat biased or

correctly diagnosed under the circumstances ?

Unit-1
“Successful NPOs value, the interaction their
constituents normally seek for their existence.”

Discussitsimplications. -~ 10
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3. Why is the task of resources allocation more difficult
in NPO as compared to other organizations ? Discuss

some of the issues that the NPO marketer has to

consider at the time of resource allocation. 10
Unit-IT
4. Define social marketing. I's social marketing cffective

in the third world countries where health and literacy

are major concerns ? 10

5. What are the stages involved in developing new
offerings ? How can the innovation adoption process

be applied in launching new offerings in the NPO

scctor ? 10
Unit- 111
6. (a) What are the objective detcrminants of pricing
policy for NPO ?

(b) Under what circumstance should the NPQ
charge for services ? Tllustrate with example

from educationindustry. 5+5=10

7. What customer groups have to be identified at the time

of setting up of old age rehabilitation home ? 10

MS-3192
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Unit-1V
What factors you will consider at the time of preparing

abudget foran orphanage? 10

What communicative strategies vou will adopt at the
time of setting up a social welfare organization
involved with combating the growing menace of

AIDS (Acquired Immunodeficiency Syndrome). 10
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M. B. A. (Fourth Semester) Examination, 2012
E-Commerce
(MM-414)
Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is
compulsory. In addition attempt one question from

each Unit.

1. Answer the following questions based on the attached

case:

(a) Describe the unique features of e-commerce
technology illustrated in this case. 10

(b) How does the web add value to the businesses
for the companies discussed in the case ? 10

(¢) Do you think TPL will continue to grow
steadily ? Why or why not ? What role if any
would the web play ? 10




(2)

Unit-I
2. Describe the five primary revenue models used by

e-commerce firms, giving appropriate examples. 10

3. How 1s the opt-1n mode] of informed consent different
from opt-out model ? Discuss the ethical and social

issuesinvolved. - 10

Unit-11
4. Compare and contrast the capabilities of Wi-Fiand 3G
wireless networks. Which one is more suited for

e-commerce ? 10

5. Why are"web server bandwidth and scalability, key

business issues for e-commerce sites ? 10
Unit- 1T
6. Explain the ten key security threats in e-commerce

and describe how technology helps protect the

security of messages sent over the internet. 10
7. Give five advantages and five disadvantages of using
cash as a form of payment in e-commerce. 10
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MS-3194

M. B. A. (Fourth Semester) Examination, 2012
Brand Management
(MM-415)
Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is
compulsory. In addition attempt one question from

each Unit.
1. Read the following case and answer the questions that
follow : 106x3=30

Case
Brand Extensions of Refrigerators

The Indian refrigerator industry had apparently
reached maturity in the eighties. The introduction
stage could be seen in 1962-66; growth, 1967-80; and
maturity 1981-90. Between 1989-90 and 1990-91,
the market grew by 12 to 12.35 lakh units; in 1992-93
it is estimated to have come down from 12 to 10.39
lakh pieces. Thus, the decline seems to have begun.
Presenily, there are six main competitors in the
refrigerator market in India. The industry seems to
have structure prevailing in monopolistic competition.




)
The product at present available in the market are
under the hrand names of Godrej, Kalvinator, Voltas,
Videocon, BPLand Aflwyn. _
The new entrants to the market like BPL and Videocon
with Jatest ultra modern refrigeration technology have
thrown down the gauntlet to the existing leaders like
Godrej and Kelvinator. A study has heen conducted to
find out what changes have occurred mn consumer
behaviour due to the emergence of these new
challenges, because, for all. One knows; a very tough
competition has recently emerged among the
industrial giants due to which consumer behaviour
has undergone drastic changes. The main purpose of
study is to see how defectors are affecting consumer
hehaviour.
The specific objectives of this study are positioning of
products and hrands, rating to different parameters
and their ranking, consumer’s degree of satisfaction,
estimating ideal capacity and 1deal prices.
Consumer’s perception of price and brand, awareness
of different brands and various sources of information
to the consurmer.
This survey leads to the conclusion, that most of the
people are aware of 165 litre capacity with awareness
of nearly 95%, others are less known to consumers.
The most important parameters for customers while
buying a refrigerator are technology, cooling
efficiency, durability, price, capacity and after-sales
service in that order.

MS-3194
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According to the dealers, the customers consider brand

name, technology, cooling efficiency, durability and

after sales service as very important. Other parameters
like special gift/price, guarantee/warranty are just
important parameters. |

According to the customers BPL, Voltas and Videocon

are high-prices refrigerators; Godrej and Kelvinator,

comparatively low-proces; and Allwyn, medium-priced.

From the dealers’ survey it has been found out

that theideal capacity is 165 litre and the 1deal price

Rs. 7,000-8,000.

Questions :

(a} Due to the emergence of new industrial giants
like BPI. and Videocon, consumer bechaviour
has undergone a sea-change. In what ways ?

(b) Does Godrej need to make any changes in its
refrigerators so as not to lose its market share ?

(¢) Discuss which will be the most effective strategy
according to you that will make consumer brand

loyalin the refrigerator industry.

Unit-1
What do you mean by brand equity ? Describe the

components of brand equity with suitable examples. 10

What do you mean by brand valuation ? Discuss the

methods of brand valuation. 10

MS-3194
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Unit-IT
As a brand manager of any product in a company,
what steps will you take to create brand vatue for your
product ? 10

How would you build a brand ? Explain. 10

Unit- 11
What is meant by brand positioning ? Discuss the
process of developing effective positioning, 10

What do you mean by brand personality ? Do you
agree with the statement “The brand as a friend” ?
Comment. 10

Unit-1V
Critically examine brand extension. Discuss the bases
for brand extension.

What is co-branding ? Explain with examples.

What are the advantages and disadvantages of
co-branding ? 10

MS-3194-4-200
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M. B. A. (Fourth Semester) Examination, 2012
Financial Decisions Analysis
(FM-421)
Time Allowed : Three Hours

Maximum Marks - 70

Note: Answer Five questions in all. Question No. 1 is
‘compulsory. In addition attempt one question from
each Unit. Use of financial/scientific calculator is

permitted.

1. Attemptall parts: 3x10=30
(a) Enumerate factors that support the pecking

order behaviour of finance managers.
(b) The WACC formula seems to imply that debt is
cheaper than equity — that is, a firm with more
debt could use a lower discount rate. Explain

briefly.




(c)

(D
©

()
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Explain, why equity can somctimes have a

positive volue even when the company has

petitioned for bankruptcy.

Project betas are not the same as firm betas.
Explain.

What do you mean by an agency relations.hip ?
Give examples of two agency relationship.

Refer to the following information :

Stock | Correlation coefficient Standard
i iwithp deviation
of i
1 0.3 0.4
2 0.8 0.3

E(r,) = 0.11, rp=0.6 and variance of market

portfolio’s return = 0.25.

Compute betas for :

{i) Stockl

(ii) Stock2

(1ii) A portfolio consisting of 60 percent
invested in stock 1 and 40 percentinvested

in stock 2.

(8)

()

(¥

0

MS-3195
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In part (f) above, compute the équilibrium
expected return according to the cAPM for:
(i) Stockl
(ii) Stock2
(iiiy A portfolio éonsisting of 60 percent
invested in stock 1and 40 percent invesied
instock 2.
Briefly define the following terms :
() Poisonpill
(i) Whiteknight.
What are ‘homemade’ dividends ? Under
what market conditions investors can generate
them? |
Which of the following features could increase
fhe value of a corporate bond ? Which would
reduce its value ?
(1) The borrower has the option to repay the
loan before maturity.
(i) Bondis convertible into shares.
(iii) Bond is secured by a mortgage on real

estate.




4
Unit-I
What are the challenges and problems in the application
of CAPM ininvestment decision-making ? 10

Discuss ‘separation theorem’ along with its utility in
finance. 10

Unit-11
How does inflation affect capital budgeting
decisions ? Discuss with a hypothetical example. 10

Lobears Inc. is considering two investment proposals,
labeled Project A and Project B, with the
characteristics shown in the following table :

ProjectA ProjectB
. Profit | New Profit | Net

Period | Cost after Cash | Cost after Cash
Taxes Flow Taxes | Flow

3 5 $ b 3 3

0 9,000 | — — 12,000y — —
1 1,000 5,000 1,000 | 5,000
2 1,000 4,000 -1,000 { 5,000
3 1,600 3,000 4,000 | 8,000

For each project, compute its average rate of return, its
payback period and its net present value, using a
discountrate of 15 percent. 10

MS-3195
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Unit-HI

(a) Why has ‘share repurchage’ increasejd n
importance relative t0 divideds ? D15011:ss
various methods of share repurchase along with
their relative merits.

(b) Appolo Products Inc. has 8 millio share
outstanding whose current market price 18
Rs. 36 per share. The company wishes to

Find the

n shares

repurchase 1 million shares.

equilibrivm share repurchase price.

Johari Trading Company has 2.4 million shares of

common stock outstanding, and the prescnt market

price per share 1S Rs. 36. Its equity capitalization is as

follows .

Rs.
Common stock Rs. 2.00 per 4,800,000
Additional paid-in-capital 5,900,000
Retained earning 87,300,000
Shareholders’ equity 98,000,000

(a) What would happen to these accounts if the
company were o declare:
(i) al2percentstock dividend
(i) a5 percent stock dividend 7

MS-3195
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(b) What would happen to the accounts if the
company declared (i) a 3 for 2 stock split
(i1) 1 for 4 reverse stock split ? 5+5=10

Unit- 1V
The following data are given for companies Aand B :

Company A Company B

Present earnings

(millions) Rs. 20 Rs. 4
Shares (in millions ) 10 1
Price/earningsratio 18x 10x

(a) If the two companies were to merge and the
cxchange ratio were 1 share of company A for 2
shares of company B, what would be the initial
impact on earnings per share of the two
companies ? Is a merger likely to take place ?

(b) If the exchange ratio were 1 share of company
A for 3 shares of company B, what would
happen to the EPS ? What exchange ratio would
yousuggest ? 5+5=10

Write notes on the following :

(a) Bootstrapping earnings per share
(b) Leveraged buyouts. 5+5=10

MS-3195-6-200




MS-3196

M. B. A. (Fourth Semester) Examination, 2012
Security Analysis & Investment Management
(FP-422)

Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is

compulsory. Attempt one question from each Unit.

1. Write short notes on the following : 3x10=30
(i) = Trading onmargin
(it) Listingofsecurities
(m1) Efficient Market
(iv) Government Securities
(v) Relative strengths
(vi) Portfolio Beta
{vii) Covariance
(viii) Yieldto maturity (YTM)
(ix) Bondduration

(x) Internationaldiversification.




2)

Unit-1
Define investment and distinguish between investment
and speculation. Show that investment decisions are

only a trade off between risk-and return. - 24345

What do you mean by credit rating of securities ?
Explain the various factors that are looked into by the
credit rating agencies to provide credit grade to

different securities. 5+5

Unit-1I
Distinguish between ‘fundamental analysis’ and
technical analysis. Which one would you recommend

to an investor to take proper investment decision. 10

Explain the different investment alternatives available

to an investor with their risk return profile, 10

Unit- 1T ,
Critically examine the Markowitz’s theory of
portfolio selection ? How is the efficient frontier
traced ? Explain. 10

The following information is available about two

equity sharesAand B :

MS-3196
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Securities A B
Expected return 12% - 25%
Standard deviation 3% 9%

()

(i)

(111)

(b)

MS-3196

rap =04
Calculate covariance between the returns of A
and B '
What 1s the expected retun and risk of a .
bortfolio where 60% of the invertible amount in
stack A and remaining in stock B.
If r 5 would have been equal to ~ 1, can you

construct a “zero risk portfolio”? 3+3+4

Unit-1V
Explain in brief the capital asset pricing model
with its assumptions.
The following assets are correctly priced on a

security market line :
R, =9.4%, $,; =028

R, =13.4%, By =1.3.
Compute the return of the market portfolio and
therisk freesrate. Ifthe two securities are combined
in the proportion of .30 and .70 respectively in a
portfolio. What will be the portfolio expected
return and portfolio Beta ? If the desired Beta of
the portfolio is 1.0 in which proportion the two
securities be combined ? 3+3+4=10




9.

4

Discuss the different risk adjusted measure of
portfolio performance vaiuation. Also explain Fama’s
Performance Attribution Model. 10

MS-3196-4-200
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M. B. A. (Fourth Semester) Examination, 2012
International Financial Management
(FP-423)

Time Allowed : Three Hours
Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is
compulsory. In addition answer one question from

each Unit. Use of Financial/Scientific calculator is

permitted.
1. Answer the following questions based on the attached
case study : 10x3=30

(a) Analyse the options before the government in
context of the impossible trinity.

{b) What would be the role of foreign exchange
reserves and gold reserves with RBI in
influencing the decision regarding full
convertibility of the Indian Rupee ? |

. (c) What would be the likely effect of making
Indian Rupee fully convertible ?




@

Unit-I
2. Define foreign exchange exposure. Under what
circumstances can exposure exceed the face value ofa

foreign currency denominated assetor liability? 10

3. What would be the difference between the short term
effect and long term effect of FDI in an export
oriented activity ? Would it make any difference ifthe
FDI is in the manufacturing of a product which was

earlier imported ? 10

Unit-11
4. Explain the concept of interest rate parity. What could
be the reasons for departure from interest rate parity in

practice ? 10

5. The presentratesare:

CHF/INR spot : 25.8740/26.1320

3 months forward : 25.6195/25.9805

3 months INR interest rates : 13.00/15.00

3 months CHF interestrates: 5.75/6.25

Determine whether there is a covered interest

arbitrage opportunity. ' 10
MS-3197 |
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Unit-T1T
6. How could arbitrage take place between forward
exchange contracts and currency futures ? Would this
arbitrage be unprofitable only if the futures and

forward rates were exactly the same? : 10

7. ATFrench exporter to the UK has a 90 days receivable.
He purchases a put option on GBP 250,000 at a strike
of EUR1.7000 per GBP at a premium of EUR 0.02 per
GBP. The current spot rate is GBP/EUR 1.9000 and
the 90 days forward is 1.7500. The interest
opportunity cost for the firm is 5% per annum.

(a) Calculate the maximum GBP/EUR rate at the
end of 90 days below which the firm will make a
net gain, 5
(b) Calcutate the range of maturity spot values over
which the option would be better than the

forward. _ 5

Unit-IV
8. An Indian airline has ordered 20 aircrafts to be
delivered over the next ten years with the payment to
be made in USD at the time of delivery. In the recent
past the INR has been depreciating against the U. S.

Dollar and the market expects this trend to continue.
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However, the finance manager expects the USD/INR
rates to remain flat and range bound. Analyse the pros
and cons among the following hedging options :

(a) Remainuncovered

(b) Partial hedge

(c) Full forward hedge

{d) Optionhedge

(e} Money market hedge. : 10

Suppose a bank sells a call option to a company

making a takeover offer abroad where the offer is

contingent on the takeover offer being accepted.

Suppose the bank reinsures on an options exchange

by buying a call for the same amount of foreign

currency. Consider the following possible scenarios :

(a) The foreign currency appreciates and the
takeover offeris accepted.

(b) The foreign currency appreciates and the
takeover offer is rejected.

(c}) The foreign currency depreciates and the
takeover offer is accepted.

(d) The foreign currency depreciates and the
takeoverofferisrejected.

Describe on who loses and who gains in each of the

scenarios and the source of profitor loss. 10
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MS-3198

M. B. A. (Semester-1V) Examination, 2012

Management Control Systems

Time Aflowed : Three Hours
Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. Attempt one question from each Unit.

Use of Financial/Scientific calculator is permitted.

1. Write short notes on the following : 3x10
(a) Considerations for an optimum transfer pricing
(b) Contingency approach to management control
system
(c) Diagnosticcontrolsystem
(d) Rolling out Budgeting vs. Zero Base Budgeting
(¢) Divisional managers autonomy and problem

of suboptimisation




(2)
(f) Taskcontrol vs. management control system
(g) Costbased vs. market based transfer pricing
(h) Determinants of MCS in an organisation
(1) Fimancial vs. non-financial control systems
(j) Engineered vs. discretionary expenditures and

budgetary considerations.

Unit-1
Discuss the objectives to be realized by the
application of diagnostic systems, interactive
systems, belief systems and boundary systems.
Suggest the appropriate mix of these systems for a

given business firm. 10

Critically evaluate the nature of decisions that are
taken under MCS. Discuss the significance of
organisational culture, structure and human resource

for an effective management control system. 10

Unit-11
What is the significance of responsibility accounting
in divisional performance measurement ? Discuss the

criteria for evaluating that performance. 10

(3)
Prepare a flexible budget at 60, 80 and 100 per cent

capacities from the following information :

Rs.
Fixed expenses 1,49,500
Semivariable expenses at 5(0% capacity 89,500
Variable expenses at 50% capacity 2.67,000

Semmvanable expenses remained constant between
40 and 70 per cent capacity, increase by 10 per cent
between ')'0 and 85 per cent capacity and 15 per cent
between 85 and 100 per cent capacity. Sales at 60 per
cent are Rs. 5,10,000 at 80 per cent capacity Rs.
6,80,000 and at 100 per cent capacity Rs. 8,50,000
(Assume that all products are sold). 10

Unit-T1T

The home appliances division of Benjamin
Industries Ltd. now shows a profit of 5 per cent on
sales of Rs. 12 lakh. An investment of Rs. 4,00,0001s
needed to finance these sales. The management is
considering the following two alternative plans for
improving operations submitted by two employees
E andE,:

(i) E, believes that the sales volume can be

doubled by greater promotional effort. It would
lower the profit rate to 4 per cent of sales and

requirean additionalinvestment of Rs. 1,00,000.
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(ii) E, favours eli(m)in_ating some 'unproﬁt'ab_le
appliances and improving efficiency by adding -
Rs. 2,00,000 in capital equipment. This
alternative would decrease sales volume by 10
per cent but improve the profits rate to 7 per
centofsales,
Which plan if any, will you recommend ? Give

reasons. 10

Why is transfer pricing system needed in an
organisation divided into various autonomous
 divisions ? In what ways can sub-optimisation result
it divisional managers are given full autonomy in

setting, accepting and rejecting transfer prices ? 10

Unit-1V
Enumerate the key control variable of non profit
organisations and state with clear examples how

management control system is exercised in NPQs. 10

Give the characteristics of service organisations and
explain how management controls are exercised in

commercial banks and insurance companies. 10
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Note :

MS-3199
B. A. (Semester-IV) Examination, 2012
FINANCIAL DERIVATIVES |
(FP-425)
Time Allowed : Three Hours

Maximum Marks : 70

Answer Five questions in all. Question No. 1 is
compulsory. In addition answer one question
from each Unit.Use of financial/scientific

calculator is permitted.

Briefly answer the following : 3x10

(i) Discuss the role of Risk-Neutrality in
pricing derivatives.

(i) What is the value of a futures contract at
various points of time?

(i) An American call on a non-dividend paying
stock will never be exercised early. Why?

(iv) What is the lower bound of a European

put?




(2)

(v) What are the assumptions.of Black-Scholes
option pricing model?

(Vi) Assume that the spot price of a particular
stock 1s Rs. 180 and the risk-free interest
.rate is 5%. If a 90 day call option with a

strike price of Rs. 175 on this stock is

trading at Rs. 15 what will the price of a’

put option of the same maturity?
(vit) Define the following :
(a) Index amortizing swap
(b) Diff swap
(¢) Constant maturity swap.
(viii) What is a butterfly spread strategy?
(ix) What do | you mean by covered interest
arbitrage?

(x) - Briefly explain put call-futures parity.
Unit-1

2. What is price sensitivity hedge ratio? How are
the price sensitivity and minimum variance hedge

ratios similar? How do they differ? 10

MS-3199

(3)

3. Critically explain the role of clearing house in

futures trading. Using a suitable example, discuss

the process of daily settlement. 10
Unit-IT
4 {a) What are the advantages of swaps over

(b)

forward rate agreements (FRAs) and

futures contracts? 5

Assuming that AAA wants a floating rate
and BBB wants a fixed rate, design a swap
deal for AAA and BBB in such a way that
it benefits both companies when they face

the following term structures : 5

Fixed Rate Floating Rate

AAA 10% MIBOR +25bp

BBB 12% MIBOR + 75bp

5. What do you mean by a collar strategy? How is it

similar to a bull spread? ' 10
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(4)
Unit-fI1

The current price of a stock is Rs. 90 per share.
The risk free interest rate is 8% (annualised,
continuously compounded). If the volatility of the
stock is 23% ﬁ.a., what is the BSOPM price of
Rs. 80 call option expiring in 6 months? What 1s
the price of a put option? | 10

(a) What is a Contango market? How do we
interpret the cost of carry in a Contango

market? 5

(b) What is a backwardation market? How do
we explain the cost of carry in a backwardation

market? 5

Unit-IV

Critically discuss the role of derivative markets in

the financial system. : 10

Briefly explain the following :

(a) Delta-gamma hedging 5

(b) Assumptions under binomial model. 5
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MS-3200

M. B. A. (Semester-11) (Common Subject)

Examination, 2012
INTERNATIONAL BUSINESS
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. | 1s

compulsory. Attempt four more questions,

selecting one question from each Umnit.

1. Write short notes on the following : 3x10=30
(a) Polycentric approach of international business
(b) Leontief Paradox
(c) Anti-dumping measures
(d) Political environment and international

business.

(¢) FOB and CIF
(f) Commercial invoice




(3]

(2)

(g) Unified or diversified international advertising
strategy

(h) Custom union

(1)  Risk in foreign trade

(j) Product packaging for exports.
Unit-1 , 10

The classical economist feel that the resource are
mobile domestically and immobile internationally.
But neither of the two assumption 1s correct.
Within the country, it 1s difficult for the labour to
niove from one occupation to another, especially
when the job is highly technical. On the contrary,

labour and capital move easily across nation.

In the light of above statement examine the
comparative cost advantage theory and discuss

its limitations.

What pronotional set up exist to promote
exports from India? Discuss the role of
commodity specific institutions and service

institutions in this reference.

MS-3200

6.

(3)
Unit-IT 10

Up to what extent European Union is successful
to achieve its objectives? Write a nole on
functioning of European Union.
What 1s the role of WTO in world trade? How
WTO ensure trade without discrimination among
its member countries? Discuss the dispute
seltlcment mechanism provided by WTO.

Unit-111 10

International marketing research is the most
effective way of making companys operation
sensitive 1o the changing requirement of
international markets. Becausc of increased
availability of published data, many meaningful
considerations and market conditions can now be
analysed solely on the basis of desk based
research.

In the light of above argument how you will
design international market research to bridge the
gap of information not filled through desk
research? Discuss with reference to problems in
collection, analysis and interpretation of data

from foreign market.
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(4)

Discuss the role and significance of trade fairs
and exhibitions in promoting exports. How should

companies plan their participation?

Unit-1V 10

How can exporters obtain export orders from the
foreign markets? Explain in detail the stages

through which any export transaction has to pass.

Outline the major components of India’s trade
basket and write an analytical note on recent

trends in India’s foreign trade.

MS-3200-4-1,100
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MS-3201

M. B. A. (Semester-1I) Examination, 2012
(Common Subject)
Management Accounting
(IMS-022)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1
carrying 30 marks is compulsory. Attempt one
question of 10 marks from each Unit.

1. Givebrief answers to the following : 3x10

{a) Explainthe concept of'value chain in business'.

(b) 'Fixed costs are variable per unit while variable
costs are fixed per unit.' Comment.

(c) 'A management accountant is both an
information provider and a part of
management'. Elucidate.

(d) Distinguish between joint products and

by products with examples.




(2)

(¢) Giveaspecimenof job cost sheet.

(f) Distinguish between marginal costing and
differential costing.

(g) State various steps involved in decision-
makimg,

(hy Why is 'Cost-Volume Profit refationship
important in business management ?

(1) State the suitability of RDI as a tool for
evaluation of divisional performance.

() Statethesignificance ofbudgetary controlin an

organisation.

Unit-f 10
'Management Accounting is an extension of
financial accounting'. Critically examine the
statement and bring out clearly the difference
between management accounting and financial
accounting.

A firm manufactures product X of which selling

price is Rs. 10 per unit. Fixed costs are estimated at

Rs. 30,000 up to the capacity utilisation level of 50%;

Rs. 36,000 above that level but Rs, 42 ,000 ifthe level

of capacity-utilisation is 80% or above,

Required

(a) Whatis the Break-even point ?

(b) What is the level of activity at which the firm
canmake an operating profit of Rs, 18,0007

MS-3201

(3)

(c) What is the margin-of safety, if the firm
manufactures and sells only 6,000 units m a
year due to market constraints ?

(d) Management of the firm is advised that if the
selling price is reduced to Rs. 9 per unit, sales
will go up from 7,000 units to 7,500 units. Is it
worthwhile to reduce the selling price ?

(e) Management of the firm is also advised that
sale of 7,500 units at the present selling price
can also be achieved, if a sum of Rs. 5,000 1s
spent on advertisement. Which alternative-
reducing the selling price to Rs. 9 per untt or
spending Rs. 5,000 on advertisement will

generate morce profit ?

Unit-If 10
Answerany two of the following :
{a}  Distinguish between job costing and process
costing.
(M Discuss the advantages of Activity Based
(Costing,
(¢} Distinguish between allocation, apporlionment

and absorption of factory overheads.
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]

A -product passes through three processes, viz
Process I, Process 11 and Process II1. The following
details are extracted from the costing records of

business for the month ending on April, 2012 :

ProcessI  ProcessII ProcessII
Raw material issued
{15000 units @ Rs, 10) Rs. 150000 - -
OtherMaterialconsumed Rs. 15000 Rs. 22500 Rs. 7500

Direct Labour {Rs.) 75000 120000 97500
Direct Expenses (Rs.) [5750 14250 30150
Normal wastage (%) 3% 0% 10%
Wastage sold ) Rs.

per unit 2.5 50 10.0
Output (units) 14250 13650 12012

General production overheads for the period
amounted to Rs. 29,250. This is to be apportioned to
various processes on the basis of direct labour.
Prepare process cost accounts, abnormal wastage
and abnormal gain accounts assuming that there

wereno opening and closing stocks.

Unit-ITf 10
0. The following particulars are extracted from the
records of a company :
ProductA Product B
Sales {per unit) Rs. 100 Rs. 120
Consumption of Material 2kg (perunit) 3kg(perunit)
MS-3201

5)

. Per Unit Per Unit
Mater‘ialcost(Rs.) T 10 - 15
Direct wages (Rs. ) 15 10
Direct Expenses (Rs.) 5 6
Machine Hours used 3 2
Overhead expenses :

Fixed(Rs.) 5 10
Variable (Rs.) I5 20
Required :

{a) Comment on the profitability of each product
{bothuse the same raw material) when :
{1) totalsalespotential inunits is imited
(11) total sales potential in value is hmited
(1) raw material is inshort supply
(1v) production capacity (in terms of machine
hours)is the limiting factor.
(v) Assuming raw material is the key Factqr,
availability of which is 10,000 kg and
maxinmum sales potential of each product being
3,500 units, find the product nux which will

yield the maximum profit.

7. Navyug Enterprises produces and sells one product in
the southern and northem parts of the country. The
firm normally sells 3,00,000 units of the product per

year atthe following expenses per unit :

MS-3201
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(a) Should the Navyug Enterprises accept or reject

C i Rs.
the offer ?
Costof Goods sold _ (b) Would your answer change, if Navyug
Direct material ‘ 3.20 Enterprises maintained the same factory
Direet labour 435 overhead costs but was able to rent its idle plant
_ facilities atRs. 4,00,000 ayear ?
Variable factory overheads 3.10
Fixed factory overheads 2.35 | Unit-IV 10
Other Expenses : 8. The expenses budgeted for production of 10,000
Variable selling expenses 1.35 units in a factory are furnished below :
Fixed administration overheads 1.65 ' Perunit
15.00 Rs.
Navyug receives an offer from Newlight Ltd. that it Materal 70
would produce for Navyug's customers in the Labour 23
Northern market at an expense of Rs. 14.50 per unit. Variable overheads 20
In such a case, Navyug would merely forward its Fixed overheads (Rs. 1,00,000) 1o
) , S Variable Expenses (direct) 5
Northern sales orders to Newlight. Tt would still bijl .
. Selling Expenses (10% fixed) 13
the Northern customers at a regular price and collect . s
Distribution Expenses (20% fixed) 7

all receivables. 1f Navyug Enterprises were iv S
T P \ Administration Expenses

accept this offer, total fixed factory overheads (Rs. 50,000) 5

id d by 30% conse j g ;
would be reduced by 30% consequently upon the Prepare a Budget for production of 6,000 and 8,000
production of 2,00,000 units and variable seliing .
units. (Administration overhead cxpenses are fixed
expenses would be cul by 40% on the sale of -
1,00,000 units ;

MS-3201 MS-3201
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The standard costs of a certain chemical mixture is :
35% MaterialsAatRs. 25 perkg
65% Materials B at Rs. 36 perkg
A standard loss of 5% is expected in production.
During a period the following materials arc used :
125 kgs of Material A @ Rs. 27 perkg
27.5 kgs of Material B@Rs. 34 perkg

The actual output was 365 kgs Find out material

variances.
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Note :

MS-3202
B. A. (Semester-11) Examination, 2012

(Common Subject)
Financial Management
(IMS-023)

Time Allowed : Three Hours

Maximum Marks : 70

Answer Five questions in all, Question No. 1 is
compulsory carries 30 marks. Attempt one

question of 10 marks from each Unit.

Answer all the parts of this question. Each part

carrie‘s 3 marks : 3x10

(a) Describe the scope of Financial Management.

(b) Mr. K. deposits ¥ 10,000 at the end of
every year in “Samriddhi Deposit” scheme
of a bank for six years. The interest is
compounded @ 10% p.a. Compute the
maturity value of the deposit.

(¢) State the advantages and limitations of

payback period method.




(d)

()
%)

(8)

(h)

@

@
MS-3202

(2)

The 1nitial cash outlay of a project is
¥ 1,25,000. The expected cash flows
during its economic life of four years are :
¥ 40,000; < 50,000, ¥ 60,000 and
T 30,000 respectively. The cost of capital
1s 10%. Compute the profitability index.
Define operating leverage.

Explain in brief the sources of short-term
financing. |

M. Ltd. expects an operati.ng income of
T 2,40,000 during the financial year 2011-
12. Besides equity capital, the company has
also raised funds by issue of 4,000, 12%
debentures of ¥ 100 ecach. The cost of
equity capital is 16%. Find out the value of
firm and overall cost of capital.

Discuss in brief the objectives of
receivables management.

The EPS of Fortune Ltd. is ¥ 6. The

company has paid a dividend of % 3 per

share in current financial year. The internal
rate of return is 12 percent while return
required by shareholders is 15 percent.
Compute the price of equity share by
applying Walter’s model.

Write a note on ‘Sensitivity Analysis’.

(3)

Unit-I

2. {(a) Modern Builders has let out ground floor of

its Multistory Complex on a lease of five
years at an annual rent of ¥ 6,00,000 with
a stipulation that rent will increase by 3%
every year throughout the lease pefiod. The
builders required rate of return is 12%. °
Find out the present value of expected rent.

5
(b) XYZ Ltd. raised a term loan of £ 5,00,000

from SBI for five years in floating rate
system. Under the terms of agreement, the
borrower was liable to pay interest @ 8%
per annum for first three years and
thereafter @ 10% per annum for the
remaining period of agreement. Compute
the total amount payable by borrower if

interest is compounded semi-annuaily. 5

3. “Financial Management is the appendage of the

22

Finance Function.” Comment and state the

objectives of Financial Management. 10

MS-3202




(b)

(4)
Unit-1

Avadh Trading Corperation is evaluatinga ~

project which will cost T 5,00,000 and
would also require an increase in the jeve!l
of inventories and receivables of = 1,00,000
over 1its useful life. The project will
generate additional sales of ¥ 4,00,000 and
will require cash expenses amounting to =
1,090,000 1n each of its fivc years useful life.
The project will be depreciated on =
straight line basis. The corporation is in
50% tax bracket and has a 29% after-tax

cost of capital.
Computc the NPV and IRR of the project. 6

Following data relate to two projects ‘X’
and °Y’ which are under consideration of
PQR Ltd. :

Year

i
. 4

Cash | Certainty Eqiv. | Cash | Certainty Fyiv.

Project *X° Project Y’

Inflows Coefficient ! Inflows Coefliciend

%) (X

6,000 0.9 6,000 0.8
6,000 0.8 7,000 0.7
2,000 0.6 3,000 0.5
2,000 0.5 2,000 04

S
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(3)

Each project requires an initial cash outflow
of ¥ 10,000. Cost of equity is 10%. Advise

which project is better. 4

Define capital budgeting and discuss the

traditional methods of evaluation of capital

budgeting proposals by giving hypothetical

examples. : 10
Unit-TT

(a) Following particulars relate to two companies

Goodluck and Hard Luck Lid. :

Hard Luck

Good Luck
(%) (¥)
Sales 5,00,000 10,00.000
Variable Cost 2,00,000 200,000
Fixed Cost 1,530,000 4.00,000
Interst on Debentures| 50,000 1,00,000
] Profit before tax 1,00,000 2,00,000

Tax @ 40%

Compute @

(i) Operating leverage

(i) Financial leverage

(i) Combined leverage. 6
(b) The capital structure of Young India Ltd. is

as follows :
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(b)

(6)
(T)

3,000 10% Debentures of
T 100 each 3,00,000
1,000 8% Preference shares of
T 100 each 1,00,000
50,000 Equity shares of
T 10 each 5,060,000
Retained Earningé 1,00,000

The company has paid a dividend of ¥ 3
per share 1n equity shares. The current
market price of equity share is ¥ 25. The
corporate tax rate is 40%. Compute
weighted average cost of capital by book
value method. 4
Explain the various sources of long-term
finance. 5
Discuss the NOI approach of capital

structure. 5

Unit-IV

The costing department of ‘Excel Ltd’. has

provided following details about cost of product,

selling price and time lag for managing various

components of working capital :

MS-3202

(a)

(b)
(c)

(d)

(e)

(0
(8)
(h)
(i)

0]
(k)

MS-3202

(7)

Cost of product (per unit) :

T
Cost of Direct Material | 8
Cost of Direct Labour 6
Cost of Overheads (excluding 3
depreciation)

Selling price per unit. 20

Raw materials of stock are kept on average

one month.

Materials are in process, on average half a

month.

Finished goods arc kept in stock on

average one month.

Creedit allowed to customers in two months.
Credit allowed by suppliers is one month.
Lag in payment of wages is 1%2 weeks.

Lag in payment of overhead expenses 18
one month.

25% of the output is sold on cash basis.

The company is required to maintain a

minimum cash balance of T 25,000.




(8)

() During current financial year, the company
1s expecting a level of activity of 1,04,000

units of production.

Prepare a statement showing the working
capital requirements of the company adding
10% margin for contingencies and assuming

that L

(i) atime period of 4 weeks is equivalent

to one month, and

(i) production is carried in evenly
throughout the year and overheads

accrue similarly. 10
Write notes on any two of the following : 5%2

(a) Factors affecting dividend policy of a firm.
(b) Baumol Model of optimum cash balance

(¢) ABC analysis of inventory management.
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MS-3203

M. B. A. (Semestet-ll) (Common Subject)
Examination, 2012

Computer Applications & M.LS.
(IMS-024)
Time Allowed : Three Hours

Maximum Marks - 70

Note : Answer Five questions in all. Question No. 1 1s
- compulsory and carries 30 marks. Attempt one
question from each Unit. These questions carry

equal marks.

1. Answer the following questions in brief:  3x10

(a) Differentiate between primary memory and
secondary memory.

(b) Differentiate between data and information
with suitable examplef.

(c¢) Differentiate between compiler and

interpreter.




(2)

(d) FElaborate ﬁr.mware.'

(e) Explain transaction processi.ng system.

()  What is a payment gateway?

(2) What are various components of information
system?

(h) What is the difference between footer and
footnote?

(i)  What do you understand by Slide Transition?

(i) Give any three importances of using MS-

Excel.
Unit-1
(a) Draw and explain Basic architecture of

computer system. _ 5

(b) What are different types of memories used
in computer system? Also define vartous

memory units. 5

What is a Computer Network? Elaborate and
differentiate between various types of computer

networks. _ 10

MS-3203

(3)
Urnit-IT

(a) What is an operating system? Discuss the

functions of an operating system. 5
(b) FElaborate the concept of DBMS. 5
Write short notes on the following : 2% 4

(a) Mail Merge

(b) Conditional formatting
(c) Cell range

(d) PowerPoint show.

Unie-1TT

Define information system. Elaborate various

classifications of information system. 10

What is a system? Explain elaborating various

types of system. 10
Unit-IV

What is SDLC? Explain various phases of SDLC.
10

MS-3203




(4)
Write short notes on the following : 2¥x4
(a) M-Commerce
(by E-Commerce
(¢) EDI

(d) Business Function Information System.

MS-3203-4-1,100
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MS-3204

M. B. A. (Second Semester) (Common Subject)
Examination, 2012

Production & Operations M'anagement

(IMS-025)

Time Allowed : Three Hours

Maximum Marks : 70

Note : (1} Answer Five questions in all, choosing one

question from each of the four Units.

(i) Question No. 1 is compulsory and carries

30 marks.

(1ii)) All other questions carry 10 marks each.

1. Write short notes on the following : 3x10=30
(a) Production function

(b) Importance of material management




(d)

(e)

)

(g)

(h)

(1)

2. (a)

(b)

MS-3204

(2)

Functions of routing and scheduling

Concept of ABC analysis

Simplification and automation

Advantages of method study

Purpose and application of acceptance
sambling

Advantages of classification and codification
for goods kept 1n store

Principles of material handling

Manflow process chart.
Unit-I

What do you understand by production
management? Discuss its objectives in

modern business. 5

Discuss product type layout, where is it

used. State  its  advantages  and

disadvantages. _ 5

3.0 @
(b)
4 (3
(b)
5. (a)
MS-3204

(3)

Briefly explain the various types of
manufacturing system along with their
merits and demerits. o
Bring out the core responsibilities of

production manager. 4

Unit-1T

Define the term ‘Purchasing’. Explain the
various steps involved in purchasing cycle. 6

List out various functions of purchasing

department. 4
The XYZ company buys 80,000 shipping
container per year. Price of each container
1s Rs. 0.40. Cost of purchase Rs. 80 per
order, cost of holding one container per
year Re. 0.10. Bank rate of interest 15%
including a charge for taxes and insurance.
Find :
(1) The economic order quantity and time
between orders based on 220 working

days per year.



(4)

) N (5)
i) The minium variable cost per year
(i) If the company had been following a
policy of quarterly ordering, w'hat vniett
woul j - -
ould have been the increase in the 6. What are the objectives of product design?
variable cost? '
05t7 6 Explain briefly the various approaches to product
b - . . . .
(b) The following information is provided about - design. 19
the lead time and the demand pattern of a
systemn : 7 Discuss the various factors affecting productivity

(i) Annual requirement 24,000 uits, in a manufacturing firm. With the help of an .

(11) Lead time 10 days Jlustration, explain how to measure productivity. 10

(iti} The '
re are 240 working days per year Unit-IV

(iv} In the past two
years the
use rate has g. (a) Briefly discuss Synthesis Method and Pre-

gone as high as 140 units
per day. ) . .
Y determined Motion Time System (PMTS)

Calculate the ;
requited safety stock and of work measurement along with their

reorder level :
application arcas. 6

(1) Considering normal behaviour of

demand. (b) Calculate the standard production per shift

- L. ' of 8§ hours duration, with the followi data :
.(11) Considering the variations in demand 0 e ing data
during the last two vears. A Observed time per unit=5 minutes,

1
MS-3204 rating factor=120%, total allowance=33 3 % .
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(6)
4
(a) Discuss the elements of TQM concepts. 4

(b) 10 samples (each of size 100) of a component
were inspected. The results of the inspection

are given below :

Sample No. - 112131415

No.of Defectives |2 (04 {3 ({1213

Draw the relevant control chart taking 3 sigma

limits.

MS-3204-6-1,100




MS-3205

M. B. A. (Semester-II) (Common Subject)
Examination, 2012

RESEARCHMETHODOLOGY
(IMS-026)

Time Allowed : Three Hours

Maximﬁm Marks @ 70

Note : (i) Answer Five questions in all. Question No. |
1s compulsory carrying 30 marks. Attempt
one question from each Unit carrying 10

marks.
(i1) Use of simple calculator is allowed.
1. Attempt all the parts : 3x10

(a) Distinguish between Quantitative and

Qualitative Research.

(b) What are the relative advantages and
disadvantages of observation method over

survey method?

(c) What is “incidence rate”? How does it

influence the size of sample?




(d)

(e)
()

(2
(h)

(1)

0]

MS-3205

(2)

Mention some sources of secondary data
which can aid the researcher in business
research.

What are the threats to internal validity of

experimental results?

Differentiate between stratified and quota

sampling.
Prepare a cover page of a research report.

What difficulties a researcher faces with

open ended questions?

A marketer of skates wished to measure the
effect of different prices and packaging
designs on consumer’s perception of quality
of the product. Three kinds of price ($60,
$70, $80) and two kinds of packaging (red,
blue) were fixed for the study.

(1) identify  the

independent  and

dependent variables in this study and
(1)) the levels of independent variables.

What is P-value of test statistic? How is it

used in testing of hypothesis?

(a)

(b)

3. (a)

(b)

(c)

MS-3205

(3)
Unit-f

Explain the difference between management
decision problem and research problem.
State the appropriate research problem for
management decision

ecach of these

probiems.

(1) Should the ‘marketing program of
company be changed?

(ii) Should the compensation package be
changed to motivate the sales force
better? 5

Mention the stepé involved in defining a

research problem. 5

Give an overview of research process using

a process flow chart. 5

State the advantages of statistical designs

over informal experimental designs. 2

Suggest some cases where in-depth

interviews will prove more beneficial than

conducting focus-group interviews. 2%




(6) (7)

(iv) A random sample of 300 consumers Test the hypothesis that there is no rélation
was surveyed, and 84 respondents petween the number of children and the frequency

indicated that they liked the campaign. of purchase at a significance level of 0.05. (Given

Should the campaign be changed? Xg, 0.05 =12.592, X%z, 0.05 =21.026) 10
Why or why not? Use 5% level of
significance. Unit-1V
(Given Zg 05 (two-tailed) = 196, 8. (a) What are the advantages of oral presentation
‘ f t?
Z0.05(one tailed) = 1645 ), ) of research repor 5
(b) Explain the term “Data Preparation”. 5 (b) Describe some pictorial and  graphe
methods of presenting data. 5

7. A company wants to test whether the frequency

of purchase of their brand of a beverage in 9.  Explain any two of the following multivariate

various household varies with a number of analytical procedures : 10
children below 15 years in the families. A survey (i)  Discriminant analysis
of 400 households undertaken for the purpose (i) ANOVA

gives the following results : (i) Factor analysis
111 or analysis.

Frequencyof | Number of children <15 years
Purchase in the household
Uptol 2 3ormore
Twice a month 40 35 30
Onceamonth 30 20 35
Once a quarter 30 30 40
Lessoften 35 40 35

MS-3205 : : MS-3205-7-1,100




MS-3206

M. B. A. (Semester-IV) (Core Paper)
Examination, 2012

(MBA : AB, CM, F&C, HR & IR, 1B, M, MS, RM,
RDM & PTM)

Strategic Management—II
Time Allowed : Three Hours

Maximum Marks - 70

Note : Answer Five questions in all. Question No. 1 is

compulsory. Attempt one question from each

Unit.
I. Read the attached case carefully and answer the
following questions : 6x5=30

(a) “Kodak was not able to anticipate change.”
Comment with respect to the given case.

(b) Explain how Kodak can capitalize upon its
strengths to regain its position.

(c) Can Kodak utilize its core competence and
capabilities to stage a turnaround now?

Critically discuss.




(2)

(d) Suggest integration or diversification

strategics for Kodak.

(e) Explore and suggest the possible strategic
alliances which Kodak can udnertake in

future.
Unit-1
2. “The organization capabilities are an asset if
utilized effectively.”

In view of the above statement discuss the types

of organization capabilities in detail. 10

3. Discuss the relation between the strategy proposed

and its effect on organization structure. 10
Unit-1l
4.  Write short notes on the following : 5+5=10

(a) Sources of Power
(b) Stockholders v/s Stakeholders

5.  Explain the various leadership styles practiced to

compliment behavioral implementation of strategy.
10

MS-32006
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(3)

Kodak started facing difficulties in 1984, when the Japanese firm
Fuji Photo Film Co. invaded on Kodak’s market share as
customers switched to their products after faunching a 400-gpeed
color film that was 20% cheaper than Kodak's. Secondly, during
1980s the company failed to recognize the change i the
enviropment and instead followed and sticked to a business
model that was no longer valid for the post-digital age. After the
nmanagement realized the change and react accordingly but it was
too late,

Kaodak's strength

Kodak's strengily can take seveval forms as 1olhnys:

»  Valuabie intangible assets: Kodak's strengths were its brand
equity and distribution presence. After almost a century of
global leadership in the photographic industry, Kodak
possessed brand recognition and worldwide distribution. Kodak
could bring new products 10 consumers’ attention and to
support these products with one of the world’s best known and
most widely respected brand names as a huge advantage in the
market where technological change created uncertainty for
consumers. Kodak’s brand reputation was supported by its
massive. , worldwide distribution presence — primarily through
retail photography stores, film processors, and professicnal
photographers, _

» Competitive Capabilities: Prior to 19%s Kodak had invested
huge in R&D. Moreover, its centary of innovation and
development of photographic images gave Kodak tremendous
depth of understanding of recording and processing images.
Central to Kodak’s imaging capability was its color
management capability. In the digitizing color and transferring
digital images to paper, Kodak possessed a powerful set of
complementary technologies in sensing. color management and
thermal printing.

o  Market advantage: Through its wider disiribution network, it
has been able to maintain a huge market coverage and

accessibility. It had worldwide distribution presence — primarily
thenneoh wedail %D&b@.ﬂﬁ%ﬂgs T b 1 p
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Strategies of Eastman Kodak
Vertical integration combined with continuous innovation and

product development. Speed is also required cutting cycle times
in manufacturing and product development.

To systematize and accelerate product development and
improve product-launch, quality, Kodak introduced a new
product development methodology called “Manufacturing
Assurance Process” (MAP),

Joint venture with HP, Microsoft to introduce new products that
required in the markel. Collaborate with expert to cabanee the
competency.

Digital strategy was 10 crestte greater cohierence among Kodak's
multiple digital projects.

Previously they had diversification strategy but later Fisher

focus in imaging business.




MS-3207

M. B. A. (Semester-IV) (Core Paper)

Examination, 2012

[MBA : AB, CM, F & C, HR & IR, IBM, MS, RM,

RDM & PTM]

(Organisational Effectiveness and Change)

(IMS-042)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

compulsory and carries 30 marks. Attempt one

question from each Unit carrying 10 marks

each.

1. Write short notes on the following :

(a)
(b)
(c)
(d)

Characteristics of learning organisation.
Lewin’s three step model of change
Process of learning

Constructive vs Destructive stress




(2)
() Sources of power

(f) Components of attitude

(g) Interactionist view of conflict v/s traditional

view of conflict

(h) Team building as a group focussed OD

intervention technique
(i)  Sensitivity training

() ERG Theory.
Unit-I

Compare the strategic constituencies and
competing values approaches to organisational
effectiveness. Discuss their similarities and

dissimilarities.

Elucidate the various phases of organisational

development and their main focal areas. How

does diagonistic phase help in understanding

organisational problems.

(3)
Unit-1l

What do you understand by organisational
learning? On the basis of various dimensions

bring out phases of organisational learning.

Why is organisational change often resisted by
individuals and groups within the organisation?
How can such resistance be prevented or

overcomed?
Unit-1IT

What are the different factors that influence
social perception? Explain how perceptual

selectivity can affect perceptual distortion.

“Work groups don’t exist in 1oslation, they are a

part of larger organisation.”

In the hight of the above statement explain the

behaviour of a work group.

MS-3207 MS-3207




(4)

Unit-1V

"*OCTAPACE’ is a term indicating the eight
steps needed to create a functional organisational

ethos.” Elucidate.

Enumerate the various potential stressors and

their consequences on an individual.

MS-3207-4- 1,100




MS-3208

M. B. A. (C.M.) (Second Semester)
Examination, 2012

Labour Management & Industrial Relation
Time Allowed : Three Hours
Maximum Marks : 70
Note : Answer Five questions in all. Question No. 1 is

compulsory and it carries 30 marks. Attempt

one question from each Unit carrying 10 marks.

1. Write short notes on the following : 3x10
(i)  Unfair labour practices
(1) Retrenchment
(111) Code of discipline
(tv) Lay-off
(v} Concihation
(vi) Closure
(vil) Works Committee

(viit) Joint Management Councils




(2)

(ix) Industrial Democracy

(x) Future of Industrial Relation (IR) in India.
Unit-1

Define the term ‘industrial relations’ and explain

how these can be improved.

Describe the aim and objectives of Trade Unions
(TU). Discuss the growth pattern of Trade

Unions in India.
Unit-11

Explain the concept of strike and indicate
circumstances in which a strike becomes illegal

under the Industrial Disputes Act, 1947.

Discuss the importance of social security in India.
How is social security provided to the employees

in Indian industries?
Unit-1IT

Describe the term ‘collective bargaining’.
Examine the role of collective bargaining in the
settiement of disputes between the management

and workers.

MS-3208

(3)

Discuss the scope and ways of workers’
participation in Indian industries with reference to
participation of workers in management bill
1990.

Unit-IV

Describe the objectives of Employees State
Insurance Act, 1948. State how the Employees
State Insurance Fund is constituted. Enumerate

the purposes for which the fund may be spent.

Discuss the terms of reference of recommendations

of National Commission on Labour.

MS-3208-3-200




MS-3209

M.B.A. (C.M.) (Semester-II) Examination, 2012

Entrepreneurship and New Welfare Planning

Note :

Time Allowed : Three Hours

Maximuni Marks : 70

Answer Five questions in all. Question No. 1 is
compulsory. In additioin attempt one question
from each of the four Units.

Write short notes on the following : 3x10=30

(a) Entrepreneurial Organisation

{b) Tasks of an Entrepreneur

{c) Partial Momentum Strategy

(d) Modes of Financing

(e) Capital Intensive Technology

(f) Creative Invitation

(g) Typology of Entreprencurs

(h) Entrepreneurial Competencies

(1)  Stability Strategy

1)

Venture Capital.




(2)
Unit-f

“Entrepreneurship is nothing but a conversion of
dreams into viable action.” Examine this
statement, highlighting the characteristic features

of entrepreneurship. | 10

“Entrepreneur is not a gambler, he is risk-lover.”
Do you agree? Discuss the features of
Schumpeterian innovative entrepreneurs. Are
they found in underdeveloped economies like

India? Explain. 10

Unit-11
Hindustan Lever Limited (HLL) has evolved a
new strategy to push its most popular detergent
‘Rin’ into the low-cost washing powder segment.
In a month long program in the state of Uttar
Pradesh, “Rin Chamak” challénge centers were
set up in 44 towns, where consumers werc
invited for a live demonstration of ‘Rin’ washing
powder. Consumers could bring their -own dirty
clothes and watch a challenge test, in which ‘Rin’
was pitted against other low-cost washing

powders. “If the other detergents gives us better

MS-3209

(3)

results, we will provide one year’é supply of
‘Rin’ to the consumers”, said Manish Agarwal of
HLL. After analysing the given extract, discuss
the concept of entreprencurial strratégy adopted
by HLL. Examine the major entreprenéuria}
strategies with adequate examples. ' 10

“Singh, Hills and Lumpkin opened opportuﬁity
recognition as a process rather than a o-ne time
‘EBureka’ experience.” Discuss in detail duly
equippéd with appropriate diagram and
examples. _ 10

Unit-HT

What 1s the relationship between entrepreneurial
competencies and entreprencurial success? How
can entreprencurial competencies be measured
and developed. If you were trying to develop
entrepreneurial competencies among rural youth,
what process would you follow? 10

“Identification of business opportunities is the
first essential condition for the entrepreneurship.”
Explain with any case study and also discuss the
factors affecting the identification of business

opportunities. 10

MS-3209
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Unit-IV
In recent years, the intefnet has proven to be a
powerful channel for providing investors with
real-time information about companies. A recent
Roper Starch Worldwide study, in the US,
revealed that 25% of Web users use the int@rnét
to access corporate information, while 18% use it
to access information on finance and investments.
In the light of the aforementioned extract, discuss
how entrepreneurs are making use of information
technology tools for new venture planning. Also
enumerate the changing role of the entrepreneurs

in the current scenario. 10

“A future oriented management strategy could
lead to decisions which prove profitable in the
long run and to the discounting of short-sighted
through immediately profitable measures. What
do you know by growth strategy? Also discuss
its approaches. 10

MS-3209-4-200




MS-3210
M. B. A. (C.M.) Examination, 2012
Management of Creativity & Change
. (CM-041)
Time Allowed : Three Hours
Maximum Marks : 70
Note : Answer Five questions in all. Question No. 1 is
compulsory. In addition attempt one question
from each of the four Units.
1. Write short notes on the following : 3x10
(a) Four types of casual textures/environments
(b) Components of strategy implementation

(c}) 5 phases of business growth : Greiner’s

model
(d) Decision criteria of OD interventions
(¢) Major trends affecting organization design

(f)  Atiributes of a change leader




(2)

(g) Barriers to diffusion of innovation

(h) Difference between mechanistic and creative

organisations
(i) Customer driven organisation
Gy IPR.
Unit-1

Discuss the stages in-creative thinking process.

Mention the characteristics of creative thinkers. 10
What are the barriers to creativity? 10
Unit-IT

Creativity is unique to the “learning organization”.
Discuss the five disciplines as an ideal appfoach

to cultivating creativity is an organization. 10

Innovations are the halimark of a creative
organization. Discuss any two techniques followed

by organizations to promote innovation. 10

MS-3210

(3)

Unit-IIT

(a) What is the importance of organizational
diagnosis? 5

(b) Write briefly on the elements of organizational

design. 5

Organizational diagnosis is ideally carried out at
three levels—organization level, group level and

individual level. Elaborate. 10
Unit-TV

“An intervention is a set of sequenced and
planned actions or events intended to help the
organization increase its effectiveness.” Discuss
the types of interventions an organization can

initiate and implement? 10

What is “change management”? What are the

challenges of change that organizations face

today? 10

MS-3210-3-200




MS-3211
M.B.A.(C.M.) (Semester-1V) Examination, 2012

PERFORMANCE MANAGEMENT
(CM-042)

Time Allowed : Three Hours
Maximum Marks : 70

Note : Attempt Five questions in all. Question No. 1,
which carries 30 marks, is compulsory. Attempt

one question carrying 10 marks from each Unit.

1. Write short notes on the following : 3x10
(a) Performance standard
(b)  Ethics of appraisal
(c) Assessment centre
(d) Critical incident method
(¢) Forced distribution method

(f) Central tendency




(2)

(g) Self appraisal
(h)  Organisational Excelience
{1)  Predictive control

{)) Team performance review.
Unit-I

Describe the process of performance appraisal

and the purposes for which same in done. 10

Distinguish between the following :

(a) Efficiency rating and competency rating 5

(b) Performance management and performance

appraisal. 5
Unit-1T

Define the term ‘management by objectives’
(MBO). How docs 1t differ from traditional
appraisal mecthods? Discuss its advantages and

limitations. 10

Discuss various stpes required to manage under

performers in an organisation. 10

MS-3211

(3)
Unit-111

Describe the process of 360-degree appraisal.
Discuss the requirement of effective

implementation of 360-degree appraisal. 10

Discuss how to give feedback (positive or
negative) so that the employee can use it to

improve his performance. 10
Unit-IV

What 1s feed forward control? Why is it
important to managers? Illustrate feed forward

control through an example. 10

“Performance appraisal as a control mechanism
calls for fundamental changes in the attitude and
bechaviour of the managerial personnel.” Do you
agree with the statement? Support your answer

with arguments. 10
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MS-3212

M. B. A. (C.M.) (Semester-IV)

Examination, 2012
CORPORATE TAX PLAN NING
(CM-045)

Time Allowed - Three Hours

Maximum Marks - 70

Note : Answer Five questions in all. Question No. | ig
compulsory and carries 30 marks. Attempt one
question from each Unit carrying 10 marks
cach.

1. Answer the following questions in brief -

(a) “Tax planning must be supported by an

efficient system of tax management.”

Explain.

(b) Is ‘tax avoidance’ legal? Discuss,

(c)

Distinguish between long-term and short-

term capital gains.




(2)

(d) Name any six allowances fully eﬁcempt from

tax.

(¢) How is cost of acquisition of right shares
deétermined?

(f) Is debt capital a better source of financing

~than equity capital from tax planning point
of view?

(g) Explain the tax considerations to be kept in
mind while making a decision regarding
‘Repair or Replace’.

(h) How is house rent allowance treated for
income-tax purposes?

(i) How is residential status of a company
determined for income-tax purposes?

(j) What is partial agricultural income? How is

it treated for income-tax purposes?
Unit-1

5 What is ‘Tax Planning’? Explain its characteristics
and importance. How is it different from ‘tax

 evasion’?

MS-3212

(3)

(a) Whatis dividend tax?
(b) What are the provisions of Income-tax Act,

1961 regarding ‘tax audit’?

Unit-IT

4. Ashok wants to start a business. Keeping in view

the following informations suggest whether he
should run the business as a sole proprictory

concern or a partnership firm :

(a) Capital of the business T 30,00,000
(b) Estimated profit T 28.00,000
(c) Ifheruns the business as partnership firm :
(i) He will gift T 10,00,000 to his wife
Meena to contribute her share of
capital.
(i) The firm will pay interest @ 12% per
annum to the partners.
(i) Salafy to Ashok T 50,000 per month
and to Meena ¥ 30,000 per month.

(iv) Profit sharing ratio willbe 2 @ 1.

MS-3212




(4) (5)

Unit-IT

5. Mr. Ajay is offered an employment by ABC Ltd.
.o : ' . . T - ct,
of Mumbai with the following two alternative pay 6. Define ‘Amalgamation’ as per Income-tax A
packages : 1961. What are the tax incentives available to
First Package Second Package Amalgamated Company?
o o 7. (a) What tax planning is possible in taking a
Salary 4,00,000 4,00,000 ) o
Dearness pay 1,20,000 1,20,000 ‘Own or Lease’ decm}m’l?
‘Bonus 40,000 40,000 - i . ase
Medical altowance 25,000 - (b) Sun Light India Ltd. proposes to incre
Reimbursement of medical . . ; i i
bm;n h - _ 25.000 its production capacity for which it will
Telephone allowance 15,000 - require an additional capital of ¥ 75,00,000.
Telephone facility - 15,000 .
Education aflowance The company proposes the following three
for one child 6,000 - ) L. ce a1
Education facility in alternatives for the additional capital -
Company’s school - 6,000 —
Facility of rent free house I I U
(fair rent) 60,000 - (T) ) (T)
House rent ajlowance - 60,000 Source N (
(Rent to be paid T 7,000 Equity Sharcs 75,00,00030,00,000|20,00,000
per month) 129 Debentures — 30,00,000{40,00,000
Car allowance 50,000 - 0l15.00.000
Facility of small motor car LLS% Long - term Loan - 13,00,000{15.09;
for official and private use - 50,000
{(Estimated expenditure) ' : ‘Expected return on capital employed
City compensatory allowance — 20,000 . o f
3 tax) i1s 25%. Cost o
Academic allowance 20,000 - (before interest and )

raising loan or issuing debentures 1s

Which offer should he accept Keeping in view his estimated to be 3% and cost of issuing

tax liability?
MS-3212 : MS-3212




(6)
| | | (7)
lequlty shares will be 4%. Company’s tax

rate is 30% and education cess 3%. You (i) Sold gold ornaments for T 4,00,000. These .'

have to advise the company as to which ornamenis were purchased in 1970 at a

alternative it should select for the capital cost of T 20,000 and their fair market

structure so as to pay maximum dividend to value on ist April, 1981 was T 50,000.

the shareholders. (i) Soldan agricultural land situated in a village

for T 8,00,000. The land was purchased in

Unjt-1V
the financial year 198 1-82 for T 50,000,

8' .
Write notes on any two of the following : .
@ (iv) On ist December 2010 he sold 1,000
1 Tax 1 ; . : .
' planning regarding savings and shares of a company @ T 250 per share.
mmvestment. : .
' Half of these shares were purchsed by him
(11 Tax planning regarding residential status. on 1st November, 1995 @ T 160 per share
(iii) Exemptions under Section 54 of the and half were purchased on 15.11.2010 @
Income-tax Act, 1961 T 120 per share.

9. (v) He sold his personal motor car for T 80,000.
Ramesh sold the following assets duri ) ) ]
financi 1ng the This motor car was purchased by him five
mancial year 2010-11 :

~ years ago for ¥ 1,75,000.

(1) Sold a self-residential house for T 10,00,000, Cost of inflation indices are : 1981-82-100,
Selling expenses were 2%. This house was 1998-99-351, 1995-96-281, 2005-06-496,
purchased by him for 2010-11-711.

T 90,000 on
December 10, 1998 and 20.000 we Compute taxable capital gains for the assessment
. ’ re spent
on its improvement in 1998 year 2011-12. Is there only scope of tax planning
. . - ’ . ‘?
MS-3212 in respect of above transations:
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MS-3214

M. B. A. (C.M.) (Semester-1V)
Examination, 2012
CORPORATE GOVERNANCE
(CM-046)
Time Allowed : Three Hours
Maximum Marks : 70
Note : Answer Five questions in all. Choose one
question from each of the four Units. Question

No. 1 is compulsory and carries 30 marks.

Other questions carry 10 marks each.

1. Write short notes on the following :
{a) Nominee Directors
(b) FEMA
(¢) Accountability issues in corporate governance
(d) Revival of éick units

(e) Take over codes

(f) Meaning of corporate governance




(2)

(g) Role of Independent Director
(h) Elements of Corporate Reputation
() Corporate Governance and Company Law

(i) Board structure.
Unit-i

Define Corporate Governance? How do directors
meet their fiduciary responsibility to the
shareholders without interfering in management

role?

The day of boards made up of mostly CEO’s are
gone. The new board has more outside directors,
is more diverse and display a wider range of

specialized knowledge. Comment.
Unit-If

Explain the role of the board and recgulator in

furthering corporate governance.

Place yourself as CEO of a company. Sketch out
a plan for shaping directorial competance and

board effectiveness within the company.

MS-3214

6.

(3)
Unit-11]

“Corporate crime is the type of white-collar
crime”, that consist of punishable act that involve
the use of an offenders position of significant
power, influence or trust in a corporate century

for the purpose of organisational gain. Comment.

Define corporate reputation? How are you going
to plaw to build up a reputation for your

company.
Unit-IV

What are the main objectives and scope of
SICA, 1985.

Describe the emerging trends in corporate
governance. Sketch a road map for ethical

practices of corporate governance.
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MS-32135
M. B. A. (CM) (Semester-1V)
Examination, 2012
(BP/Old Course)
DECISION MAKING SKILLS
" Time Allowed : Three Hours "~
Maximum Marks : 70 R
Note : Answer Five Queétiéns in all. Question No. 1 is
compulsory. In addition attemptone question
from each of the foq;:,Uni:t,s_._ L
- 1. Explain briefly : e L 3x10
. (2), States of nature .
(b) Decision Trees . L
(c) Concept of bounded rationality
(d) Decision Support System
(e) Types of decisions | ..

(fy Critical Activities




(h) MBO
(i) Nature of strategic decisions
(j) Options.
Unit-1
2.  Describe the elements of decision situation. 10
3. What are the factors which affect decision
making? 10
Unit-11
4. Explain:
(a) Brainstorming 5
(b) Decision curve. 5
5.  What are the steps involved in decision making
process? Elaborate each step. : 10
Unit-111
6. Give an overview of various decision making
models. Explain any two in detail. 10
7. Describe the Herbert Simon’s decision making
| model. What is the difference between optimising
‘MS-3215

(g)  Heunstics

(3)
and satisficting? : _ 10
Unit-TV
What are the various approaches to decision

making that do not require the knowledge of the

probabilities associated with states of nature? 10

(a) Construct a project network for the

following project. 5
(b) Find the critical path : 5
| Activity A|BIC D E jF| G |H
Immediate
—|-1-1A,B,C{C,D|A|D,F}{E
Predecessor
Time 3j12 4 5 13| 6 (4

MS-3215-3-100




MS-3216

M. B. A. (F.C.) (Semester-11) Examination, 2012
Financial Decision & Policy
(FC-022)
Time Allowed : Three Hours

Maximum Marks - 70

Note : Answer Five questions in all. Question No. 1
carrying 30 marks is compulsory. In addition
attempt one question from each of the four

Units.

1. Write short notes on the following : 3x10
(a) Stability of Dividends

(b) Typesoflease

(c) Terminalcash flows in capital budgeting
(d) Timingoption

(e} Market Value Added (MVA)




(f)

@)

Risk freerate of return

(g) AdvantagesofDebt financing

(h)
@
()

2. (a)

MS-3216

Lintner's mode!
Valuation of Bond

Answer the following :

. The costof equity (K,)is 14%. Assume that the

dividend expected is¥2.50 per share. Compute
the price at which the shares will sell, if the

dividends grow atarate of (1) 12% (ii) 16%.

Unit-1

Aportfolio consists of two securities Pand Q

with the following details : 5
Security
P Q
Expected Return 25% 22%
Standard Deviation 30% 26%

Proportioninportfolio  50% 50%

Correlation coefficient between P and Q is +0.4.

Calculate the risk and return of the portfolio. 5

(b)

3 (a)
(b)

4. (a)

MS-3216

)

The face value of a 10 year 10% bond is
T10,000, interest being paid annually.
Determine the value of the bond assuming the
rate of return of investor is 12% and the bond is

redeemed at par at maturity. 5

Elaborate on the principles of capital
investment decision. How strategic real options
provide flexibility in these decisions ? 5
Calculate the economic value added from the
following information :

EBIT ¥ 10,00,000. Cost of equity is 16%
Interest is paid @ 10% on debt of T 5,00,000.

Tax rate is 35%. The debtequityratiois2:3. 5

Unit-17
Elaborate on the assumptions of the Net Income

Approachin capital structure theories. 5




(b)
5 (a)
(b)
6. (a)
(b)
7 (a)

MS-3216

4

The overall cost of capital ofa company is 15%. -

The rate at which the company can borrow is
8%. Using the MM model determine the cost of

equity with (i) 80% equity (ii) 50% equity. 5

Outline and discuss the determinants of
dividend policy of a firm, 5

What is optimum capital structure ? Explainthe

factors affecting capital structure decision. 5

Unit-1tT
Discuss the conservative, aggressive and
matching approaches to working capital. 5
List out the relevant ratios which can be used to
assess efficiency of working capital and its

_various components. 5

ABC company's equity shares are traded is the
market at T 54 per share with a P/E ratio of 9. The
company has a dividend payout of 72%. It
has¥ 100,000 (1 lakh)equity shares of T 10 each.
Calculate :

(1) - Earningper share

(i) Netincome of company

(ili) Dividendyield. S 3x2

(b)

MS-3216
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The financial data related to three chemical

companies for the year 2011-12 is provided

below : (Tin lakhs)
Company NetSales Operating Operating
Cost Assets
ALtd. 300 255 125
B Ltd. 1500 1260 750
CLtd. 1400 1050 1250

Assess which company is the best performer.
Using return on assets as the base for

assessment, Also interpret the result. 4

Unit-IV

Describe the different techniques for valuation of a

merger candidate. 10
9. A Ltd. wants to takeover B Ltd. the various details
are givenbelow : 10
ALtd. B Ltd.
T T

Fixed Assets 1,22,600 35,000

Current Assets 51,600 26,000

61,000

1,73.0060




(6)

Preference sharecapital 20,000 -

Ecjuity share capital ‘

ofRs. 10each 1,00,000 50,000
Share Premium - 2,000
Profit & Loss A/c 38,000 4,000
10% Debentures 15,000 5,000

1.73,000 61,000

What should be share exchange ratio to be offered to
the sharcholders of B Ltd. based on (i) Net Assets
value (ii) EPS, and (iii) Market price. Which should
be preferred from the point of view of A Ltd. Further

Ty ey

information is provided as under :

ALtd. Bitd.
Profit after tax and ( N ) ( N )
preference dividend 24,000 15,000
Market price 24 27

MS-3216-6-200




MS-3217

M. B. A. (F.C.) (Semester-IT) Examination, 2012
Working Capital Management
(FC-021)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. Attempt one question from each

Unit.

1. Give short answers to the following : 3x10

(a) Whatis"Cashconversioncycle" ?

(b) Describe the five C's used in evaluating the
credit worthiness of a credit applicant.

(c) Effectofinflationon working capital.

(d) Tradeoff between liquidity and profitability.




)

(e) Distip 2uish between

discountin g

quuidity.

(8) ABC analysjs of inventory Managemeng

(h) Commercial Paperg. -

Unit-J

(

Mana '
gcment' 9 What are the determinants of

Working Capital needg ofan enterprige 9 7
b | .
(b) Compare Hedging and aggregs;y,

ﬁnancing Working capital,
MS-3217 3

€ approach ¢,

’Factoring and Bjjj

3)

3. (a) From the following information, prepare a
statement showing the working capital needed
to finance a level of annual activity of 52,000
units of output. The following information is
available :

Elements of cost Rs. per unit

Raw materials
Direct labour
Overheads
Total cost
Profit

Bl B =l o N e
= = 5

Selling price
Raw materials are in stock, on an average for 4
weeks. Materials are in process, on average, for
2 weeks. Finished goods are in stock, on an
average, for 6 weeks. Credit allowed to
customers is for 8 weeks. Credit allowed by
suppliers for raw materials is for 4 weeks, Lag
In payment of wages in 1% weeks, It is
hecessary to hold cash in hand and at bank
amounting to Rs. 75,000. It may be noted that
production is carried on evenly during the year
| and wages and overheads accrue similarly. 6
MS-3217




4

b o i
(b) Describe dlfferentkmds of float withreference
to management of cash. What are the

. techniques adopted for managing the float? 4

Unir-IT

P
repare the cash budget of fashion fabrics for the

months April, 2009 to July, 2009 (four months) from

- the details given below :
: 10

(a) Estimatedsales during 2009

Rs.
Feb | 12,00,000
March | 12,00,000
April | 16,00,000
May | 20,00,000
June | 18,00,000
July | 16,00,000
August | 14,00,000

{(b) On
b) an average 20% of sales are cash sales. The

credit sales are realized in the Third month

(January sales in March).
MS-3217 '

)

(c) Purchases amounted to 60% of sales. Purchase
made in a month are generally sold in the third
month and payment for purchases is also made

in third month.

(d) V_ariable expenses (other than _sales
cOMMission) constitute 10% of sales and there
is atime lag of half amonthin these payments.

(¢) Commission on sales is paid at 5% of sales
value and payment is made in the third month.

(f) Fixed expenses per month amounted 1o
Rs. 75,000 approximately.

(g) Other cxpenses anticipated payment of taX
Rs. 80,000 (June, 2009)

(h) Opening cash balance Rs. 1,50,000. All

working notesareto form part of your answer-

Sharda Group 1td. was formed in 2009 to
manufacture 2 product X. The company sells this
product to wholesales and retailers and has an
annual sales of Rs. 60,00,000. The following data

relateto cachunitof X: 10

MS-3217




(0)
Rs.
Selling price perunit 36
Variable cost per unit 18
Fixed cést per unit (apportioned) _6_ 24
Net profit 12

The cost of capital of this company is estimated at

15%. The company wishes to expand sales of this

product and believes that this can be done by

offering a longer period to pay. The average
collection peried is currentty 30 days. The company
is considering three options in order to increase the

sales. There are as under ;

options
I IT - I
Increase in average
collection period (days) by 10 by 20 by 30

Increaseinsales(Rs.) by3lakhs by4.5lakhs by 5lakhs
State whichcredit policy should company offer to its

customers.
Unit-IT1T
6. (a) Discuss the various types of risks and costs
associated with receivables. 5

MS-3217

7.

M

it énalysis ? Whatare

(B) What do you meanby cred :

is?
the various aspects of suchan analysis’

(a) ALtd require 5,000 units of an item annually.

The price per unit is Rs. 100 and cost per order is

Rs. 1000. Inventory carryingcostis 24%p.a. The

suppliers after the following quantity discounts:
-

1,000 5%
2,000

What is best for'A' Ltd. | i
(b) Define safety stock. How 1s it determined 7

What is the role of safety stock in inventory

3
management ?
Unit-1V |
8 (a) Explain the banking procedure tO avail
| 6

working capital finance.
(b) What do you mean by implicit cost _of trade

151 4
credit? How 1s1t calculated?

‘9. (a) Explain the role of bank credit in financing of

working capital. What are the types of bank

7
credit.

MS-3217
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(b) What are the three methods of financing as

suggested by Tondon committee 7 3

MS-3217-8-200




MS-3218

Master of Business Administration (Finance &

Control) (Semester IV) Examination, 2012
Management Controi System
(FC-043)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory and carries 30 marks. Answer one
question carrying 10 marks from each of the four

Units.

1. Write short notes on the following 3x10=30
{a) Factors affecting the autonomy of divisional

managers
(b) Keysuccess variables as control indicators

(c) Essentials of responsibility accoimting




2

(d) Factors influencing the design of MCS m a
business concern.

(e) Diagnostic control system

(f) Contingency approach to management control
system

(g) Superiority of EVA or RI as divisional
performance measurement over ROI

(h) Engineered expense budget vs. Discretionary
expense budget.

(i) Measures to improve Segment Return On
Investment (SROT)

() Constraintsonsourcingin transfer pricing.

Unit-1
2. How is an ordinary or mechanic control system
different from management control system ?

Explain the scope and objectives of management

control system. 10 :

3. Enlist and discuss the financial and measures
considered under management control system.
Critically evaluate whether these measures are

helpful for the attainment of goal congruence. 10

MS-3218
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Unit-I1

What is meant by responsibility accounting 7

Discuss the significance of divisional performance

measurement. What problems arise when undue

mparison of segment
10

emphasis 1 placed on the co

proﬁtperformance ?

’I‘he. gales manager of Bombay Textiles Ltd. is

d by the total sales exceeding the sales budget
The sales budget

judge
s considered good performance.

and cost data for the current yearares

-M Long Cloth | Bed Sheets m
000
Gales budget [Rs. 450000 Rs. 900000 | Rs. 1650000 Rs. 30,0(;,0 .
Variable costs,_ (225000 (405000) (405000)| (112
m 1200000 600000] 3300000

s were equal to pudgeted prices and

hown below :

Actual price -

varjable cost incurred were as budgeted per unit.

Required:

(a) Didthe sales manager perform well ? Support
your answer with collocations.

(b) Suggest better performance measurement

criterion to be used by the firm. 6+4= 1_0

MS-3218
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4)
7 What are the objectives of transfer pricing ? Discuss
Unit-1i1 - the prerequisites for achieving goa.l congruence ic;r
0. A manufacturing company has two divisiong X and ; operationoftransfer pricing mechanism.
Y. The output of X, which may be sold in the
market at Rs. 300 Per unit, is also yged as a
component by Y for Mmanufacturing a product Y Unit1V d modifications or
Tequires one unit of the component from X for 8. ,"Contrc.)l systems of 1\./:125:“::; bf;l a number of
producing every one ypjt of the final product fldapta:['IOI?S as :Ee}ifsgluescritically- 10
which is sold in the market at Rs. 500 per unit. The tssues. " Discussthe
budgeted production for X ang Y are 3000 and 9 What are the key control Variabl.es 1s non-profit
1000 units respectively. The cost datq for the ‘ organisations ? What control tEChm.qUe.S W‘??UId Y ;’3
budgeted leve] of production in respect of the two suggest for various non-profit organisations ?

divisious are ag follows -

Dir. x Dir.y

(Rs.) (Rs.)
Materials per unit 100 ?
Wages per unit 60 50
Variable overhead perunit 40 30
Fixed overhead perunit 50 40

Show the divisiona] profits and the profits of the
Company in case of the following trangfer pricing
policies :

(a) Market price method

(b) 110% of ful] cost method

(¢) Negotiated price Rs.290 per unt 4+3+3=10 MS-3218-5-200
MS-3218




MS-3219
M. B. A. (F & C) (Semester-1V)

Examination, 2012
International Financial Management
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory which carries 30 marks. Select one
question from each of the four Units carrying 10

marks each.

1. Werite short notes on the following : 3x10=30

(a) Currency derivatives
(b) Documentary bills
(c) LIBOR




(d)
(e)
(f)
(8)
(h)

@
)

MS-3219

2)

Currency swap

Terminal value and withholding tax

Principle of IRP theory

Issues in international inventory management
The DM spot was quoted as $0.40-0.41 and
pound sterling were priced as $ 1.80-1.82 in
New York on same date.

Calculate cross rates between DM/£ at
NewYork.

On shore and off shore currency market.

S (CHF/AUD) : 5.4590-5.8635 is this a direct
quote for Melbourne forex market ? Convert it

into inverse quote.

Unit-1
The spot $/SAR rate is 2.10/15 and one year
forward is 2.35/45. The one year Eurodollar
interest rates are being quoted as 8.25-8.5% .
A bank trader wishes to oblige a borrower
who wants a one year (360 days) Euroriyal
loan of 1 million. Assuming no default risk,
what is the minimum interest rate the trader

should charge. 7

]

3)

(b) The spot rate for the € in New York is $ 1.3360.
What should be the spot price of $ in Paris ? If it

is €0.78, how would the market react ? 3

Define covered and uncovered interest rate
arbitrage. How is interest rate arbitrage covered in
the forward market ? Why does the net gain fro'm‘
covered interest arbitrage tend to diminish as

covered interest arbitrage continues ? 10

Unit-1{

DC Corporation is a US based softiware consulting
firm, specializing in financial software. DC requires
£1,00,000 in 180days and have three options before
it: '
(1) Aforwardhedge
(1) Amoney markethedge
(it1) No hedge.
Its analyst developed the following information
which can be used to assess the alternative solutions
e  Current spotrate of Pound=$ 1.50
» 180 days forward rate of Pounds as of today

=$1.48

MS-3219




Interest rate are as follows -

. U.K. U.s.
180days deposit rate 4.5% 4.5%
. (1]
ISOdaysborrowingrate 5.1% 5.1%
. (1]
* The analyst specylate the spot rate 180 days

henceas§ | -46/pound.

Suggest them toopt bést hedging option. ]

Discuss with ap €xample each
€Xposure faced by a fi
following Statement ?

the various types of
m. Do yoy agree with the

resources,™

Givereasons whether yoy agreeon disagree

Unit- 17

6. i ]
Outline {he major factors thay have peen

esponsible for the growth in the Eurocurrepc
markets, Particularly the Eurodollar component oi
ﬂ.’leSfi market. Which of these factorsl are stil]
significant in fostering the yse of th.
Investors and borrowers ?
MS-3219

€8¢ markets by

10

What strategy should the international finance

manager follow with respect to positioning of funds if

hisobjectivesare :

(1) tominimise transaction cost

(i) to minimise foreign exchange risk

(n1) tominimise the political risk

(iv) to.insure the payments due from affiliates are
effected on time ?

(v) to maximise the rate of return on investment of

liquid assets. 10

Unit-IV
Foreign investment is the appetite of developing
economics, but its absorption is equally important.
Explain the linkage between the health of countrys
financial system and its ability to deal with heavy

inflow and outflow of capital. 10

(a) What are the factors which make the cash flow
from a project create different values for the
parent and for the subsidiary which undertakes
the project? 6

(b) Country X has high interest rates, and its
currency is expected to strengthen against
dollar overtime. Country Y typically has a low

MS-3219



(6)

interest rates and its currency is expected to
weaken against the dollar overtime. Both
countries have imposed ‘blocked fund’
restrictions over next four yeﬁrs on. the two

subsidiaries owned by aU.S. firm.

‘Which sﬁbsidiary will be more advefsely

affected by the blocked funds, assuming that
these are limited opportunities for corporate
expansion in both countries. 4

MS-3219-6-200




MS-3220

M. B. A. (Finance & Control) (Semester-IV)

Examination, 2012
Management of Financial Institﬁtions
(MFC-404)

Time Allowed : Three Hours

Maximum Marks - 70

Note : Answer Five questions in all. Question No. 1 is
carrying 30 marks, is compulsory. Attempt one

question carries 10 marks from each Unit.

1. Attempt the following questionbriefly:  3x10=30

(a) "Inthe post-liberalised era, public sector banks
have diversified to non-traditional activities."
Comment.

(b) "Regulator should not act as a financial sector

player." Discuss.




(c)

(d)

(e)

(0.

(g)

(h)
(i)

)
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@

Explain how deregulation of the interest rate
structure is an importanf banking sector reform
inIndia.

"Loan syndication has helped corporates to
bring down their financial costs but has
increased competition among banks". Discuss.
Explain how 'Gap' can be used as a measure of
interest rate sensitivity.

'‘Sensitivity tests’ and 'Scenario tests' may be
used either separately or in conjunction with
each other. Discuss.

What do you understand by the term ‘exit load'
levied on mutual funds ?

"Amutual fundis a trust." Comment.

Discuss any two dilemmas faced by a Central
Bank of India.

Differentiate between 'first line of defence' and

'Second line of defence’ for a commercial bank.

Unit-I
"The guiding principle for a Central Bank,
whatever function or group of functions, it
performs at any particular moment 1s that 1t
should act only in public interest and
without regard to profit as a primary

concern." Discuss, 8

3

(b) Discuss why note-issuc is an exclusive

function ofa Central Bank. 2

"Apex level institutions works for resource
mobilisation, coordination and supervision of other
financial institutions of the financial system." In
light of this statement discuss the role of any two

apex-lcvel financial institutions in India. 10

Unit-11
(a) Explain the mechanism of ALM for managing
various types of risks associated with banking
business. 5
(b) How is the Asset-Liability gap managed by the
ALCO of abank through various techniques? 5

Explain in detail the sources and utilization of the
funds of a commercial bank through the performa of
the balance sheet of abank. 10

Unit-111
Examine the history of development banks in India
and briefly analyze the role played by them. Also
discuss various recommendations of the RBI's
working group with regard to their present status. 10
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(@)

(b)

(@

(b)

(a)

(b)

“)
Comment on the transition of ICICI to ICICI
bank. How are the objectives of the two
different? : 5
"DFT's have been criticized for not reaching to

rural sector.” Comment. 5

Unit-1V
In what ways NBFCs are different from
commercial banks ? Examine it. Also discuss
the various types of services prdvided by
NBFCsinIndia. 7
Discuss the procedure for obtaining a certificate

of registration to be followed by NBFC. 3

Discuss the importance of mutual funds in a

developing country like India. 6
Explain the following inbrief :

(i) SIP
(ii) AUM. E -4
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Note :

MS-3221

M. B. A. (F & C) (Semester-1V)
Examination, 2012

Merchant Banking and Financial Services
{(MFC-402)
- Time Allowed : Three Hours

Maximum Marks - 70

Attempt Five questions in all. Question No. 1 is
compulsory. Select one question from each
Unit. Question No. 1 carries 30 marks and all

the other questions carry 10 marks each.

Attempt all parts : 3x10=30

(a) How 1is factoring different from bill
discounting?

(b) What are the considerations on the part of

company while selecting underwriters?

(¢) What roles can Merchant Bankers play in

corporate counselling?




(2)
(d) How the accountihg of financial Jease is
done in the books of lessor?
(e) Write 3 short note on ‘forfeiting’.
(D The folIOWing data are furnished by the
Hypothetjcal Leasing Ltd. (HLL) :

Investment cost

Rs. 500 lakh
Primary lease termy - 5 years
Estimated residual value after
the primary period Ni]
Pretax required rge 24%

The HLL seeks your help in determim’ng the
annual lease rentals under the following
rental structyreg -

(i) Equateq

(i1) Stepped (an annual increase of 15%)
(i) Ballooned (annual rentg] of Rs. 80

lakh for years 1-4)

(8)  What are the Characteristics of financial

services?

(h) Differentiate.between hire purchase and

leasing,

MS-3221

(3)

(1) How 18 the marketing of industrial goods

different from the marketing of consumer
goods?
(i) Explain the importance of due diligence

certificate.
Unit-1

Discuss the pre-issue and post-issue obligations
which are a part of issue management of

Merchant Banker in India, 10

(a) What is the necessity of a debenture
trustee? Evaluate the legal and regulatory

framework for a debenture trustee, 7

(b) What are the exist routes available to a

venture capitaljst? 3

Unit-IT

ABC Ltd. have recently obtained a large contract
that calls for safety wire holes to be driiled in the
heads of various socket and cap screws. Mr. A is
faced with the decision to buy or lease the
necessary machinery. The machinery would be

used for 4 years after which they would be sold

MS-3221




(4)

for salvage value or returned to the lessor. The
lease cost is Rs, 2,40,000 a year and this
includes the cost of routine services. The
purchase price of the machine is Rs. 8,10 ,000.

The salvage value after 4 years would be Rs.

60,000. If the machine is purchase the routine
services required is estimated to cost Rs. 24,000
a year. A loan to finance the purchase of the
machine would have an interest rate of 10% and
would require Rs. 90,000 down, the balance
being amortized over 4 equal instalments,

Assume that the firm has a 40% tax rate, uses
SLM for depreciation and has an after tax cost of
capital of 14%. You are required to suggest Mr.
A that whether he should go for leasing or for

purchasing.

Notes : PVF at 149%

Year
1 0.877
2 0.769
3 0.675
4 0.592
PVFA at 10% for 4 years 3.1699, 10

MS-3221

5. (a)

(b)

(5)

Enumerate the rights available to a hirer

under the hire purchase finance agreement. 4

First Leasing Co. offers an asset on Hire
Purchase to Indian Breweries on the

following terms :

Cost of the asset = Rs. | crore

- Rate of interest = 10% {(flat)

6. (a)

HP period = 4 years

Down payment = 20%

Payment in yearly instalments in arrear tax
rate is 30%. The asset will have a 4 year
life with zero salvage value. What is the
effective rate of interest? 6

Uni-1l1
A Ltd. has a total sales on credit of Rs. 80

lakhs and its average collection is 80 days.

Past experience indicates that bad debt
losses are around 1% of credit sales. The
firm spends Rs. 1,20,000 p. a. on
administering its credit sales. This cost
includes salaries of one officer and two

clerks who handle credit checking, collection
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(6)

etc. Besides, it also incurs telephone and
telex charges, which are avoidable costs. A
factor is prepared to buy the firms
receivables, with a charge of 2%
commission. The factor will also pay
advance against receivables to the firm at
an interest rate of 18% after withholding
10% as a reserve. What shoﬁld fhe firm
do? Assume 360 days in a year and the
current rate of bank interest is 18% p.a. 8
(b) What are the features of sovereign credit

rating? 2

Write a detailed note on any one of the following

creditrating agencies in India : 10
(i) CRISIL
(i) ICRA
(in) CARE.
Unit-IV

What do you understand by marketing planning?

Explain the marketing process of public issue. 10

Discuss the marketing environment in India for

any one financial service of your choice. 10
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Note :

1.

M.

- MS-3222

B. A. (H. R. & 1. R.(Semester-II)
Examination, 2012

021-Foundation of Human Relations
Time Allowed : Three Hours

Maximum Marks : 70

Answer Five questions in all. Question No. 1 of

30 marks containing ten sub-questions of short

answer type is compulsory. Answer one

question of 10 marks from each Unit.

Write short notes on the following :

(a)
(b)
(c)
(d)
(e
5

(g)

FIRO-B

3P’s of Human Relatibns

Social Mobility |

Types of conflict

Differences between Folkways and Mores
Theories on social stratification

Types of Human Relations




(2)

(h) Organise-d v/s unorgan.ised groups
(i) Types of socialisation

(j)  Characteristics of society.
Unit-I

Highlight the importance of Human Relations in
Organisation and-also discuss the critical factors

that influence the work behaviour of individuals.

Define the terms association community and
institution and bring out the differences between

the three.
Unit-IT
Discuss the major features of caste and elaborate
on the merits and demerits of caste system.
Enumerate the various associative social
processes and discuss any two of these in detail.
Unit-ITI1
What do you understand by the term ‘social

norms’? What are their characteristics and

functional importance.

MS-3222

(3)

Explain the significance of socialisation in the
present social scenario with special reference to

the process of socialisation.
Unit-1V

Discuss the role and need of forming social

~ groups in the society. Elaborate on the various

characteristics and classifications of social

groups.

Define the term ‘social control’ and discuss the
various agencies involved in exercising social

control over people in the society.
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MS-3223

M. B. A. (H. R. & 1. R.) (Semester-II)
Examination, 2012

022-Dynamics of Human Behaviour
Time Allowed : Three Hours
Maximum Marks : 70
Note : Answer Five questions in ali. Questioh No. 1 of
short-answer type carrying 20 marks, is

compulsory. Attempt one question of 10 marks

from each Unit.

1. Write short notes on the following :
(a) Self concept
(b) Cognition
(¢) Burnout
(d) Deviance
(e) Heuristics
(D Big Five Theory of Personality

- (8) Sensitivity Training
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(2)

(h) Psychosis
(1)  Positive Mental Health

() Time Management Matrix.

Unit-1

(a) “Decision making is more than just making
a choice. It is also the actions and activities
that precede choice.” Elaborate.

(b) Explain various factors that account for
individual differences in decision making

styles.

Define the term ‘Emotional Intelligence’ and
elaborate upon the phases involved in the
process of developing emotional intelligence in
people.
Unit-1I

(a) What behavioural predictions m‘ight you

make if you knew that an employee had :

(i) A Low Mach Score

(i1} Low Self Esteem

(111) Internal Locus of control.

MS-3223

(3)

(b) Differentiatc between Type A, Type B and
Type C personalities. .

How do ‘Trait’ and ‘Type’ theories differ in their
approach to conceptualize personality. Elaborate
with the help of one example for each category of

theories.
Unit-11T

What do you understand by the term ‘disability’.
As per the persons with disabilities {Equal
Opportunities, Protection of Rights and Full
Participation) Act, 1995, what are the various
forms of disabilities and what functions are to be
performed by coordination committee to ensure

implementation of this Act.

Define ‘Mental Health® and claborate the
characteristics of a mentally healthy person.
Discuss any two national services available for
mentally healthy person.

Unit-1V

Define ‘Stress’. Explain the stressors, stress and

outcome relationship with the help of a model.

MS-3223




9.

(4)
What do you understand by the term ‘Coping’?

Discuss various effective and ineffective coping

strategies that are commonly used.
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MS-3224

M. B. A. (H.R. & L.R.) (Semester-1V)
Examination, 2012

MANAGERIAL COUNSELLING
Paper—1
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 of
short-answer type carrying 30 marks is
compulsory. Attempt one question of 10 marks

from each Unit.
1. Write short answers to the following :
(a) Developmental goal of counselling
{b) Rules for good listening
(¢) Genuineness
(d) Internal frame of reference
(e) Paraphrasing

(f)  Aversion therapy




(2)

{g) Accident proneness
() Preventive measures for absenteeism
(i) Matching expectations and goals

(J) Choice, freedom and courage.
Unit-1
Elucidate the concept of counselling and discuss

the needs for managerial counselling.

Discuss the assumptions underlying psychoanalytic

counselling and describe 1ts methods in brief,
Unit-I1

What is meant by crisis intervention? Describe its

major steps.

What are various types of non-verbal skills of
communication? Discuss the role of any one of
these in counselling.

Unit-1i1

Distinguish between projective and psychometric

tests. Why are they used in counselling?

Give an account of any five clinical scales of

MMPI.

MS-3224

(3)
Unit-IV

What are the factors responsible for accidents?
How can a psychologist contribute in reducing

them?

What are the problems associated with

retirement? How can one cope with them?
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MS-3225

M. B. A. (H.R. & 1.R.) (Semester-IV)

Examination, 2012

Paper-11

. (Human Resource Development, Training & Skills in

Public Relations)
(HR-042)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Attempt Five questions in all. Question No. 1

of 30 marks of short-answer type is compulsory.

Attempt one question of 10 marks from each

Unit,
1.  Write short notes on the following :
(a) Type of Training Climate
(b) Theory of Operant Conditioning
(c) ~ Role Play as a Method of Training
(d) Overview of Training Evaluation.
(¢) Radio v/s Television as a medium of

advertising




(2)

(fi PR Transfer Process h

(g) Position and responsibilities of PR Manager
(h) KSA’s

(1) Intangible assets

(j) Learning Process.
Unit-1

“HRD plays a significant and crucizal role in
market cconomies under dynamic environments.”
Discuss this statement by highlighting the HRD

framework and its process in detail.

What are the major purposes of Training and
Development programme? Name and distinguish
the various OJT and away-from-the job training

techniques.
Unit-11

“Learning 1s a relatively permanent change in
behaviour which occurs as a result of experience,

training and practice.” Elucidate.

MS-3225

(3)

To what extent do you think it is desirable for
learners to know about theories of Learning?
Which is the most relevant every for developing a

group of trainees?
Unit-111

Define the term Public Relations and explain the
various steps and activities involved in the

process of Public Relations.

Discuss the key functions that a Public Relations
Department is required to perform. List some of
the activities which the PR manager of an

Insurance Company might engage in.
Unit-IV

Write short notes on the following :

(1) Sponsorship

(1) PR with Community Readers

(i) Exhibition.

(a) How is Public Relations different from other
forms of Public Communication.

(b) Enumerate various methods and techniques

of advertising elaborate on any two.
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MS-3226

M. B. A. (H. R. & L.R.) (Semester-IV)

Examination, 2012

Paper-II11

(Leadership, Conflict Resolution & Team Building)

(HR-043)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1
carrying of short answers type is compulsory.
Attempt one question of 10 mark from each
Unit,

1. Write short answers of the following :

(a) Difference between leader and manager

(b) Qualities of a good leader

(c) Formal vs. Informal leadership

(d) Characteristics of situational theory of
leadership

(e) ‘Theory X’ and ‘Theory Y’ of leadership

style -




(2)
(H) Organiﬁational and societal causes of
conflicts
() Techniqu.e.s of conflict fesolution
(h) Role conflicts
(1) Difference between team and group

()  Salient features of a dynamic team.
Unit-1

What do you understand by leadership? What are

the required skills of a leader?

Throw light on the factors that affect the choice
of leadership. Also point out the contemporary

issues that generally crop up in leadership.
Unit-1II
Briefly discuss the recent approaches to leadership.

Detail out the strategies for developing an

effective leadership in an organisation.
Unit-111

What do you mean by conflict? Explain the

human relations view of conflict.

MS-3226

(3)

What is the concept of the conflict ?rocess?

- What are its stages?

Unit-1V

Define the term ‘Team’ and describe the various

types of teams.

Highlight the ‘term decision making techniques’.
Also mention the difficulties that and generally

faced in the team decision making.
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MS-3227

M. B. A. (H.R. & I. R.) (Semester IV)

Examination, 2012
Paper-1V
Performance Management
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 of 30
marks is compulsory . Attempt one question of 10

marks from each Unit,

1. Give shortanswers to the following : 3x10=30
(a) Whatis meant by 'Performance Standards' ?
(b) Describe the term 'Ethics of Appraisal'.

(c) Whatare "Assessment Centers" ?
(d) "MBO asamethod of performance control'.

(e) What is 'person to person comparison' method

of performance appraisal ?




@)

(f) Whatismeant by '‘Organisational Growth' ?

(g) Define 'Skill' and describe its importance in
human performance,

(h) What is meant by 'Control' ? How is it relevant
to performance ?

() Define 'Decision-making' and depict its
process. '

(3 Limitationsofuse of computers.

Unit-1
Define the term 'Performance Management' and

describe its importance for an organisation. 10

What do you understand by error in performance
evaluation ? Describe the impact of error of central

tendency on performance appraisal. 10

Unit-IT
What is meant by 'Appraisal Techniques' ? Describe
the ‘paired comparison’ and 'self appraisal' methods

of appraisal. 10

Write a detailed descriptive note on 360 degree

method of performance appraisal. 10

MS-3227

3)

Unit-IIT
What is 'Feedback' ? How does it help employees to

plan their own performance for career growth ? 10

Write a detailed note on Performance and

Organisational Excellence. 10

Unit-IV
What do you understand by MIS ? Describe its role

in performance management. 10

Write a detailed note on decision making in relation

to control of performance in organisation. 10
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MS-3228

M. B. A. (I.B.) (Semester-II).

Examination, 2012

INDIA’S FOREIGN TRADE
© (1B-021)

Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is
compulsory. Answer four more questions, .

selecting one question from each Unit.

1. Briefly answer the following questions : 3x10

(i) What are. the problems of international
trade?

(i) Why protection policy was pursued after

independence?
(iii) What was the composition of import trade
. during sixties?
- (iv) Which commodities are India’s non-

traditional exports?

PR ea W7 TE sl FIN




(2)

(v)  Which countries are India’s most important
suppliers?_ o |

(vi) What is MFN clause?

(vii) wa does depreciation of rupee affect our
imports?

(viii) Which cbuntriés are rrierilbe_rs of European
Union?

(ix) Which type of L/C is preferred by exporters?

(x) What are the special featﬁfes of S.E.Z.?
- Unit-I

“Trade is the engine of economic growth.”

' Discusy this statéement and éxamire the role of

<+ foreign trade in prototing industrial development

in a developing country. T 5+5

Discuss the opportunity - ‘cost theory of
international trade. In what respects, if is an
improvement over the theory of comparative

cost? . 743

MS-3228 ... ...

{3)
Unit-IT

What significant changes have taken place in

India’s foreign trade during last'decade? =~ 10

Discuss the trends, problems and prospects of

export of gems and jewellery‘?‘ 10
Unit-111
(a) What significant changes have taken place

" in the direction of India’s import trade

during recent years? | 5

(b) Discuss important characteristics of
Indo-Asean Trade. 5
(a) What is the rationale for state trading in the

present economic scenario? 4

(b) Discuss the role of ECGC in the financing
of India’s foreign trade. 6

Unit-1V

Distinguish between import substitution and
export promotion. Enumerate the measures taken

by the government for promoting exports.  4+6

e oo MS-3228




(4)
Write short notes on any two of the following : 5+5
(i) Current A/c deficit
_ (i) Export promotidn councils

(i) M.M.T.C.
(iv) U.N.C.T.AD.
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- MS-3229
M. B. A. (I.B.) (Semester-II)

Examination, 2012

OVERSEAS MARKETING RESEARCH
[1B(022)]

Time Aliowed : Three Hours
Maximum Marks : 70

Note : Attempt Five questions in all. Question No. 1 is
compulsory. Attempt one question from each
Unit.

1.  Attempt all the parts : : 3x10

(a) Differentiate between the longitudinal and

cross-sectional research studies.
(b} Mention any three projective techniques.

(¢} The potential customers of a computer

- company rate the product of the company
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(d)

(e)

)

(2)

MS-3229

(2)

into goéd or bad based on the time to
respond to breakdown cells (X;) and the
percentage discount on product price
(X5). Design the discriminant function,
Y=aX;+bX,. Identify the type of

mecasurement for the dependent and

. independent variables.

Discuss the similarity and difference
between cluster analysis and discriminant

analysis.

Suggest some measures to improve the

response rates in surveys.

What are the ethical issues a researcher
must Keep in mind while preparing a
fesearc’h report?

How 1s a bar chart different from
histogram? Which of the two is statistically

more important?

(3)

(h) Deﬁne the confidence level.

(i) ~ “Secondary data should be c_autiously used

even if it is easily available.” Elaborate.
(j) What qﬁalitative factors should be considered
in determining sample size?
Unit-1
2. (a) Discuss the importance and scope of
research in marketing. 7

(b) How is overseas marketing different from

domestic marketing? 3
3.  Describe the following in brief : 2Vax4

(i)  Snowball sampling

(i) Sources of non-sampling errors
(iii) Randomised Block Design

(iv) Relation between sampling errors and

sample size.

MS-3229




(b)
5. (a)
(b)
6. (a)
(b)

MS-3229

(4)
Unit-11
What are the different methods of collecting
data for exploratory research studies?
Discuss the merits and demerits of any two
in detail. : 7

What samp'ling design is recommended for

exploratory researches? 3

Describe some commonly used rating

scaling techniques with examples. 6

List the format of a general research report. 4
Unit-111

What are the advantages and limitations of

parametric tests? 5

A bakery is producing 200 gm. packets of
biscuits. To check whefher the production
is under control or not, on a particular day
a sample of 25 packets was taken. The

sample depicted the average weight of 195

gm. and standard de_viatiori of 20 gm. Check

(a)

(b)

(a)
(b)

(5)

whether the production is under control or

not? Use 5% level of significance. (Given

Z05 =1.96) | 5

The marketing managcr of a company is
keen in analysing the outcomes of different
quotations submitted to its customers. The '
outcome is either winning (W) or ]osing (L)
the order. The sequence of outcomes of 40
different quotations is listed below. Check
whether this sequence is random at
significance level of 0.05. (Given
Zp05=1.96): 5
WWLLWWWWWWLLWWWLWWWLL
WWLLWWLLLWLLWWWLLWW

Describe the procedure for one sample sign

test. 5
- Unit-IV
What is Conjoint analysis? Why is it used? 5

Discuss some forecasting techniques in

brief. | 5

MS-3229 .




(0)

Explain the following : . 5x2
{a) Factor loadings

(b) Eigen values

(c) Communality

(d) Scree plot criterion

(e) ' Minimum eigen value criterion.
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MS-3230

M. B. A. (I.B.) (Semester-1I)

Examination, 2012
Foreign Language (German)
ﬁme Allowed : Three Hours.

Maxi.mum Marks : 70

Note : Answer Question No. 1 is compulsory.
Attempt four other questions taking one

question from each Unit.

1.  Write on any two topics in Germen : 30
(a) Meine Stadt
(b) Meine Familie

(¢c) Mein Lehrer.
Unit-I
2. Translate the following into English : 10

(a) Ich heisse Peter Karlis.

(b) Ich wohne in Berlin.




(¢c) Berlin ist in Deutschiand.

(d) Ich bin verheiratet.

(e) Ich habe zwei Kinder.

(f) Meine Frau ist Hausfrau.

(g) Meine Kinder gehen in die Schule.

(h) Es gibt. Zwei Zimmer in Meinem Haus.
(i) ~ Wir hapen ein Wohnzimmer

{j) Ich hére Musik gern.

3. Translate the following into German :
(a) New Delhi is the capital of India.
(b) Indiais my country.

(c) Tam learning German.

(d) My father works in Germany,
(¢) Tam flying to Mumbai in June.
(f) 1buy a shirt,

(g) T have birthday in April.

(h) 1go to Agra by train.

(i) My mother is a teacher.

(5) [Iam a student.

MS-3230

(2)

(3)
Unit-11
4.  Make sentences wifh the following words : . 10
(a) bringen
(b) kosten
(¢) Kaufen
(d) geben
(e) essen.
5. Answer the following questions in German: 10
(a) Wann fliegen Sie nach Deutschland?

(b)
(c)
(d)

Was machen Sie.
Wo studieren Sie?

Was lesen sie gern?

(e) Trinken Sie Apfelsaft gern.
Unit-1l1
6.  Write the following numbers in words in German.
| 10
(a) 1,3,6,7
(b) 12,15, 21, 28
(c) 33,37,42,53
(d) 66, 69,70, 79
(e) 80, 82,93, 97.
‘MS-3230



(4)

Fill in the blanks : 10

(a) Wirfliegen _ Mumbai.

(b) Ich _ mit dem Bus.

(¢) ___ wohne in Indien.

(d) Mein Haus _____ in Bangalore.
(e) Ich__ Geburtstag heute.

(f) Ich trinke Tee am _
(g) Tch brauche _

(h) Esgibt __ in meiner Stadt.
(i) Ichkomme  Amerika.
(J) Iech_____ eine Fremdsprache. -
Unit-IV
Form questions of the following answers : 10

(a) Ich esse Brot.

(b) Ich habe Kuchen.

(¢} Ich kaufe Mantel.

(d) Ich lerne Deutsch fiir Job.

(e) Ich studiere an der universitit.
Write articles of the following nouns : 10

Bruder, Freuhd, Land, hemd, Hose, Karte Schule,
Student, Mann, Fray. - 10
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Note :

MS-3231

M. B. A. (L.B.) (Semester-IV)

- Examination, 2012
CROSS CULTURAL MANAGEMENT
' [MBA(IB)-041]
Time Allowed : T hree Hours
Maximum Marks : 70
Question No. 1 is compulsory. Attempt four

other questions, selecting one question from

each Unit,

Write short notes on the following : 3x10=30
(a) Ethnocentricism -

(b) * Cutural relativism

(¢) Culture shock

(d) Locus of decision making

(¢) PCN, TCN and HCN

(f) Taxation for expatriates

(g) Green field venture




(h) FDI
(1)  Liaison office

(1)  Deinternationalisation.
Unit-1

Trace the evolution of organisational structure as

a firm grows from domestic to transnational

operations. 10

What are the trends, challenges and opportunities

facing international firms, today? 10
Unit-If

How do the cultural dimensions given by

Hofstede impact cross-cultural negotiations? 10

Elaborate on the personal and professional

factors that determine expatriate sclection. 10
Unit-111

Discuss the options available to foreign
companics planning to set up business in India.
Comment on the challenges faced by foreign

subsidiaries in India. 2x5=10

MS-3231

(3)

There is no one best way to enter the foreign
market. Comment in light of ‘control’ and

‘perccived nisks’. 10
Unit-1V

Explain the concept of international social
responsibility. What role does it play 1n the
relationship between a host country and the

company. 10

Can political risk be ‘managed’? If so, what
methods can be used to managed such risk and

how effective are they? 10
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MS-3232

M. B. A. (I.B.) (Semester-IV)
Examination, 2012

International Business Strategies
[MBA(IB)-042] -
Time Allowed : .Three Hours
Maximum Marks : 70
Note : Answer Five questions in all. Question No. 1 is

compulsory. Attempt one question from each
Unit.

'I.  Write short notes on the following : 3x10=30
(1) Controlled vs. Coordinated Federatoin Model
(i) Advantages of Contract Manufacturing
(i) Dodgers vs. Defenders

(iv) Generic Growth Strategies
(v) Hi-tech and Hi-touch Positioning
(vi) Expatriate Managers

(vii) Industrial Competitiveness




(2)

(viii) Strategic Appropfiaténess of Polycentric
Staffing
(ix) Strategic Motives of Mergers and Acquisitions

(x) Strategic Alliance.

Unit-I

(a) Distinguish trading made of international

business with active mode and passive
modes of international business. 5
(b) *“Core competence and experience effect
are the two important determinants of
international strategy of any company.”
Explain the international strategy matrix
based on core competence and experience
effect. 5

Timing is an important element of market entry
strategy, but entry timing alone does not
determine the success. Timing in conjucﬁon with
appropriaie market selection is vulnerable part of
strategy formulation. |

Discuss a comprehensive model of market entry
and selection of appropriate market. What are

the considerations of this model? - 10

MS-3232

(3)
Unit-IT

MNCs have to choose either multidomestic
strategy or global integration strategy in their
internationalisati.on process. In few scénarios,
local responsiveness 1s required to overcome

with local competitors.

Discuss the Porter model and Prahlads and Doz -
generic strategy model to determine global
integration or local concentration strategy for any

company. A 10

Explain the country attractiveness company
strength matrix and priefly discuss strategic
implications of different combinations of country

atiractiveness and company strength strategies.10
Unit-LIT

What are the core competencies of the company?
Discuss international arbitrage strategy and
CAGE framework of competitive preparedness

of of company. 10

MS-3232




(4)

“Branding gives meaning, distinctiveness to a
product and clearly differentiate it from that of
competitors.”

What are the alternative branding strategies of a
product? Explain the Onkivisit and Shaw
branding strategy model for decision on alternative

choices. 10
Unit-IV

What are the major strategic decisions involved
in international financial management? Point out
the key issues in international capital budgeting
and international financing decision of a company.

10

What should be the appropriate selection criteria
for strategic alliance partners? Analyse the key
factors for successful management of a strategic
alliance with particular focus on risk management.
10
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MS-3233

M. B. A. (I.B.) (Semester-1V)

Examination, 2012
GLOBAL OUTSOURCING & MANAGEMENT
[MBA(IB)-044]
Time Allowed : Three Hours

Maximum Marks - 70

Note : Question No. 1 is compulsory. Attempt four
other questions, selecting one question from

each Unit.

1. Write short answers of the following : 3x10=30
(i}  Define International Tendering.
(if)  Explain the benefits of International Sourcing.
(ui) What is a commodity exchange? |

(iv} What are the different types of commodities
traded?

(v) Name the three leading commodity markets

of the world.




(2)

(vi) Differentiate between open and restricted

tender.
(\ﬁi) Define Forward Market Commission.
(viil) Explain spot trading.
(ix) What are cartels?

(x) Who are fly by night operators? |
Unit-1

Differentiate between international tendering and
international bidding. What are the strategic
factors responsible for successful international

bidding? 10

What do you understand by value chain analysis?
Explain with the help of Michael Porter’s model

of Generic value chain. 10
Unit-11

Explain the structure and importance of

commodity market in India. 10

What is hedging and discuss its benefits? 10

MS-3233

(3)
Unit-11T

Highlight the importance of international commodity

agreements. Explain with exémples. 10
Write a detailed note on NCDEX. 10
Unit-IV

What is cartelisation? Examine 1its role in

international commodity pricing. 10

Discuss the methods and techniques used by fly-
by-night operators to attract customers. Also
suggest some safeguards against fly-by-night

operators. 10
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MS-3234

M. B. A. (1. B.)(Fourth Semester)Examination, 2012
Management of Multinational Companigs
[MBA (IB)-046]

Time Allowed : Three Hours

Maximum Marks : 70

Note: Answer Five questions in all. Question No. 1 is

compulsory. Attempt one question from each Unit.

1. Read the attached case carcfully and answer the
following questions : 10x3=30

(1) How doMNCs consider developing countries as
for as social responsibilitics arc concerned ?

(ii)) MNCs generally concentrate on safe and secure
nations and not risky domains. Justify this with
some examples.

(iii) How can MNCs make their presence more

beneficial and useful for the country ?

‘a10y
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fore, the argument that revenues need to be maximiized in developing countries-for the-

purpose of reinvestment in research is arguably meaningless. It was believed that pharma-
ceutical companies could have moEm:w boosted. their profi ile 3 mmogam n&mmw access to

 their AIDS drugs.

Oversights of the South African Government
Governments of developing nations have been SEQN& as not having mm%mmm& ,Em

AIDS epidemic . the simplest terms, which invelved providing relativety mexpenstve

 educational campaigns. Some governmenis have also been accused. of being difficult to
= work with. In South Africa, an atternpt was made to stem increasing international } E‘ammﬁm .

8 fund AIDS qmmggs g actually denying the link between HIV and ,ﬁwm
‘The case of moﬁ% Africa has been Emr:mi& as-an axm:ﬁo of ﬁé a% :%Em .

nations coritinue to- suffer from the world’s biggest killer discasés. Thé poor waorking:
relationship and distrust that exist between pharmaceutical companies and the governments
of devcioping nations contribute (o this problem. From the standpoint of the phatmacen-
tical comipanies, developing nations have little respect for inteflectnal property rights, On
the other hand, governments are wary of the exploitative powers of large pharmaceutical
companies. However, both sides do have one common cause, which is mmwgm __.wa anmmo

and not gow other.
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&mﬁ they would lose out in all developing country markets-if their intellectual property

rights are disregarded. Other generic Bmg?aﬁa; would be able to: ‘live om the vmnw, 3
big pharmaceuticals in these regions.

- The case mwm:wa by the governments of am<m_g§u :mﬁ_e:m

The mm:o,? case of South Africa having one of the ° world’s

worst AIDS _@,@_%B 5, with
one in ten

people infected, is' well-known.. ﬁa moéEBaE ﬁ.ocma that ‘there was. an
immediate need to access mwmoamzm drugs m:a that it had the right to 502 ooEBamBEsm
Bn&omsozm where the price levels were too high. So, by &mﬁ:mm medical emergency
status, moénusnsa in developing nations can gain access to. the. generic versions:of pat-
9:& drugs that are Rmcﬁma to tackle oﬁawaﬁﬁ nEoE% mnm this-would @m ...633& ata
“lower cost. : -
The case macmn by the multinational vrm::momcznm_ no_ﬁ_...mu_mm _
Multinational vrmgmnmzsna manufacturers argue ‘that 58\ aré granted patent protec-
tions s a reward for the large expenditures incurred in researching and developing inno-
| vative new &dm.o ,E:% also say that the patent 958255 period enables enpugh revenues -
" 10 bé made for reinvestment into new aﬂ_mw for the future. The. E&Bmcoba intellectual

E,%@_,Q Eém allow this process to occur. In South Africa, Bagmﬁcmﬁ 83358 mﬁ:&
that the government’s actions undermined the patent Eoﬁnsos ﬁmonmmm

O<2w_m§m of the multinational pharmaceutical companies

““The actoal pharmaceutical market in’ mocm_o?sm Tegions accounts for a «Esior_m
";ovo;_o: of the total EE.E Bm.‘wﬂ Hence, as long as the products perform onme E

_._m% FCRIVIS 388 Em.miwowﬁ Therge.,
fore, the argument that revenues need to be maximized in %ﬁa@% counfries for Em

purpose of reinvestment in research is arguably meaningless: It was believed that gmcum‘

ceutical companies could have moEmE boosted. their profile by m:%S:m ormm% access to
. their AIDS drugs.

 Oversights of the South African 00<m§3m:n

Governments of developing nations have been criticized as not having: ma%mmmnm mﬁ
AIDS epidemic in the simplest terms, which. involved providing refatively mexpensive

educational. campaigns. Some governments have also been accused of being difficult to

1o fund AIDS treatments by actually denying the link between HIV and AIDS, -

. gompanl

work with. In South Africa, an attempt was made to stem increasing international ?.nmmﬁm _

The cise of South Africa has been highlighted, as an axmBEn of é_é mné_% am_
nations continue to suffer from the world’s biggest killer diseases. Thé poot ‘workirig :
relationship and distrust that exist between pharmaceutical companies and the governments
of developing nations comtribute to this problem. From the standpeint of the pharmaceu-
tical companics, developing nations have little respect for inteflectual property rights. On
the other hand, governments are wary of the exploitative powers of large pharmaceutical

ie However, both sides do have one common cause, which s fighting the disease




3)

é_ 7. What is social responsibility ? Briefly discuss the
i .

B social responsibility of multinational corporations. 10

s

Q.

%‘ Unit-1V

B 8. Discuss some major problems that multinationals are

&,

‘g, facing inIndia. 10

©

E . . .

é’ 9. Discuss the impact of MNCs on the Indian economy.

% Have MNCs been a bane ora boon ? Explain. 10
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MS-3235

M.B.A.(M) (Semester-II) Examination, 2012

CONSUMER BEHAVIOUR
(M-021)
Time Allowed - T hree Hours

- Maximum Marks - 70

Note . Attempt Five questions in all. Question No, 1 is

compulisory, Attempt one question from each
Unit,

1. Explain the following in brief - 3x10

(a)

(b)

(c)
(d)
(e)
(H
(8)

Adaptation Level Theory

Perceptual defencse

Purchase involvement

Extended decision making

Aspirationa] Group vs. Dissociative Group

Differential Threshold

Fear appeal in advertising




(2)

(h) ‘Discontinuous innovation
{1}  Response and Reinforcement

(j) Customer and Consumer,
Unit-1

What is meant by consumer behaviour? Discuss

its mature and significance. 10

Explain the process of coasumer attitude
formation. What strategies do marketers grencrally

employ to change the attitudes of consumers? 10
Unit-1I

Critically evaluate Maslow’s need hierarcy

theory. 10

What is meant by reference group? Discuss the
various reference group influences along with the

factors that determine reference group influence. 10
Unit-IiT

Explain the input-process-output model of

consumer behaviour. . 10

 MS-3235

(3)

Critically evaluate the market segments for Titan,
Rado and Rolex bands of watches. What are the
value propositions of each of these brands for

different market segments? 10
Unit-1V

What is post-purchase dissonance? When do
consumers experience it? Describe the marketer’s

role in reducing it. 10

What 1s diffusion of innovation? What factors
affect it? Alsc discuss the consumer adoption

process. 10 -

MS-3235-3-200




MS-3236

M.B.A. (M) (Semester-1I) Examination, 2012

PUBLIC RELATIONS & S.P.

(M-022)

Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

| compulsory. In addition, attempt one question

from each of the four units.

5 1.  Give your understanding of following terms :
3x10=30
’ (a) Brand switching
r (b) Media relations
(c) Spin doctrine
i (d) PoP
(e) Lobbying
() Attribution theory
(g) Deal proneness
(h) Publics




(2)

(i) Premiums

(1)) Push M{oney.
Unit-I

Define Public Relations. What benefits it offers to
an organisation? Discuss the process of Public

Relations. ; 10

List and discuss factors affecting Public Relations.

Describe the functions performed by a PRO? 10
Unit-11

Discuss the various toels and techniques used by
organizations at large to develop an image with

public. 7 10

(2) Describe ways through which public
' relations can be developed between the
following :
(i) Organisation and government
(i) Organisation and political or community

leaders.

(b) Determine the relationship between PR and

advertising. ' 5%x2=10

MS-3236

(3)
Unit-11T
Differentiate between consumer sales promotions

and trade sales promotion. Alsc state how

promotions affect sales? 10

What factors influence sales promotion growth in
recent times? What are the advantages and

drawbacks of sales promotions? © 10
Unit-1V

Explain the steps of sales promotion planning
process. How manufacturer’s and retailer’s

promotion planning process differ? 10

How are trade c'oupons different from trade
allowances? What are the advantages and
disadvantages of trade coupons and trade

allowances? ' 10

MS-3236-3-200
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MS-3237

M. B. A. (M) (Semester-1V) Examination,
May 2012

EVENT MANAGEMENT & MARKETII\-IG
(MBA(M)-041)
Time Allowed : T, ﬁree Hours
Maximum Marks : 70-

Note : Answer Five questions in all. Question No. 1 is

compulsory. Attempt/answer one question from

each Unit.
1. On the basis of attached advertisement, answer

the following questions 6x5=30

(a) Name the type of event. Who is organising
the even? Who are the clients? What

comprises the target audience?

(b) On the basis of given information determine

the event’s infrastructure?




(c)

(d)

(e)

(2)

What media-mix has been opted? The given
event has not highlighted the location of the
event but has emphasized on media and its
timing. Why?

Who is sponsoring the event? What type of
sponsorship it appears? State the other
types of sponsorships besides the one used

here.

The given advertisement is a pre-event
pPromotion campaign. W hat benefits it has
for any event? Which other promotion are
used at different stages of an event and

why?

Unit-1

2. What is an event? Explain the event concept with

help of 5Cs of events. What advantages does

events have over other promotjons? 10

3.  Events are being organized more often now than

in recent past, Why? How do they impact the

economy and society? 10

MS-3237




(3)

Unit-11

4. Every event is unique and display a specific

characteristic. Categorize broadly all the different

types of events highlighting the characteristic of

each one. Support your answers with the help of

an example from recent past. 10

5. Highlight the basic contents of an event checklist

and budget with the help of an example. 10
Unit-111
6. (a) Sponsorships complements the ecvent’s

(b)

(b)

MS-3237

characteristics. How? What important role
sponsors play in an event and how are they

benefitted? 5
How the selection of venue and sating plan
indicate the objectives of an event? 5
Explain event marketing and event planning
m brief. 5
Legal considerations are integral to event
planning. Why? Which legalities are taken

into account? 5




(4)
Unit-1V

8.  Tourism sector greatly banks on the events for its

promotion. Differentiate between event tourism

and business tourism. State their impact. 10
9. (a) How is risk management associated with
events? : _ 5

(b) Analyse the environmental and global

concerns pertaining to event management. 5

‘MS-3237
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MS-3238

M. B. A. (Marketing) (Semester-IV)

Examination, 2012
International Marketing
[MBA (ME)-404]
Time Allowed : Three Hours

Maximum Marks : 70

- Note : Answer Five questions in all. Question No. 1 is
compulsory and carrying 30 marks. Answer four
more questions of 10 marks each from the remaining

selecting one question from each Unit.

1. Write short notes on the following : 3x10=30
(a) Dumping with context to India
(b) Role of EPZ w.r.t. International Marketing

(c) Importance of Regional Grouping
(d) EPRG Concept




)

(e) Standardized product Wiﬂ‘; example
(f) MNCwithexamples |

(g) Solemarketingagent

(h) ASCI

(1) CharmPricing

()  Products overlap strategy with example. _

Unit-I
Compare and contrast International and

Domestic Marketing. 10

Citing examples explain various strategies adopted

by organizations to go global, 10

Unit-IT
Discuss the importance attached to Intemational
Market Research. Also explain the various

techniques practiced to conduct research in global

markets. : LSS

"Standardize or customize a product is critical in

 International Marketing." Discuss with examples. 10

~ MS-3238

3)

Unit-IIT
"Pricing is a delicate issue which can make or
break prospects ofaproduct.”

In view of the above statement discuss the various

factors that effect pricing in International

Marketing. _ - 10

Describe the prevalent channel structures and patterns
practiced in International marketing in current

scenarlo. 10

Unit-1IV
Write a note on India's position in International

business as an emerging economy. ' 10

"Emotional appeal sales best in India.” Define the

statement citing relevant examples. 10

MS-3238-3-200




MS-3239

M. B. A. (M) (Semester-IV) Examination, 2012

BRAND MANAGEMENT
Time Allowed : Three Hours

Maximum Marks - 70

Note . Answer Five questions in all, selecting one question

from each Unit. Question No. 1 is compuisory.

1. Explain the following inbrief 3x10=30

(a)
(b)
()
(d)
(e
®
(8)

Hollow brand
Product brand

Brand personality
Brand portfolio

Switching cost

High purchase involvement

Dissonance reducing buying behaviour




MS-3240

M.B.A. (M) (Semester-1V) Examination, 2012

E-MARKETING
[MBA(M)-045]
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

compulsory. In addition attempt one question

from each of the four Units.

1. Write short notes on the following : 3%x10=30
(a) Primary sources of E-marketing information
system
(b) Data Warehouse
(¢} E-marketing strategy plan
(d) Activity level business model
(e) E-commerce and E-business
() CRM and KM

(g)

Types of Business Markets




- (2)

‘(h) Marketing Public 'Rela_tions (MPR)
(i) Advantages of E-marketing over traditionat
marketing

(j) Integrated Marketing Communication
Unit-I

What is E-marketing? How is it beneficial for an
entrepreneur in marketing his business at a low

cost? : 10

“Performance metrics are used for measuring the

results of marketing strategies.” Comment. With

reference to E-marketing. Also explain the types

of performance metrics used in E-marketing. 10
Unit-II

Explain E-marketing information system and its

components briefly. 10

Give an example of an E-marketing Company,
highlighting its functions, specialization, technology

used and its working environment. 10

MS-3240

(3)
Unit-ITT
How can internet help in changing pricing

strategies? Elaborate on various types of pricing

strategies. 10

What are the various differentiation marketing
dimensions used in-online marketing? Elucidate

internet specific differentiation strategies. 10
Unit-1V

What is CRM? Explain CRM tools and CRM

processes. 10

What is Internet Advertising? Discuss the new

trends and Internet Advertising formats. 10

MS-3240-3-200




MS-3241

M. B. A. (M.S.) (Semester-II)

Examination, 2012
Management Control System
(MS-021)

Time Allowed : Three Hours

Maximum Marks : 70

Note - Answer Five questions in all. Question No. [ is

compulsory. In addition attempt one question

from each of the four Units.

1. . Write short notes on the following : 3x10
(a) Elements of a control system
(b) Prerequisites of a good management control
system
(c) Cybernetic approach to management control
system
(d) Steps in designing MCS for a business

organisation




MS-3241

(2)

- (€) Factors affecting the design of MCs.

() Engineered vs. Discretionary Expenditure
and their budgetary reievance. 5

(g) Benefits of zero base budgeting

(hy Goal co’ng.ruence

(i) ROIvs. EVA

(i) Formal and Informal. Control Systems.
Unit-1

What is the importance of management control
system for a business concern? Differentiate
among strategy formulation, task control and

management control system. 10

How do the organisational structure, culture and
the technology affect the design of management

control system of an organisation? 10

Unit-11
What are the essential requirements for
implementation of responsibility accounting as a
financial tool of management control system?
" Identify the responsibility centres that are created

and discuss their significance. 10

e woan s

5.

(3)
quflung Corporation has production plants in.

Boston, Chicago and Atlanta. Following is a

summary of the results for 2012 :

Investment
Base
 (Rs)

Boston | 9,00,000 | 4,50,000 | 90,00,000

Revenue | Expen
Plant penses
(Rs.) (Rs.)

| Chicago | 9,00,000 | 3,60,000 | 67,50,000

Atlanta {13,50,000 | 4,95,000 |1,44,00,000

Required :

(a) If the plants are treated as a profit centre,

whi_éh plant manager has done the best job?

(b) [If plants are treated as investment centre,

which plant manager has done the best j-ob?

(c) Do the results of profit centre analysis and
investment centre analysis give different

findings? If so, why? 4+4+2
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(4)
Unit-111

Why is transfer pricing system needed in an
organisation divided into various autonomo.us
divisions? Discuss various types of transfer
prices and their suitability in a given business

enterprise. 10

A large-sized well established manufacturing
enterprise has set up most of its services
departments as artificial profit centres. The firm
rents a computer for a fixed fee of Rs. 15,000
per month which is charged to the manager of the
computer centre. The manager, in turn, charges
operating units for use of the computer at Rs. 200
per hour. One of the operating managers, has an

acquaintance in a data processing service

company that charges only Rs. 150 per hour for -

similar type of computer services that the
Manager rents. The managers in the firm are free
o buy services inside or outside the firm. The

operating manager told the manager of the

MS-3241

s
(3)

computer centre either to reduce his price to

Rs.150 per hour or he would use the outside

firm.

Required :

(a) Suppose that the operating department uses
20 hrs. of computer time per month and the
firm has idle capacity. What would your
recommendatioin regarding lowering price
from the point of view of the firm? 5

(b} If the firm’s computer is overloaded and
demand exceeds the total time available in
a month, what would be your recommenc_lz_:ltipn‘

regarding lowering price? 5
Unit-1V

Compare the type of management control
systems needed in a multinational organisation to
the control system in domestic organisations.
What are the adaptations required in the control

system of multinational companies? 10

MS-3241




(6)

Discuss the important management control
b et o R M R E

measures which can be used to improve the

overall working of Commercial Banks in India. 10
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MS-3242

M.B.A. (M.S.) (Semester-1I) Examination, 2012

E-Commerce
(MS-022)
Time Allowed : Three Hours

Maximum Marks : 70

Note : Answer Five questions in all. Question No. 1 is

compulsory. In addition attempt one question

from each of the four Unit.

1.  Answer the following questions in brief: 3x10=30

(a)

(b)

(c)

(d)

Differentiate between “E-commerce™ and
Traditional Commerce.

Discuss the traffic building techniques for
your E-commerce website?

Define Internet/Comapre and contrast
Intranet and Extranet?

“Encryption 1s used to ensure the
confidentiality, integrity and authenticity of

two end point of network.” Explain.




(D

(g)

(h)
(1)

0)

(b)

MS§-3242

(2)
What is the difference between spoofing
and sniffing?

What do you mean by Search Engine
Optimization (SEO).

Make a difference between Domain Name

Service (DNS) and Uniform Resource .

Locator (URL).
Discuss the characteristics of E-commerce.

What do you mean by intruders? How they

affect the information security?

What is the role of Digital Signature and
digital certification in E-Commerce

Transaction.
Unit-1

What are the basic architectural elements or

framework of electronic commerce? 5

Discuss the advantages and disadvantages

of E-commerce over Traditional Commerce. 5

(3)

What do you mean by E-commerce business
model? List and discuss the most popular

business models. 10

Unit-I1

(a) What do you mean by a portal? Describe

its various elements. - 5

(b) What are the methods of promoting

E-commerce website? 5

What is E-commerce website? What are the
cssential requirements for designing a good

website? 10

Unit-111
(a) “Sccurity system is the most important
aspect of electronic commerce solution.”
Justify the statement. 4
(b) Explain the various web security layers with
a sketch. Where cxactly SSL (socket
securtty layer) and S-HTTP layers could

pull? What are their respectives functions? 6

MS§-3242




(4)

What is Electro’nié Fund Transfer (EFT)? List
different types of electronic payment modes

system. ' 10

Unit-IV

(a) What is one way advertising channel? How
does internet advertising offer a two way"

channel? 5

{b) Discuss the major challenges in internet

advertising. 5

Discuss the different types of marketing techniques

used in on line/internet marketing. 10

MS-3242-4-200
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